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Aditya Ranjan Sir (Excise Inspector)

Intelligence Bureau
[kqfiQ;k foHkkx
India Hkkjr

IB ACIO GRADE II
01

17/01/2024 (Shift-01)

1. If a3 – b3 = 602 and a – b = 2, then find the value of

(a2 + b2).

;fn a3 – b3 = 602 vkSj a – b = 2 gS] rks (a2 + b2) dk eku Kkr djsaA
IB ACIO GRADE II 17/01/2024 (Shift-01)

(a) 156 (b) 240

(c) 202 (d) 260

2. From a cask filled with wine, 108.75 litres are first
drawn and replaced with water. From this mixture 87
litres are drawn and replaced with water. The ratio
of wine to water in the cask is now 3 : 2. How many

litres of wine did the cask initially hold?

okbZu ls Hkjs ,d ihis ls igys 108-75 yhVj okbZu fudkyh tkrh gS
vkSj mls ikuh ls izfrLFkkfir fd;k tkrk gSA fiQj bl feJ.k ls 87
yhVj fudkyk tkrk gS vkSj mls ikuh ls izfrLFkkfir fd;k tkrk gSA
ihis esa okbZu vkSj ikuh dk vuqaikr vc 3 % 2 gks tkrk gSA ihis esa
'kq: esa fdrus yhVj okbZu Fkh\

IB ACIO GRADE II 17/01/2024 (Shift-01)

(a) 522 (b) 348

(c) 470 (d) 435

3. If 22% of x is equal to 66% of y, then find the value

of x : y.

;fn x dk 22%, y ds 66% ds cjkcj gS] rks x : y dk eku Kkr djsaA
IB ACIO GRADE II 17/01/2024 (Shift-01)

(a) 2 : 5 (b) 1 : 3

(c) 3 : 1 (d) 11 : 6

4. Find the HCF of 36, 108, and 156.

36] 108 vkSj 156 dk egÙke lekiorZd Kkr djsaA
IB ACIO GRADE II 17/01/2024 (Shift-01)

(a) 36 (b) 12

(c) 9 (d) 16

5. A train travels at a speed of 72.6 km/hr. How many

kilometres will it travel in 15 minutes?

,d jsyxkM+h 72-6 fdeh@?kaVk dh xfr ls ;k=kk djrh gSA 15 feuV
esa ;g fdrus fdyksehVj dh nwjh r; djsxh\

IB ACIO GRADE II 17/01/2024 (Shift-01)

(a) 18.15 km (b) 16.22 km

(c) 20.5 km (d) 13.12 km

6. How many pairs of natural numbers (x, y) exist such

that x > y and the product of x, y and HCF (x, y) = 2520?

èku (x, y)  iw.kkZdksa ds ,sls fdrus ;qXe ekStwn gSa fd x > y gS] vkSj
x, y vkSj (x, y) dk e-l-i- dk xq.kuiQy 2520 gS\

IB ACIO GRADE II 17/01/2024 (Shift-01)

(a) 4 (b) 5

(c) 6 (d) 3

7. If the numerator of a fraction is increased by 25% and
the denominator is decreased by 10% the value of the

new fraction becomes 
25

24
.Find the original fraction.

;fn fdlh fHkUu dk va'k 25 izfr'kr ls c<+k fn;k tk, vkSj gj 10

izfr'kr ls de dj fn;k tk,] rks u, fHkUu dk eku 
25

24
gks tkrk

gSA ewy fHkUu Kkr djsaA
IB ACIO GRADE II 17/01/2024 (Shift-01)

(a) 3 : 2 (b) 3 : 4

(c) 4 : 3 (d) 2 : 3

8. X's income is 44% more than that of Y. What percent

is Y's income less than X's?

X dh vk; Y ls 44 izfr'kr vfèkd gSA Y dh vk; X ls fdrus
izfr'kr de gS\

IB ACIO GRADE II 17/01/2024 (Shift-01)

(a) 32.5% (b) 20.4%

(c) 30.5% (d) 33%

9. The average age of a group of 10 friends is 27 years. If

one friend leaves the group, the average becomes 25

years. Find the age of the friend who left the group.

10 fe=kksa ds ,d lewg dh vkSlr vk;q 27 o"kZ gSA ;fn ,d fe=k
lewg NksM+ nsrk gS] rks vkSlr 25 o"kZ gks tkrk gSA ml fe=k dh vk;q
Kkr djsa ftlus lewg NksM+ fn;k gSA

IB ACIO GRADE II 17/01/2024 (Shift-01)

(a) 65 years/o"kZ (b) 45 years/o"kZ

(c) 50 years/o"kZ (d) 55 years/o"kZ
10. Rohan purchased an item for which there was a 13.5%

discount offered on the part of the payment made in

cash and a 6.25% surcharge on the part of the

payment made through a credit card. If Rohan would

have paid the entire amount in cash he would have

paid Rs. y for the item. But he actually had to pay

Rs. 40964 in all for the item, out of which Rs. 29064

was paid in cash. What is the value of y?

jksgu us ,d oLrq •jhnh ftlds fy, udn esa Hkqxrku djus ij 13-
5» dh NwV] vkSj ØsfMV dkMZ ds ekè;e ls Hkqxrku djus ij 6-
25» vf/Hkkj izLrkfor FkkA ;fn jksgu us iwjh jkf'k dk Hkqxrku udn
esa fd;k gksrk rks mlus oLrq ds fy, y #i;s dk Hkqxrku fd;k gksrkA
ysfdu okLro esa mUgsa ml lkeku ds fy, dqy 40964 #i;s dk
Hkqxrku djuk iM+k] ftlesa ls 29064 #i;s dk Hkqxrku udn esa
fd;k x;k FkkA y dk eku D;k gS\

IB ACIO GRADE II 17/01/2024 (Shift-01)
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Aditya Ranjan Sir (Excise Inspector)

(a) 35700 (b) 38752

(c) 32988 (d) 38554

11. Three natural numbers are such that
1

 
3

 of the first

number is equal to
2

 
5

of the second, and
2

 
3

 of the

second number is equal to
1

 
7

 of the third. The sum

of five times the third number and half of the square

of the first number is 1348. What is the value of the

second number?

rhu èkuiw.kk±d bl izdkj gSa fd izFke la[;k dk 
1

3
] nwljh la[;k

ds 
2

5
 ds cjkcj gS] vkSj nwljh la[;k dk 

2

3
] rhljh la[;k ds

1

7
ds cjkcj gSA rhljh la[;k ds ikap xqus vkSj izFke la[;k ds oxZ

ds vkèks dk ;ksxiQy 1348 gSA nwljh la[;k dk eku fdruk gksxk\
IB ACIO GRADE II 17/01/2024 (Shift-01)

(a) 30 (b) 21

(c) 15 (d) 24

12. In the last financial year the ratio of the monthly

incomes of Viraj and Rohan was m:n and the ratio

of their monthly expenditures was p: n. In the current

financial year Viraj's income has increased by q% and

his expenditure has gone up by 2q%. The

corresponding increases for Rohan have been r% and

s% respectively. The current monthly savings of Viraj

and Rohan are respectively Rs. u and Rs. v, while

the monthly savings of Rohan last year was Rs t.

Which one of the following is correct in respect of

the Question and the Statements given below?

Statement 1: The values of m, n, p, q, r, s, t, u, and

v are given respectively as 8, 5, 4, 12.5, 40, 20, 10000,

58000, and 24000.

Statement 2: The values of m, n, p, q, r, s, t, u, and

v are given respectively as 10, 7, 6, 15, 40, 20, 7700,

21530, and 14140.

foxr foÙkh; o"kZ esa fojkt vkSj jksgu dh ekfld vk; dk vuqikr
m : n Fkk vkSj muds ekfld O;; dk vuqikr p : n FkkA orZeku
foÙk o"kZ esa fojkt dh vk; esa q% dh of̀¼ gqbZ gS vkSj mldk
O;; 2q% c<+k gSA jksgu dh laxr of̀¼ Øe'k% r% vkSj s% jgh
gSA fojkt vkSj jksgu dh orZeku ekfld cprsa Øe'k% u #i;s vkSj
v #i;s gSa] tcfd foxr o"kZ jksgu dh ekfld cpr t #i;s FkhA

mijksÙkQ ç'u] rFkk uhps fn, x, dFkuksa ds laca/ esa fuEufyf•r esa
ls dkSu&lk lgh gS\

dFku 1% m, n, p, q, r, s, t, u, vkSj v ds eku Øe'k% 8] 5]
4] 12-5] 40] 20] 10000] 58000] vkSj 24000 gSaA

dFku 2% m, n, p, q, r, s, t, u, vkSj v ds eku Øe'k% 10] 7]
6] 15] 40] 20] 7700] 21530] vkSj 14140 gSaA

IB ACIO GRADE II 17/01/2024 (Shift-01)

(a) Both statements have values of the variables that

are consistent with one another./nksuksa dFkuksa esa pjksa
ds eku ijLij laxr gSaA

(b) Neither of the two statements has values of the

variables that are consistent with one another./

nksuksa dFkuksa esa ls fdlh esa Hkh pjksa ds eku ijLij laxr ugha gSaA
(c) Only statement 2 has values of the variables that

are consistent with one another./dsoy dFku 2 esa
pjksa ds eku ijLij laxr gSaA

(d) Only statement 1 has values of the variables that

are consistent with one another./dsoy dFku 1 esa
pjksa ds eku ijLij laxr gSaA

13. If the interest is compounded half-yearly, calculate the

amount when the principal is Rs.4000, the rate of

interest is 22% per annum and the duration is one year.

;fn C;kt v/Z&okf"kZd :i ls la;ksftr fd;k tkrk gS] rks jkf'k dh
x.kuk djsa tc ewy/u 4000 #i;s gS] C;kt dh nj 22 çfr'kr çfr
o"kZ gS vkSj vof/ ,d o"kZ gSA

IB ACIO GRADE II 17/01/2024 (Shift-01)

(a) Rs.5204.9 (b) Rs.4825.5

(c) Rs.4288.8 (d) Rs.4928.4

14. Which one of the following is correct in respect of

the Statements given below?

Statement 1: 210 is the smallest natural number

having exactly 11 factors.

Statement 2: 211 is the smallest natural number

having exactly 12 factors.

Statement 3: 212 is the smallest natural number

having exactly 13 factors.

uhps fn, x, dFkuksa ds laca/ esa fuEufyf•r esa ls dkSu&lk fodYi
lgh gS\

dFku 1 % 210 lcls NksVk /u iw.kkZd gS ftlesa Bhd 11 xq.ku•aM gSaA

dFku 2% 211 lcls NksVk /u iw.kkZd gS ftlesa Bhd 12 xq.ku•aM gSaA

dFku 3 % 212 lcls NksVk /u iw.kkZd gS ftlesa Bhd 13 xq.ku•aM gSaA
IB ACIO GRADE II 17/01/2024 (Shift-01)

(a) None of the three statements (1, 2, 3) given is

true./fn, x, rhu dFkuksa (1] 2] 3) esa ls dksbZ Hkh lR; ugha gSA
(b) Statements 1 and 2 are true, but Statement 3 is

false./dFku 1 vkSj 2 lR; gSa] fdUrq dFku 3 vlR; gSA
(c) Statements 1 and 3 are true, but Statement 2 is

false./dFku 1 vkSj 3 lR; gSa] fdUrq dFku 2 vlR; gSA
(d) All the three statements given above are true./

mijksÙkQ rhuksa dFku lR; gSaA
15. The team of A, B, and C was supposed to complete a

piece of work. Working alone, A could have completed

the same work in 190 hours, B could have completed

the same work in 285 hours, while C could have

completed it in 342 hours. The team decided that only

one of the three would work at any point of time. In

the first cycle of three days A worked for two hours

on Day 1, B worked for two hours on Day 2, and C

worked for two hours on Day 3. In the second cycle

of three days A worked for four hours on Day 1, B

             BACK TO INDEX
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Aditya Ranjan Sir (Excise Inspector)

worked for four hours on Day 2, and C worked for four

hours on Day 3. In the third cycle of three days A

worked for six hours on Day 1, B worked for six hours

on Day 2, and C worked for six hours on Day 3. This

continued till the piece of work was completed, with

each working for 2n hours in Cycle n, the sole exception

being made, if necessary, in the last cycle, as the work

may get completed mid-cycle. What was the total

number of days needed for the work to be completed?

A, B vkSj C dh Vhe dks ,d dk;Z iwjk djuk FkkA vdsys dk;Z
djus ij] A ml dk;Z dks 190 ?kaVksa esa iwjk dj ldrk Fkk] B ml
dk;Z dks 285 ?kaVksa esa iwjk dj ldrk Fkk] tcfd C ml dk;Z dks
342 ?kaVksa esa iwjk dj ldrk FkkA rhuksa us fu.kZ; fy;k fd fdlh Hkh
le; rhuksa esa ls dsoy ,d gh dk;Z djsxkA rhu fnuksa ds igys pØ
esa A us igys fnu nks ?kaVs dk;Z fd;k] B us nwljs fnu nks ?kaVs dk;Z
fd;k] vkSj C us rhljs fnu nks ?kaVs dk;Z fd;kA rhu fnuksa ds nwljs
pØ esa A us igys fnu pkj ?kaVs dk;Z fd;k] B us nwljs fnu pkj
?kaVs dk;Z fd;k] vkSj C us rhljs fnu pkj ?kaVs dk;Z fd;kA rhu
fnuksa ds rhljs pØ esa A us igys fnu Ng ?kaVs dk;Z fd;k] B us
nwljs fnu Ng ?kaVs dk;Z fd;k vkSj C us rhljs fnu Ng ?kaVs dk;Z
fd;kA ;g rc rd tkjh jgk tc rd fd dk;Z iwjk ugha gks x;k] pØ
n esa çR;sd O;fÙkQ 2n ?kaVs rd dk;Z fd;k_ ;fn vko';d gqvk rks]
vafre pØ esa ,dek=k viokn vk;k gksxk] D;ksafd dk;Z pØ ds eè;
esa iwjk gks ldrk FkkA dk;Z iwjk gksus esa dqy fdrus fnu yxs\

IB ACIO GRADE II 17/01/2024 (Shift-01)

(a) 25.5 (b) 26.4

(c) 25.8 (d) 26

16. A shop sells only steamed momos and fried momos.

On a particular day the ratio of the numbers of

steamed momos and fried momos sold from that shop

was 5: 4. How many steamed momos were sold from

the shop on that day?

Which one of the following is correct in respect of

the Question and the Statements given below?

Statement 1: If the number of steamed momos were

to double, the ratio of the numbers of steamed

momos and fried momos sold from that shop would

become 5 : 2.

Statement 2: If the number of fried momos was sold

at least 13 more while the number of steamed momos

sold stayed the same, then the number of fried

momos sold would have been more than the number

of steamed momos sold.

,d nqdku dsoy LVhEM eksekst vkSj ÚkbM eksekst csprh gSA fdlh
fo'ks"k fnu ml nqdku ls csps x, LVhEM eksekst vkSj ÚkbM eksekst
dh la[;k dk vuqikr 5%4 FkkA ml fnu nqdku ls fdrus LVhEM
eksekst csps x,\

mijksÙkQ ç'u] rFkk uhps fn, x, dFkuksa ds laca/ esa fuEufyf•r esa
ls dkSu&lk lgh gS\

dFku 1% ;fn LVhEM eksekst dh la[;k nksxquh gksrh] rks ml nqdku
ls csps x, LVhEM eksekst vkSj ÚkbM eksekst dh la[;k dk vuqikr
5%2 gksrkA

dFku 2% ;fn csps x, ÚkbM eksekst dh la[;k de ls de 13

vf/d gksrh] tcfd csps x, LVhEM eksekst dh la[;k leku jgrh]
rks csps x, ÚkbM eksekst dh la[;k] csps x, LVhEM eksekst dh
la[;k ls vf/d gksrhA

IB ACIO GRADE II 17/01/2024 (Shift-01)

(a) The data either in Statement 1 alone or in
Statement 2 alone are sufficient to answer the

question./dsoy dFku 1 ;k dsoy dFku 2 esa fn;k x;k MsVk
ç'u dk mÙkj nsus ds fy, i;kZIr gSA

(b) The data in Statement 1 and Statement 2 both
taken together are not sufficient to answer the

question./dFku 1 vkSj dFku 2 nksuksa esa fn;k x;k MsVk ç'u
dk mÙkj nsus ds fy, i;kZIr ugha gSA

(c) The data in Statement 2 alone are sufficient to

answer the question./dsoy dFku 2 esa fn;k x;k MsVk
ç'u dk mÙkj nsus ds fy, i;kZIr gSA

(d) The data in Statement 1 alone are sufficient to

answer the question./dsoy dFku 1 esa fn;k x;k MsVk
ç'u dk mÙkj nsus ds fy, i;kZIr gSA

17. On a particular day each of Danny, Edwin and Fahim
sold three types of pens from their respective shops.
As a coincidence, each of them sold an identical
number of pens of Type A, an identical number of
pens of Type B and an identical number of pens of
Type C. However, the numbers of pens of each type
that were sold were all different from one another.
Also, the three sellers sold each of the types of pens
at different prices per unit.

Assertion (A): It is possible that Danny sold each pen
of Type A at a profit of Rs.2, each pen of Type B at a
loss of Rs.1, and each pen of Type C at a loss of Rs
12 and made an overall profit of Rs 8; Edwin sold
each pen of Type A at a profit of Rs 2, each pen of
Type B at a loss of Rs 6, and each pen of Type C at a
loss of Rs 6 and made an overall profit of Rs 14; and
Fahim sold each pen of Type A at a profit of Rs.1,
each pen of Type B at a profit of Rs.1, and each pen
of Type C at a loss of Rs 3 and made an overall profit
of Rs 27.

Reason (R): Framing and solving the three possible
linear equations we will find that we get a unique

solution.

,d fo'ks"k fnu MSuh] ,Mfou vkSj iQghe esa ls çR;sd us viuh&viuh
nqdkuksa ls rhu çdkj ds isu cspsA la;ksxo'k muesa ls çR;sd us leku
la[;k esa Vkbi A ds isu] leku la[;k esa Vkbi B ds isu] vkSj leku
la[;k esa Vkbi C ds isu cspsA gkyk¡fd] csps x, çR;sd çdkj ds isu
dh la[;k ijLij fHkUu FkhA blds vykok] rhuksa foØsrkvksa us çR;sd
çdkj ds isu dh çfr ;wfuV dks vyx&vyx dherksa ij cspkA

vfHkdFku (A)% ;g laHko gS fd MSuh us Vkbi A ds çR;sd isu dks
2 #i;s ds ykHk ij] Vkbi B ds çR;sd isu dks 1 #i;s dh gkfu ij
vkSj Vkbi C ds çR;sd isu dks 12 #i;s dh gkfu ij cspk vkSj
dqy 8 #i;s dk ykHk vftZr fd;k_ ,Mfou us Vkbi A ds çR;sd
isu dks 2 #i;s ds ykHk ij] Vkbi B ds çR;sd isu dks 6 #i;s dh
gkfu ij vkSj Vkbi C ds çR;sd isu dks 6 #i;s dh gkfu ij cspk
vkSj dqy 14 #i;s dk ykHk vftZr fd;k_ vkSj iQghe us Vkbi A ds
çR;sd isu dks 1 #i;s ds ykHk ij] Vkbi B ds çR;sd isu dks 1
#i;s ds ykHk ij vkSj Vkbi C ds çR;sd isu dks 3 #i;s dh gkfu

             BACK TO INDEX
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Aditya Ranjan Sir (Excise Inspector)

ij cspk vkSj dqy 27 #i;s dk ykHk vftZr fd;kA

dkj.k (R)% rhu laHkkfor jSf•d lehdj.k cukus vkSj gy djus
ij ge ik,axs fd gesa ,d vf}rh; lek/ku feyrk gSA

IB ACIO GRADE II 17/01/2024 (Shift-01)

(a) Both Assertion (A) and Reason (R) are true and

Reason (R) is a correct explanation of Assertion

(A)./vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSa vkSj  dkj.k
(R) vfHkdFku (A) dk lgh Li"Vhdj.k gSA

(b) Assertion (A) is false and Reason (R) is true./

vfHkdFku (A) vlR; gS vkSj dkj.k (R) lR; gSA
(c) Assertion (A) is true and Reason (R) is false./

vfHkdFku (A) lR; gS vkSj dkj.k (R) vlR; gSA
(d) Both Assertion (A) and Reason (R) are true but

Reason (R) is not a correct explanation of

Assertion (A)./vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSa
ysfdu dkj.k (R) vfHkdFku (A) dk lgh Li"Vhdj.k ugha gSA

18. What would be the annual interest accured on a

deposit of Rs.24,550 in a bank that pays a 22% per

annum rate of simple interest?

,d cSad esa 24]550 #i;s dh tek jkf'k ij vftZr okf"kZd C;kt D;k
gksxk tks okf"kZd 22 çfr'kr dh lk/kj.k C;kt nj dk Hkqxrku djrh gS\

IB ACIO GRADE II 17/01/2024 (Shift-01)

(a) Rs.6320 (b) Rs.4760

(c) Rs.5401 (d) Rs.5560

19. The cost price of 28 articles is the same as the selling

price of x articles. If the profit is 40%, then find the

value of x.

28 oLrqvksa dk Ø; ewY; x oLrqvksa ds foØ; ewY; ds leku gSA
;fn ykHk 40 çfr'kr gS] rks x dk ewY; Kkr djsaA

IB ACIO GRADE II 17/01/2024 (Shift-01)

(a) 20 (b) 14

(c) 15 (d) 16

20. Janaki leaves her home every day at 7:55 a.m and

reaches office at 9: 25 a.m. However, one day she left

her home at 7:55 a.m. but reached office at

09:20:30a.m.

Which of the statements below support the

information provided above?

Statement 1: Janaki travelled 
3

10
of the distance at

6

7
of her usual speed and the rest of the distance at

7

6
of her usual speed.

Statement 2: Janaki travelled 
5

8
 of the distance at

5

4
 of her usual speed and the rest of the distance

at 
5

6
 of her usual speed.

Statement 3: Janaki travelled 
7

9
 of the distance at

5

6
 of her usual speed and the rest of the distance

at 
20

3
 of her usual speed.

tkudh çfrfnu lqcg 7%55 cts vius ?kj ls fudyrh gS vkSj lqcg
9%25 cts dk;kZy; igqaprh gSA gkykafd] ,d fnu og lqcg 7%55
cts vius ?kj ls fudyh ysfdu lqcg 09%20%30 cts dk;kZy; igqaphA

uhps fn, x, dkSu ls dFku Åij nh xbZ tkudkjh dk leFkZu djrs gSa\

dFku 1% tkudh us 
3

10
 nwjh viuh lkekU; pky dh 

6

7
 pky ls

vkSj 'ks"k nwjh viuh lkekU; pky dh 
7

6
 pky ls r; dhA

dFku 2% tkudh us 
5

8
 nwjh viuh lkekU; pky dh 

5

4
 pky ls

vkSj 'ks"k nwjh viuh lkekU; pky dh 
5

6
 pky ls r; dhA

dFku 3% tkudh us 
7

9
 nwjh viuh lkekU; pky dh 

5

6
 pky ls

vkSj 'ks"k nwjh viuh lkekU; pky dh 
20

3
 pky ls r; dhA

IB ACIO GRADE II 17/01/2024 (Shift-01)

(a) Each of Statements 1 and 3 supports the
information provided, but Statement 2 doesn't./

dFku 1 vkSj 3 esa ls çR;sd] çnku dh xbZ tkudkjh dk leFkZu
djrk gS] ysfdu dFku 2 ugha djrk gSA

(b) Each of Statements 2 and 3 supports the
information provided, but Statement 1 doesn't./

dFku 2 vkSj 3 esa ls çR;sd] çnku dh xbZ tkudkjh dk leFkZu
djrk gS] ysfdu dFku 1 ugha djrk gSA

(c) Each of Statements 1 and 2 supports the
information provided, but Statement 3 doesn't./

dFku 1 vkSj 2 esa ls çR;sd] çnku dh xbZ tkudkjh dk leFkZu
djrk gS] ysfdu dFku 3 ugha djrk gSA

(d) None of the three statements supports the

information provided./rhuksa esa ls dksbZ Hkh dFku] çnku dh
xbZ tkudkjh dk leFkZu ugha djrk gSA

1.(c) 2.(d) 3.(c) 4.(b) 5.(a) 6.(a) 7.(b) 8.(c) 9.(b) 10.(b)

11.(a) 12.(a) 13.(d) 14.(c) 15.(d) 16.(b) 17.(b) 18.(c) 19.(a) 20.(c)

ANSWER KEY
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Aditya Ranjan Sir (Excise Inspector)

SOLUTIONSSOLUTIONS
1. (c)

Given, a – b = 2

then, a2 + b2 = (a – b)2 + 2ab

= 4 + 2ab   .....(i)

also, (a – b)3 = a3 – b3 – 3ab (a – b)

8 = 602 – 3ab × 2

6ab = 594

 ab = 
594

6
 = 99       ....(ii)

put (ii) in (i)

a2 + b2 = 4 + 198 = 202

2. (d)

Given, 108.75 liter is removed first ie, 108.75 = 108 +

3

4
 = 

435

4

Again, 87 liter is removed from solution LCM

435
87,

4

 
 
 

 = 435

Let, the quantity of initial mixture be 435

then,

I step :- 
435

4
 is removed

Remaining = 
3

4
th of the wine

II step :- 87 is removed

 
87

435
 = 

1

5
th is removed

Remaining = 
4

5

Now, final of wine quantity = 
3 4 3

4 5 5
 

Hence, wine : water = 3 : 2

which is required ratio initial quantity of mixture =

435 liter.

  

Let, original quantity be 5
then,

 [5  = 25  – (108.75 + 87)+ 108.75 × 87
  – 97.87  + 10.875 × 87

Clearly,  = – 10.875 of 87
 = 87 liter

Hence initial quantity is 5  = 435 liter

x

x
x

 2





2 x
x

x
x

x2

SMART APPROACH:- 

3 108.75 87
1  1  

5 5

   
       x x

3. (c)

Given,

22

100
 × x = 

66

100
 × y


66 3

y 22 1
 

x

4. (b)

HCF (36, 108, 156)

36 = 22 × 32

108 = 22 × 33

156 = 22 × 3 × 13

 HCF = 22 × 3 = 12

36, 108, 156

72 48

SMART APPROACH:- 

According to option (b)
12 is the multiple of 72 
and 48 both

5. (a)

Distance = Speed × time

= 72.6 × 
15

60

= 18.15 km

6. (a)

Since,

2520 = 23 × 32 × 51 × 71     ...(i)

Let, x = Ha

y = Hb

where, HCF (x, y) = H

 x × y × HCF(x, y) = H3 × a × b ..... (ii)

             BACK TO INDEX
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Aditya Ranjan Sir (Excise Inspector)

Where (a and b) are co-prime we know from (i), the

only possibility  of weiting 2520 in the form of ...(ii)

is when, H = 2

ie, 2520 = 23 × a × b

 possible values of a and b with a>b are:

   a              b

9 × 5 × 7     1

9 × 5           7

7 × 9           5

7 × 5           9

Hence, 4 possible ways.

7. (b)

Let, original fraction is  
y

x

ATQ,

125
 25100

90 24y
100






x

x : y = 3 : 4

8. (c)

ATQ,

X : Y

Income 144 : 100

then, Required%

=
144 –100

144
 × 100


1100

36
 = 30.56%

9. (b)

Age of friend who left

= 27 + (27 – 25) × 9

 45 years

10. (b)

Let, amount paid in cash is A and amount paid by

credit card is B

then,

40964 = A + B, A = 29064

B = 40964 – 29064

11900

ATQ,

Amount without surcharge:-

11900

106.25
 × 100 = 11200

if Rs. 11200 had paid in cash then,  price after

discount :-

100 –13.5

100
 × 11200 = 9688

 y = 29064 + 9688

= 38752

11. (a)

Let, three numbers be A, B, C :-

ATQ,

1

3
A = 

2

5
B

2

3
B  = 

1

7
C

  A  : B   :  C

    18   15  : 70

also,

5C + 

2A

2
 = 1348

 350x + 162x2 = 1348

81x2 + 175x – 674 = 0

81x2 + 337x – 162x – 674 = 0

x(81x + 337) – 2(81x  + 337) = 0

(x – 2) (81x + 337)

x = 2

 B = 15x = 30

SMART APPROACH:- 
A B C

18 15 70::

Only option a and c 
are multiple of 15 and 
option a satisfy the 
second statement.

12. (a)

Vi a   r j Rohan

Last income  8           5

Current income  9           7

Last exp. 4           5 

Current exp.  5           6

ATQ,

9x – 5y = 58000

7x – 6y = 24000

             BACK TO INDEX
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Aditya Ranjan Sir (Excise Inspector)

 x = 12000

y = 10000

then,

Rohan's last year savings was

5x – 5y = 5 (12000 – 10000)

= Rs.10,000.

13. (d)

P = 4000

R = 22%, R = 11%

t = 1year, t = 2 half year

effective rate = 11 + 11 + 
121

100

= 23.21%

 Amount = 
123.21

100
 × 4000

= Rs. 4928.4

14. (c)

We know,

Any number of the form p10 for a prime p has 11

factors. [11 is prime) since, 2 is the smallest prime

Hence, 210 is the smallest such no. which has exactly

11 factors.

Statement I is true.

Similarly for statement III

212 has 13 factors (and 13 is prime) Since, All the

numbers having 13 factors. are of the form p12 where

p is prime. Hence, 212 is the smallest such number,

since 2 is smallest prime

But in statement II numbers with 12 factors can be:

31 × 25, 5 × 3 × 22 = 96, 60 etc

But 211 is not the smallest such number so, it is false.

15. (d)

9

6

5

190

285

342







A

B

C

1710

Effi.Time

ATQ,

2(20) + 4(20) + 6(20)+ ..... = 19 × 90

20[2 + 4 + 6 + ....] = 19 × 90

we know, sum of even nos = n(n + 1)

then,

2 + 4 + 6 + ...... = 85.5

for 8 terms, sum = 72

for 9 terms, sum = 90

8 completecycles are done

ie, 20(2 + 4 + 6 + ...16) + x = 1710

20 + 72 + x = 1710

x = 1710 – 1440 = 270

Now, in 9th cycle, each of then will work for 18

hours.

I day  A × 18 = 162

Remaining = 270 – 162 = 108

II day  B × 18 = 108

Total number of days = (8 × 3) + 2 = 26 days

16. (b)

S  :  F

5     4

Statement–I

5 × 2 : 4

  5     : 2

Statement–II

ATQ,

F = 4x + 13 and S = 5x

then,

4x + 13 > 5x

5x  4x + 13

x   13

which is not possible

So both statement together also cannot solve the

asked question.

17. (b)

Given,

D   E   F

A          x x x

B   y    y   y

C   z     z   z

    
A B C

3 3y 3z

 
 
 x

ATQ,

In D's case 2x – y – 12z = 8    ....(i)

In E's case 2x – 6y – 6z = 14   ...(ii)

In F's case x + y – 3z = 27   .....(iii)

2 – 6y – 6z 14

2 2y – 6z 54

–8y – 40

y 5



 



 

x

x

Now,

             BACK TO INDEX
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Aditya Ranjan Sir (Excise Inspector)

2 –12z=13

2 – 6z =44

– 6z= –31

31
z=

6

x

x

Hence, not applicable

Though, we get a unique solution after framing the
linear equation but the answers are in fraction.

Hence, assertion is false but reason is true

18. (c)

We know,

PRT
SI=

100

SI = 
24550 22

100


 = Rs. 5401

19. (a)

28 CP = x SP

SP 28

CP


x
   ....(i)

also, profit = 40%

 
SP 140 28

CP 100 20
   .....(ii)

Comparing (i) and (ii)

x = 20

20. (c)

Given,

7 : 55      9  :  25

7 : 55       9 :  20 : 30





90 min

min
171

2

1
85

2

 
 

 
min = 

171

2
 min

Let, distance = 90 units

A D B

then speed = 1 unit/min

Now, statment I.

3

10
 × 90 = 27 unit

Remaining = 63 units

 Time 
27 63 63 171

54
6 7 2 2
7 6

    ' Hence, Statement

I is consistent with given data.

Statement II.

5
90

8


3
90

8


5

4

5

6

BA

Time = 

5 3
90 90

8 8
5 5

4 6

 


= 45 + 
90 × 3×6

5 × 8
= 45 +

81

2

= 
171

2

Hence, Statement II is consistent with given data.

Statement III.

7
90

9


2
90

9


BA
70 20

time = 
70 20

5 20

6 3

  = 84 + 3 = 87

Statement I and II supports but Statument III does

not support the information provided.

         BACK TO INDEX
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Aditya Ranjan Sir (Excise Inspector)

Intelligence Bureau
[kqfiQ;k foHkkx
India Hkkjr

1. A train, 364 meters long, passes a pole in 26

seconds. Find the speed of the train in meters per

second.

364 ehVj yach ,d jsyxkM+h 26 lsdaM esa ,d •aHks dks ikj djrh
gSA jsyxkM+h dh xfr ehVj çfr lsdaM esa Kkr djsaA

IB ACIO GRADE II 17/01/2024 (Shift-02)

(a) 15 m/sec (b) 11 m/sec

(c) 14 m/sec (d) 13 m/sec

2. On a particular day each of Danny, Edwin and Fahim

sold three types of pens from their respective shops.

Danny and Edwin sold an identical number of pens

of Type A while Fahim sold twice as many pens of

Type A as each of Danny and Edwin sold. The ratio

of the numbers of pens of Type B sold by Danny,

Edwin and Fahim was 3: 5:2 respectively, while each

of the three sold an identical number of pens of Type

C. The three sellers sold each of the types of pens

at different prices per unit.

,d fo'ks"k fnu] MSuh] ,Mfou vkSj iQghe esa ls çR;sd us viuh&viuh
nqdkuksa ls rhu çdkj ds isu cspsA MSuh vkSj ,Mfou us çdkj A ds
isu leku la[;k esa csps] tcfd iQghe us MSuh vkSj ,Mfou çR;sd
}kjk csps x, çdkj A ds isu dh nksxquh la[;k esa çdkj A ds isu
cspsA MSuh] ,Mfou vkSj iQghe }kjk csps x, çdkj B ds isuksa dh
la[;k dk vuqikr Øe'k% 3%5%2 Fkk] tcfd rhuksa us çdkj C ds isu
leku la[;k esa cspsA rhuksa foØsrkvksa us çR;sd çdkj ds isu dks çfr
;wfuV vyx&vyx dherksa ij cspkA

Assertion (A): It is possible that Danny sold each pen

of Type A at a profit of Rs 2, each pen of Type B at a

loss of Rs 1, and each pen of Type C at a loss of Rs

12 and made an overall profit of Rs 125; Edwin sold

each pen of Type A at a profit of Rs 2, each pen of

Type B at a loss of Rs 6, and each pen of Type C at a

profit of Rs 6 and made an overall profit of Rs 110;

and Fahim sold each pen of Type A at a profit of Rs

1, each pen of Type B at a profit of Rs 1, and each

pen of Type C at a loss of Rs 3 and made an overall

profit of Rs 210.

vfHkdFku (A)% ;g laHko gS fd MSuh us çdkj A ds çR;sd isu dks
2 #i;s ds ykHk ij] çdkj B ds çR;sd isu dks 1 #i;s dh gkfu
ij vkSj çdkj C ds çR;sd isu dks 12 #i;s dh gkfu ij cspk vkSj
dqy 125 #i;s dk ykHk vftZr fd;k_ ,Mfou us çdkj A ds
çR;sd isu dks 2 #i;s ds ykHk ij] çdkj B ds çR;sd isu dks 6
#i;s dh gkfu ij vkSj çdkj C ds çR;sd isu dks 6 #i;s ds ykHk
ij cspk vkSj dqy 110 #i;s dk ykHk vftZr fd;k_ vkSj iQghe us

çdkj A ds çR;sd isu dks 1 #i;s ds ykHk ij] çdkj B ds çR;sd
isu dks 1 #i;s ds ykHk ij vkSj çdkj C ds çR;sd isu dks 3
#i;s dh gkfu ij cspk vkSj dqy 210 #i;s dk ykHk vftZr fd;kA

Reason (R): Framing and solving the three possible

linear equations we will find that we get a unique

solution.

dkj.k (R)% rhu laHkkfor jSf•d lehdj.k cukus vkSj gy djus ij
ge ik,axs fd gesa ,d vf}rh; lek/ku feyrk gSA

IB ACIO GRADE II 17/01/2024 (Shift-02)

(a) Both Assertion (A) and Reason (R) are true and

Reason (R) is a correct explanation of Assertion (A).

vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSa vkSj  dkj.k (R)

vfHkdFku (A) dk lgh Li"Vhdj.k gSA
(b) Assertion (A) is false and Reason (R) is true.

vfHkdFku (A) vlR; gS vkSj dkj.k (R) lR; gS
(c) Assertion (A) is true and Reason (R) is false.

vfHkdFku (A) lR; gS vkSj dkj.k (R) vlR; gSA
(d) Both Assertion (A) and Reason (R) are true but

Reason (R) is not a correct explanation of

Assertion (A)./vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSa
ysfdu dkj.k (R) vfHkdFkuA (A) dk lgh Li"Vhdj.k ugha gSA

3. By selling an article for Rs.5600, one gains Rs.1600.

What is the gain percent?

,d oLrq dks 5600 #i;s esa cspus ij ,d O;fDr dks 1600 #i;s
dk ykHk gksrk gSA ykHk çfr'kr D;k gS\

IB ACIO GRADE II 17/01/2024 (Shift-02)

(a) 40% (b) 35%

(c) 45% (d) 30%

4. The square of the natural numbers are grouped as

12, (22, 32), (42, 52, 62),..., (..., 2102)

/u iw.kkZd ds oxks± dks 12, (22, 32), (42, 52, 62),..., (..., 2102)

ds :i esa oxhZÑr fd;k x;k gSA
Which one of the following is correct in respect of

the Question and the Statements?

ç'u vkSj dFkuksa ds laca/ esa fuEufyf•r esa ls dkSu&lk fodYi
lgh gS\
Statement 1: The sum of the terms in the last group

is 804660.

dFku 1% vafre lewg esa inksa dk ;ksxiQy 804660 gSA
Statement 2: There are 20 groups in all.

dFku 2% dqy 20 lewg gSaA

IB ACIO GRADE II

17/01/2024 (Shift-02)

02

         BACK TO INDEX
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Aditya Ranjan Sir (Excise Inspector)

Statement 3: The sum of all the terms till the last

but one group is 2304415.

dFku 3% ,d lewg dks NksM+dj vafre rd lHkh inksa dk ;ksxiQy
2304415 gSA

IB ACIO GRADE II 17/01/2024 (Shift-02)

(a) All three statements are correct./rhuksa dFku lgh gSaA

(b) Statements 1 and 2 are both correct, but

Statement 3 is incorrect./dFku 1 vkSj 2 nksuksa lgh gSa]
ysfdu dFku 3 xyr gSA

(c) Statements 2 and 3 are both correct, but

Statement 1 is incorrect./dFku 2 vkSj 3 nksuksa lgh gSa]
ysfdu dFku 1 xyr gSA

(d) Only Statement 2 is correct./dsoy dFku 2 lgh gSA

5. If
2 1

3 37 7 7x    , then which of the options below is
correct.

;fn 
2 1

3 37 7 7  x , gks] rks uhps fn, x, fodYiksa esa ls dkSu&lk
lgh gS\

IB ACIO GRADE II 17/01/2024 (Shift-02)

(a) x3 + 21x2 – 126x – 252 = 0

(b) x3 + 21x2 – 126x + 252 = 0

(c) x3 – 21x2 – 126x + 252 = 0

(d) x3 – 21x2 + 126x – 252 = 0

6. A cistern can be filled by one of two pipes in 52

minutes and by the other pipe in 60 minutes. Both

pipes are opened together for a certain time but being

particularly clogged only 
13

20
 of the full quantity of

water flows through the first  pipe and only 
3

4
 of the

full quantity of water flows through the second pipe.

The obstructions, however, were suddenly removed

in both the pipes after some time and the cistern

got filled in 
3

15
5

 minutes from that moment. For how

many  minutes did the pipes remain clogged?

,d Vadh dks nks ikbiksa esa ls ,d ds }kjk 52 feuV esa vkSj nwljs
ikbi ds }kjk 60 feuV esa Hkjk tk ldrk gSA nksuksa ikbiksa dks ,d
fuf'pr le; ds fy, ,d lkFk [kksyk x;k] ysfdu fo'ks"k :i ls
vo:¼ gksus ds dkj.k igys ikbi ls ikuh dh iwjh ek=kk dk dsoy

13

20
 Hkkx izokfgr gksrk gS vkSj nwljs ikbi ls ikuh dh iwjh ek=kk dk

dsoy 
3

4
 Hkkx izokfgr gksrk gSA gkykafd] oqQN le; ckn vdLekr

nksuksa ikbiksa esa vojksèk lekIr gks x;k vkSj ml le; ds ckn Vadh

3
15

5
 feuV esa Hkj xbZA ikbi fdrus feuV rd vo:¼ jgs\

IB ACIO GRADE II 17/01/2024 (Shift-02)

(a)
3

17
5

minute (b)
2

17
5

minute

(c)
4

17
5

minute (d)
1

17
5

minute

7. A shopkeeper buys three varieties of pulses at Rs.

132, Rs. 160 and Rs. 192 per kg respectively and

mixes them in the ratio 9:2:1. The marked price per

kg of the blended pulses is fixed at Rs. 238, the

shopkeeper gives a discount equal to 
1

n
 of the

marked price and still earns a profit of 40%. What is

the value of n?

,d nqdkunkj rhu çdkj dh nkysa Øe'k% 132 #i;s] 160 #i;s vkSj
192 #i;s çfr fdxzk ij •jhnrk gS vkSj mUgsa 9 % 2 % 1 ds vuqikr
esa feykrk gSA fefJr nkyksa dk çfr fdxzk vafdr ewY; 238 #i;s

fu/kZfjr fd;k x;k gS] nqdkunkj vafdr ewY; ij 
1

n
 NwV nsrk gS

vkSj fiQj Hkh 40» dk ykHk çkIr djrk gSA n dk eku fdruk
gksxk\

IB ACIO GRADE II 17/01/2024 (Shift-02)

(a) 4 (b) 5

(c) 7 (d) 6

8. Harsh was four times as old as Dev six years ago.

How old is Dev today if Harsh will be 40 years old 10

years later?

Ng o"kZ igys g"kZ dh vk;q nso ls pkj xquk FkhA ;fn 10 o"kZ ckn
g"kZ 40 o"kZ dk gks tk,xk rks vkt nso dh vk;q fdruh gS\

IB ACIO GRADE II 17/01/2024 (Shift-02)

(a) 11 years/o"kZ (b) 14 years/o"kZ

(c) 12 years/o"kZ (d) 13 years/o"kZ

9. The expense of a boarding house is partly fixed and

partly varies with the number of boarders. What is

the profit per head per month when there are 80

boarders?

,d cksfM±x gkml dk O;; vkaf'kd :i ls fuf'pr jgrk gS vkSj
cksMZlZ dh la[;k ds lkFk vkaf'kd :i ls ifjofrZr gksrk jgrk gSA
80 cksMZj gksus ij çfr O;fÙkQ çfr ekg fdruk ykHk gksxk\

Which one of the following is correct in respect of

the Question and the Statements given below?

mijksÙkQ ç'u] rFkk uhps fn, x, dFkuksa ds laca/ esa fuEufyf•r esa
ls dkSu&lk fodYi lgh gS\

Statement 1: Each boarder pays $780 a month.

dFku 1% çR;sd cksMZj çfr ekg $780 dk Hkqxrku djrk gSA

Statement 2: The profit is $108 per head per month

when there are 50 boarders.

dFku 2% 50 cksMZj gksus ij çfr O;fÙkQ çfr ekg $108 dk ykHk
gksrk gSA

         BACK TO INDEX



IB ACIO Grade-IIJoin Telegram- Maths by Aditya Ranjan

Selected gS Selection fnyk,axs   11

Jo
in

 T
el
eg

ra
m

M
at

hs
 b
y 
A
di

ty
a 

ra
nj

an

Aditya Ranjan Sir (Excise Inspector)

Statement 3: The profit is $128 per head per month

when there are 60 boarders.

dFku 3% 60 cksMZj gksus ij çfr O;fÙkQ çfr ekg $128 dk ykHk
gksrk gSA

IB ACIO GRADE II 17/01/2024 (Shift-02)

(a) Statement 2 and Statement 3 together are

sufficient./dFku 2 vkSj dFku 3 ,d lkFk ysus ij i;kZIr gSaA

(b) Statement 1 and any one of the other two

statements taken together are sufficient./dFku 1
vkSj mlds lkFk vU; nks dFkuksa esa ls dkbZ ,d ysus ij i;kZIr gSA

(c) All the three statements together are sufficient./

rhuksa dFku ,d lkFk ysus ij i;kZIr gSaA

(d) Even all the three statements taken together is

still not sufficient./rhuksa dFku ,d lkFk ysus ij Hkh i;kZIr
ugha gSaA

10. A mixture contains alcohol and water in the ratio 4:

7. If it contains 9 litres more water than alcohol,

then find the quantity of water in the mixture.

,d feJ.k esa vYdksgy vkSj ikuh 4 % 7 ds vuqikr esa gSA ;fn
blesa vYdksgy ls 9 yhVj vf/d ikuh gS] rks feJ.k esa ikuh dh
ek=kk Kkr djsaA

IB ACIO GRADE II 17/01/2024 (Shift-02)

(a) 18 litres/yhVj (b) 21 litres/yhVj

(c) 24 litres/yhVj (d) 20 litres/yhVj

11. A salt and water mixture, of which 7.5% is salt, costs

Rs.22.50 per litre. Another salt and water mixture,

of which 17.5% is salt, costs Rs.z per litre. If the cost

of 12 litres of a salt and water mixture, of which

22.5% is salt, is Rs.450, find the value of z.

ued vkSj ikuh ds ,d foy;u] ftlesa 7-5» ued gS] dh dher
22-50 #i;s çfr yhVj gSA ued vkSj ikuh ds ,d vU; foy;u]
ftlesa 17-5» ued gS] dh dher z #i;s çfr yhVj gSA ;fn ued
vkSj ikuh ds 12 yhVj foy;u] ftlesa 22-5» ued gS] dh dher
450 #i;s gS] rks z dk eku Kkr dhft,A

IB ACIO GRADE II 17/01/2024 (Shift-02)

(a) 31.50 (b) 32.50

(c) 30.60 (d) 34.50

12. In an election, Candidate M received 67% of the

votes, and Candidate N received 33% of the votes. If

the total votes were 10,000, find the difference in the

number of votes received by each candidate.

,d pquko esa] mEehnokj M dks 67 çfr'kr er feys] vkSj mEehnokj
N dks 33 çfr'kr er feysA ;fn dqy er 10]000 Fks] rks çR;sd
mEehnokj dks çkIr erksa dh la[;k esa varj Kkr djsaA

IB ACIO GRADE II 17/01/2024 (Shift-02)

(a) 3400 (b) 3000

(c) 3500 (d) 4200

13. Ravi and Rajiv decided to run a 960 m long race on a

track as long as the length of the race.

jfo vkSj jktho us ml VªSd ij 960 m yach nkSM+ nkSM+us dk iQSlyk
fd;k ftldh yackbZ nkSM+ ds cjkcj FkhA
Which of the statement(s) below is (are) sufficient

to conclude that Rajiv caught up with Ravi with
3

8

of the track length still to be covered?

uhps fn, x, dFkuksa esa ls dkSu&lk@ls ;g fu"d"kZ fudkyus ds fy,

i;kZIr gS fd VªSd dh yackbZ dk
3

8
 Hkkx 'ks"k jgus ds le; jktho]

jfo ds cjkcj vk x;k gS\
Statement 1: Ravi is allowed to start 5 seconds

before Rajiv started running.

dFku 1% jfo us] jktho ds nkSM+uk 'kq: djus ls 5 lsdaM igys
nkSM+uk 'kq: fd;kA
Statement 2: Ravi ran at 8 m per second.

dFku 2% jfo 8 m/s dh pky ls nkSM+kA

Statement 3: Rajiv ran at a speed of 10 m/s?

dFku 3% jktho 10 m/s dh pky ls nkSM+k\

IB ACIO GRADE II 17/01/2024 (Shift-02)

(a) Even all the three statements taken together is

not sufficient./lHkh rhuksa dFku ,d lkFk ysus ij Hkh i;kZIr
ugha gSaA

(b) Statements 1 and 3 taken together are sufficient.

dFku 1 vkSj 3 ,d lkFk ysus ij i;kZIr gSaA
(c) Statements 2 and 3 taken together are sufficient.

dFku 2 vkSj 3 ,d lkFk ysus ij i;kZIr gSaA
(d) All the three statements taken together is

sufficient./lHkh rhuksa dFku ,d lkFk ysus ij i;kZIr gSaA
14. The ratio of the number of students in the morning

shift and the afternoon shift of a school was 13: 9.

After 'n' students moved from the morning shift to

the afternoon shift, the said ratio became 19 : 14.

Now 153 new students got admission in the school,

and these students joined the morning and the

afternoon shifts in the ratio 6: 11 respectively. If the

ratio of the number of students in the morning shift

and the afternoon shift of the school after the new

admissions became 24 : 19, find the value of 'n'.

,d Ldwy esa lqcg dh ikyh vkSj nksigj dh ikyh esa fo|kfFkZ;ksa dh
la[;k dk vuqikr 13%9 FkkA 'n' fo|kfFkZ;ksa ds lqcg dh ikyh ls
nksigj dh ikyh esa tkus ds ckn] mDr vuqikr 19 % 14 gks x;kA
vc 153 u, fo|kfFkZ;ksa us Ldwy esa ços'k fy;k] vkSj ;s fo|kFkhZ
Øe'k% 6% 11 ds vuqikr esa lqcg vkSj nksigj dh ikyh esa 'kkfey
gq,A ;fn u, ços'k ds ckn Ldwy esa lqcg dh ikyh vkSj nksigj dh
ikyh esa fo|kfFkZ;ksa dh la[;k dk vuqikr 24 % 19 gks x;k gks] rks
'n' dk eku Kkr dhft,A

IB ACIO GRADE II 17/01/2024 (Shift-02)

(a) 24 (b) 30

(c) 36 (d) 27
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1.(c) 2.(b) 3.(a) 4.(c) 5.(d) 6.(a) 7.(d) 8.(c) 9.(c) 10.(b)

11.(b) 12.(a) 13.(a) 14.(d) 15.(a) 16.(c) 17.(c) 18.(d) 19.(b) 20.(a)

ANSWER KEY

15. The average of five numbers is 87.8. The average of

the first two numbers is 81.5 and the average of the

last two numbers is 93.5. What is the third number?

ik¡p la[;kvksa dk vkSlr 87-8 gSA igyh nks la[;kvksa dk vkSlr 81-5
gS vkSj vafre nks la[;kvksa dk vkSlr 93-5 gSA rhljh la[;k D;k gS\

IB ACIO GRADE II 17/01/2024 (Shift-02)

(a) 89 (b) 88

(c) 93 (d) 90

16. In how many years will a sum of money be 12 times

itself at 44% per annum simple interest?

44 çfr'kr okf"kZd lk/kj.k C;kt ij dksbZ èkujkf'k fdrus o"kks± esa
Lo;a dk 12 xquk gks tk,xh\

IB ACIO GRADE II 17/01/2024 (Shift-02)

(a) 35 years/o"kZ (b) 20 years/o"kZ

(c) 25 years/o"kZ (d) 30 years/o"kZ

17. The difference between the value of the number

increased by 32% and the value of the number

decreased by 28% is 180. Find the number.

la[;k ds ewY; esa 32 çfr'kr dh of̀¼ vkSj la[;k ds ewY; esa 28
çfr'kr dh deh ds chp dk varj 180 gSA la[;k Kkr djsaA

IB ACIO GRADE II 17/01/2024 (Shift-02)

(a) 320 (b) 280

(c) 300 (d) 260

18. P% of Bobby's income is equal to q% of Ron's income.

If Bobby's income was Rs. y less than what it is and

Ron's income was Rs z more than what it is, the ratio

of the incomes of Bobby and Ron would have been m

: n. The actual combined income of the two is Rs x.

ckWch dh vk; dk P% jksu dh vk; ds q% ds cjkcj gSA ;fn
ckWch dh vk; mldh orZeku vk; ls y #i;s de gksrh vkSj jksu dh
vk; mldh vk; ls z #i;s vf/d gksrh] rks ckWch dh vk; vkSj
jksu dh vk; dk vuqikr m : n gksrkA nksuksa dh okLrfod la;qDr
vk; x #i;s gSA

Which one of the following is correct in respect of

the Question and the Statements given below?

mijksÙkQ ç'u] rFkk uhps fn, x, dFkuksa ds laca/ esa fuEufyf•r esa
ls dkSu&lk lgh gS\

Statement 1: The values of p, q, y, z, m, n and x are

respectively 40, 56, 3200, 2000, 6, 5 and 67200.

dFku 1% p, q, y, z, m, n vkSj x ds eku Øe'k% 40] 56] 3200]
2000] 6] 5 vkSj 67200 gSaA

Statement 2: The values of p, q, y, z, m, n and x are

respectively 20, 32, 1200, 5500, 4, 3, and 83200.

dFku 2% p, q, y, z, m, n vkSj x ds eku Øe'k% 20] 32] 1200]
5500] 4] 3 vkSj 83200 gSaA

IB ACIO GRADE II 17/01/2024 (Shift-02)

(a) Only Statement 1 is feasible./dsoy dFku 1 laHko gSA

(b) Neither of the two statements is feasible/nksuksa esa ls
dksbZ Hkh dFku laHko ugha gSA

(c) Only Statement 2 is feasible./dsoy dFku 2 laHko gSA

(d) Both Statements are feasible./nksuksa dFku laHko gSaA

19. Find the least number that should be added to

567201, so that the sum is exactly divisible by 9.

og U;wure la[;k Kkr djsa ftls 567201 esa tksM+k tkuk pkfg,]
rkfd ;ksx 9 ls iw.kZr% foHkkT; gksA

IB ACIO GRADE II 17/01/2024 (Shift-02)

(a) 8 (b) 6

(c) 5 (d) 4

20. If the interest is compounded yearly, find the

compound interest on the sum Rs.30,000 at the rate

of 4% per annum for 3 years

;fn C;kt okf"kZd :i ls pØo`f¼ gksrk gS] rks 30]000 dh jkf'k ij
3 o"kks± ds fy, 4 izfr'kr izfr o"kZ dh nj ls pØo`f¼ C;kt Kkr
djsaA

IB ACIO GRADE II 17/01/2024 (Shift-02)

(a) Rs.3745.92 (b) Rs.3525.88

(c) Rs.4525.55 (d) Rs.3856.25
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SOLUTIONSSOLUTIONS
1. (c)

Speed = 
Distance

time
=

364

26
 = 14 m/sec

2. (b)

Danny   Edwin   Fahim

A                            4  x x x

B      3y  5y   2y 

C  z  z  z 

A B C
Total

6 10y 3z

 
 

 x

 2x – 3y – 12z = 125 ...... (I)
 2x – 30y + 6z = 110 ...... (II)
 4x + 2y – 3z = 210 ...... (III) equation (I-II)
27y – 18z = 15
9y – 6z = 5     ....(IV) also equation (III-II × 2)
62y – 15z = – 10
 15z – 62y = 10    .....(V)
From (iv) and (v)

y = 
45

79
Though we have unique solutions but it is not the
correct required  solution.

3. (a)

Gain% = 
1600

5600 –1600
 × 100 = 40%

4. (c) Given,

12, (22, 32), (42, 52, 62), ... (2102) We observe that

number of terms in last group is :-

1 + 2 + 3 + .....+ n = 210

n(n 1)

2


 = 210 n(n + 1) = 420      n = 20

Statement I:

 Last term = (1912 + 1922 + ...2102)

 (12 + 22 + ... + 2102) – (12 + 22 + ....+ 1902)

= 
210(211)(421) 190(191)(381)

–
6 6

 = 804640  804670

Which is false

Statement II:

there are 20 terms in last group. Hence, there are 20

groups in the series. so Statement II is true?

Statement III:

last group is (1912, 1922,..., 2102)

ATQ,

sum of all except last group is :- 12 + 22 + 32 +....+ 1902

 
190(191)(381)

6
 = 2304415

Hence true.

5. (d)

x = 7 + 
2 1

3 37 7    x – 7 = 
2 1

3 37 7

Cubing both side

(x – 7)3 = 

3
1 2

3 37 7
 
 
 

x3 – 343 – 21x2 + 147x = 7 + 7² + 3 × 
1

37  × 
2

37  1 2

3 37 7
 
 
 

= 7 + 49 +

3 × 7 (x – 7)

x3 – 343 – 21x2 + 147x = 56 + 21x – 147

x3 – 21x2 + 126x – 252 = 0

6. (a)

Time

A   52

B   60

Eff.

15

13

780 unit

ATQ,

780 = 
13 3

15 13
20 4

 
   

 
 t + (15 + 13)

78

5

780 = 
39

2
t + 28 ×

78

5

780 = 
t 56

39 +
2 5

 
  

20 = 
t 56

+
2 5

t

2
 = 20 –

56

5
 =

44

5

t = 
88

5
 = 

3
17

5

7. (d)

I  II    III

132  160  192

9    :   2  :   1

Total CP = 132 × 9 + 160 × 2 + 192 × 1

= 1188 + 320 + 192 = 1700

CP of 1 kg = 
1700

12
=

425

3

ATQ,

SP = 238 × 
1

1 –
n

 
    =

425 7

3 5


 
1

1 –
n

 
    =

5

6

 
1 1

n 6
  n = 6
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8. (c)

Let present age of Harsh and Dev be H and D

respectively.

ATQ,

(H – 6) = 4 (D – 6)    .....(i)

also, H + 10 = 40

 H = 30    ....(ii)

put (ii) in (i)

24 = 4 (D – 6)

D –  6 = 6

 D = 12 years.

Alternate Method:

H D

4 unit 1unit–6y :

+10y 40y

ATQ,

4 unit + 6y + 10y = 40y

4 unit = 24y

1 unit = 6y

Present age of Dev = 6y + 6y = 12 years

9. (c)

Expence = x + xy

Statement I:

780x  Total received

Statement II:

Profit = 108

 total profit = 108 × 50

Expence = x + 50y

 780 × 50 – (x + 50y) = 108 × 50

x + 50y = 672 × 52    ...(i)

Statement III:

x  + 60y = 780 × 60 – 128 × 60

 x  + 60y = 39120     ....(ii)

from (i) and (ii) clearly

we can solve for x and y

but we also used Statement I.

Hence, all three statements. were required.

10. (b)

Alcohol : Water = 4   :   7

3

ATQ,

3 units  9

1 units  3

 water (7 units)  21 liter

11. (b)

Salt Price

1 7.5% 22.5/liter

III 17.5% z/liter

III 22.5% 37.5/liter

By using allegation method:-

17.5

7.5 22.5

5 10

1      :  2

Price of II type = 
22.5 (2 37.5)

3

 
 = Rs. 32.5/liter

Alternate Method:
Let, the solution be 1 liter
Salt  S, Water  w
then,

75s  +  925w   =  ......(i) 

225s  +  775w   =     ......(ii) 

175s  +  825w  =        = 32.5 

+150

+100

+150

150 unit   Rs.15 
100 unit  Rs.10




45

2

450 75

12 2


45
10

2


diff. 15

12. (a)

 M  N

67%    33%

Difference = 67 – 33 = 34%

Given, 100%  10,000

 34%  100 × 34 = 3400

13. (a)

600 m 360 m

960 m

5
of total length

8

 
  

3
of total length

8

 
  

Ravi covered in 5 seconds = 5 × 8 = 40m

Relative speed = (10 – 8) = 2m/s

time taken by rajiv with relative speed = 
40

2
 = 20 sec.

in 20 seconds rajiv cover = 20 × 10 = 200 meter

Rajiv caught ravi at 200 m which is not equal to 360.

then all the three statements taken together is not

sufficient.

14. (d)

M   :   A

13   :   9

–n   +n

19   :    14

also,

M

6  :  11

153  New Students

N

54  99 
M A

19 14

54 99

24 : 19

 
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ATQ,

19 54 24

14 19




x

x +99

361x – 336x = 2376 – 1026     x = 54

M = 54 × 19       A = 54 × 14

 total = 54 × 33 = 1782

Now,

Initial 13a + 9a = 1782

 a = 81

Hence,

13×81 – n 19
=

9×81+n 14

14742 – 13851 = 19n + 14n      n = 27

15. (a)

Third no. = 5 × 87.8 – 2 × 81.5 – 2 × 93.5

= 439 – 163 – 187 = 89

Alternate Method:

Using deviation Method

No.      2   2  1 

   –6.3   5.7   3rd 

   2(–6.3 + 5.7) = 2(–0.6) = – 1.2

3rd   87.8  + 1.2 = 89
16. (c)

SI = 11P, Let 't' be required time then,

11P = 
P 44 t

100

 
 t = 25 years

17. (c)

Let, the no. is 100%

ATQ,

(132 – 72)%  180

60%  180

100% 300

Alternate Method:

Let, the no. is x

60% 180x = 

+32% –28%

x = 300
18. (d)

Let Bobby's income be B and Ron's income be R

then,

p

100
 × B =

q

100
 × R

 pB = qR 
B Q

R P


Also,

B – y m

R z


 x

and B + R = x

Statement I:

40B = 56R

 
R 7

B 5


and 
B – 3200 6

R 2000 5




5 (7a  – 3200) = 6(5a + 2000)

5a = 28000 a = 5600

then,

B + R = 12a

12 × 5600 = 67200

Hence, statement I is correct

Statement II:

20B = 32R

R 8

B 5


and 
B –1200 4

R 5500 3




3 (8a – 1200) = 4 (5a + 5500)

4a = 25600

a = 6400

then,

B + R = 13a = 13a = 13 × 6400

= 83200m, which is also true.

19. (b)

By divisibility rule of 9,

5 + 6 + 7 + 2 + 0 + 1 = 21

21 + 6  = 27 which is divisible by 9

Hence, least such number that should be added is 6.

20. (a)

P = 30,000, t = 3 years, R = 4%

I yr. = 1200

II yr. = 1200 + 48

III yr. = 1200 + 48 + 48 + 1.92

total CI = 3600 + 144 + 1.92

CI = Rs. 3745.92

Alternate Method:

Eff. rate = 3r + 

2 33r r

100 10000


= 12 + 
48 64

100 10000
  = 12.4864%

CI = 30000 × 
12.4864

100
 = Rs. 3745.92
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[kqfiQ;k foHkkx
India Hkkjr

IB ACIO GRADE II
03

17/01/2024 (Shift-03)

1. A, B and C enter a partnership with initial

investments in the ratio 
11 7 15

: :
5 2 8

. After 4 months

A raises her share of investment by 62.5%. If the

total profit after 12 months since the beginning of

the partnership is Rs. 138584, then how much (in

Rs.) does A get as her share of profit?

A, B vkSj C us 
11 7 15

: :
5 2 8

 ds vuqikr esa vkjafHkd fuos'k ds

lkFk lk>snkjh dhA 4 ekg ckn A us vius fuos'k dk fgLlk 62-5»
c<+k fn;kA ;fn lk>snkjh dh 'kq#vkr ls 12 ekg ds ckn dqy ykHk
138584 #i;s gqvk gks] rks A dks ykHk ds Hkkx ds :i esa fdruk
(#i;s esa) feysxk\

IB ACIO GRADE II 17/01/2024 (Shift-03)

(a) 50864 (b) 50844

(c) 50884 (d) 50874

2. The greatest number of wagons that can be attached

to a locomotive engine if the speed is not to fall

below 14 km. per hour is given as 144.

Which one of the following is correct in respect of

the Question and the Statements given below?

Statement 1: The locomotive engine without any

wagon can go at a rate of 50 km per hour.

Statement 2: The speed of the locomotive diminishes

by a quantity which varies as the square root of the

number of wagons attached.

Statement 3: With 16 wagons its speed is 38 km. per

hour.

pky 14 fdeh çfr ?kaVk ls de u gksus dh fLFkfr esa yksdkseksfVo
batu ls tksM+s tk ldus okys oSxuksa dh vf/dre la[;k 144 fuèkkZfjr
gSA

mijksÙkQ ç'u] rFkk uhps fn, x, dFkuksa ds laca/ esa fuEufyf•r esa
ls dkSu&lk fodYi lgh gS\

dFku 1% fcuk fdlh oSxu ds yksdkseksfVo batu 50 fdeh çfr ?kaVs
dh pky ls py ldrk gSA

dFku 2% yksdkseksfVo dh pky ml jkf'k rd de gks tkrh gS tks
mlls tqM+s oSxuksa dh la[;k ds oxZewy ds vuqlkj ifjofrZr gksrh gSA

dFku 3% 16 oSxuksa ds lkFk bldh pky 38 fdeh çfr ?kaVk gSA

IB ACIO GRADE II 17/01/2024 (Shift-03)

(a) All the three statements together are sufficient./

rhuksa dFku ,d lkFk ysus ij i;kZIr gSaA

(b) Even all the three statements taken together is

still not sufficient./rhuksa dFku ,d lkFk ysus ij Hkh i;kZIr
ugha gSaA

(c) Statement 1 and Statement 3 taken together are

sufficient./dFku 1 vkSj dFku 3 ,d lkFk ysus ij i;kZIr gSaA

(d) Statement 2 and Statement 3 taken together are

sufficient./dFku 2 vkSj dFku 3 ,d lkFk ysus ij i;kZIr gSaA

3. A number increased by 57% gives 942. Find the

number.

,d la[;k dks 57 çfr'kr ls c<+kus ij 942 çkIr gksrk gSA la[;k
Kkr djsaA

IB ACIO GRADE II 17/01/2024 (Shift-03)

(a) 800 (b) 700

(c) 500 (d) 600

4. Jay lent some amount of money at 14% simple

interest and an equal amount of money at 20%

simple interest each for two years. If his total interest

was, 9520, then find the amount of money that was

lent in each case.

t; us dqN /ujkf'k 14 çfr'kr lk/kj.k C;kt ij vkSj mruh gh /
ujkf'k 20 çfr'kr lkèkkj.k C;kt ij nks o"kks± ds fy, m/kj nhA ;fn
mldk dqy C;kt 9520 #i;s Fkk] rks çR;sd ekeys esa m/kj nh xbZ
/ujkf'k Kkr djsaA

IB ACIO GRADE II 17/01/2024 (Shift-03)

(a) Rs.13,000 (b) Rs.16,000

(c) Rs.14,000 (d) Rs.15,000

5. Excluding stoppages, the speed of a bus is 152 km/

hr. and including stoppages, it is 114 km/hr. For how

many minutes does the bus stop per hour?

foJke fcanq dks NksM+dj] cl dh xfr 152 fdeh@?kaVk gS vkSj foJke
fcanq lfgr] ;g 114 fdeh@?kaVk gSA cl çfr ?kaVs fdrus feuV #drh gS\

IB ACIO GRADE II 17/01/2024 (Shift-03)

(a) 10 minutes/feuV

(b) 15 minutes/feuV

(c) 14 minutes/feuV

(d) 9 minutes/feuV
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6. The sum of the squares of two numbers is 545 and

the square of their difference is 1. Find the product

of the two numbers.

nks la[;kvksa ds oxks± dk ;ksx 545 gS vkSj muds varj dk oxZ 1 gSA
nksuksa la[;kvksa dk xq.kuiQy Kkr djsaA

IB ACIO GRADE II 17/01/2024 (Shift-03)

(a) 282 (b) 256

(c) 272 (d) 286

7. In a 60-liter mixture of milk and water, the water

content is 40%. How many litres of water should be

added to increase the water content to 60%?

nw/ vkSj ikuh ds 60 yhVj feJ.k esa] ikuh dh ek=kk 40 çfr'kr gSA
ikuh dh ek=kk 60 çfr'kr rd c<+kus ds fy, fdrus yhVj ikuh
feyk;k tkuk pkfg,\

IB ACIO GRADE II 17/01/2024 (Shift-03)

(a) 30 litres/yhVj (b) 15 litres/yhVj

(c) 25 litres/yhVj (d) 20 litres/yhVj

8. A shopkeeper buys three varieties of sugar at Rs 99,

Rs 120 and Rs 144 per kg respectively and mixes

them in the ratio 9 : 2 : 1. In order to earn a y% profit

after giving a discount equal to a sixth of the marked

price, the marked price per kg of the blended sugar

is fixed at Rs 178.50. What is the value of y?

,d nqdkunkj us rhu çdkj dh phuh Øe'k% 99 #i;s] 120 #i;s
vkSj 144 #i;s çfr fdxzk dh nj ls •jhnh vkSj mUgsa 9%2%1 ds
vuqikr esa fefJr fd;kA vafdr ewY; ds ,d cVs Ng ds cjkcj NwV
nsus ds ckn y% ykHk vftZr djus ds fy, çfr fdxzk  fefJr phuh
dk vafdr ewY; 178-50 #i;s fu/kZfjr fd;k x;kA y dk eku
fdruk gksxk\

IB ACIO GRADE II 17/01/2024 (Shift-03)

(a) 35 (b) 40

(c) 36 (d) 45

9. 35 men and 49 women, working together, can do a

job in 84 days while 48 men and 84 women, working

together, can do the same job in 56 days. In how

many days can the same job be done by 30 men and

21 women, working together?

35 iq#"k vkSj 49 efgyk,¡ ,d lkFk dk;Z djrs gq,] ,d dk;Z dks
84 fnuksa esa dj ldrs gSa tcfd 48 iq#"k vkSj 84 efgyk,¡ ,d
lkFk dk;Z djrs gq,] mlh dk;Z dks 56 fnuksa esa dj ldrs gSaA 30
iq#"k vkSj 21 efgyk,¡ ,d lkFk dk;Z djds mlh dk;Z dks fdrus
fnuksa esa iwjk dj ldrs gSa\

IB ACIO GRADE II 17/01/2024 (Shift-03)

(a)
6

120
13

(b)
8

120
13

(c)
9

120
13

(d)
7

120
13

10. Prakash and Inaya started a business investing

77,000 and 84,000 respectively. In what ratio the

profit earned after 2 years be divided between Prakash

and Inaya respectively?

çdk'k vkSj buk;k us Øe'k% 77]000 #i;s vkSj 84]000 #i;s dk
fuos'k djds ,d O;olk; 'kq: fd;kA 2 o"kZ ckn vftZr ykHk dks
çdk'k vkSj buk;k ds chp Øe'k% fdl vuqikr esa foHkkftr fd;k
tk,xk\

IB ACIO GRADE II 17/01/2024 (Shift-03)

(a) 12 : 7 (b) 11 : 7

(c) 11 : 12 (d) 12 : 11

11. The prices of a cream and a shampoo are in the ratio

19:11. The price of the cream is 160 more than the

price of the shampoo. What is the price of a cream?

,d Øhe vkSj ,d 'kSEiw dh dhersa 19%11 ds vuqikr esa gSaA Øhe
dh dher 'kSEiw dh dher ls 160 #i;s vf/d gSA Øhe dh dher
D;k gS\

IB ACIO GRADE II 17/01/2024 (Shift-03)

(a) Rs.380 (b) Rs.400

(c) Rs.360 (d) Rs.340

12. A sum becomes Rs.8640 after two years and

Rs.12,441.6 after four years at the same compound

interest. Find the sum.

leku pØo`f¼ C;kt ij ,d jkf'k nks o"kZ ckn 8640 #i;s vkSj
pkj o"kZ ckn 12]441-6 #i;s gks tkrh gSA jkf'k Kkr djsaA

IB ACIO GRADE II 17/01/2024 (Shift-03)

(a) Rs.5800 (b) Rs.5000

(c) Rs.6000 (d) Rs.6300

13. Arun and Devika bought an item each at identical

prices. Arun marked his item at p% above his

purchase price and then offered a discount of q% on

the marked price. Devika claimed to offer her item

for sale at y% below her purchase price but then added

z% of the reduced offer price as handling charges.

Eventually both sold their items at the same nominal

price.

Which one of the following is correct in respect of

the Question and the Statements given below?

Statement 1: The values of p, q, y and z are

respectively given as 25, 8, 20 and 43.75

Statement 2: The values of p, q, y and z are

respectively given as 35, 20, 10 and 20

v#.k vkSj nsfodk us leku ewY; ij ,d&,d oLrq •jhnhA v#.k
us viuh oLrq ij mlds Ø; ewY; ls p% vf/d vafdr fd;k vkSj
fiQj vafdr ewY; ij q% dh NwV çLrkfor dhA nsfodk us viuh
oLrq dks mlds Ø; ewY; ls y% de ij fcØh ds fy, çLrqr
fd;k] ysfdu fiQj ?kVs gq, çLrkfor ewY; dk z% gSaMfyax çHkkj ds
:i esa tksM+kA varr% nksuksa us viuh oLrq,a leku ukfer ewY; ij
csphaA
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mijksDr ç'u] rFkk uhps fn, x, dFkuksa ds laca/ esa fuEufyf•r esa
ls dkSu&lk fodYi lgh gS\

dFku 1% p, q, y vkSj z ds eku Øe'k% 25] 8] 20 vkSj 43-75 gSaA

dFku 2% p, q, y vkSj z ds eku Øe'k% 35] 20] 10 vkSj 20 gSaA

IB ACIO GRADE II 17/01/2024 (Shift-03)

(a) Only Statement 2 is feasible./dsoy dFku 2 laHko gSA

(b) Both Statements are feasible./nksuksa dFku laHko gSaA

(c) Neither of the two statements is feasible./nksuksa esa
ls dksbZ Hkh dFku laHko ugha gSA

(d) Only Statement 1 is feasible./dsoy dFku 1 laHko gSA

14. If Naman had purchased 25 articles for Rs.22 and

sold all the articles at the rate of 22 for  Rs.25 then

find his approximate profit percentage.

;fn ueu us 22 #i;s esa 25 oLrq,¡ •jhnha vkSj lHkh oLrq,¡ 22 dh nj
ls 25 #i;s esa csp nha] rks mldk vuqekfur ykHk çfr'kr Kkr djsaA

IB ACIO GRADE II 17/01/2024 (Shift-03)

(a) 21.5%

(b) 20.5%

(c) 29.1%

(d) 30.2%

15. A salt and water mixture, of which 12.5% is salt, costs

Rs.22 per litre. Another salt and water mixture, of

which 27.5% is salt, costs Rs.38.50 per litre. How

many litres of a salt and water mixture, of which 30%

is salt, can be bought for Rs.165?

ued vkSj ikuh ds ,d foy;u] ftlesa 12-5» ued gS] dh dher
22 #i;s çfr yhVj gSA ued vkSj ikuh ds ,d vU; foy;u] ftlesa
27-5» ued gS] dh dher 38-50 #i;s çfr yhVj gSA ued vkSj
ikuh dk fdruk yhVj foy;u] ftlesa 30» ued gS] 165 #i;s esa
•jhnk tk ldrk gS\

IB ACIO GRADE II 17/01/2024 (Shift-03)

(a) 4.5

(b) 3.5

(c) 4

(d) 5

16. On a particular day each of Danish, Ethan and

Farhan sold three types of pens from their respective

shops. Danish and Ethan sold an identical number

of pens of Type A while Farhan sold twice as many

pens of Type A as Danish and Ethan together sold.

The ratio of the numbers of pens of Type B sold by

Danish, Ethan and Farhan was 3:4:1 respectively, and

Ethan and Farhan sold an identical number of pens

of Type C each, while Danish sold thrice as many

pens of Type C as each of Ethan and Farhan sold.

The three sellers sold each of the types of pens at

different prices per unit.

Assertion (A): It is possible that Danish sold each

pen of Type A at a loss of Rs 2, each pen of Type B

at a profit of Rs 4, and each pen of Type C at a loss

of Rs 5 and made an overall profit of Rs 144; Ethan

sold each pen of Type A at a profit of Rs 5, each pen

of Type B at a loss of Rs 1, and each pen of Type C

at a profit of Rs 7 and made an overall profit of Rs.

13; and Farhan sold each pen of Type A at a profit of

Rs 3, each pen of Type B at a profit of Rs 4, and each

pen of Type C at a loss of Rs 6 and made an overall

profit of Rs 240.

Reason (R): Framing and solving the three possible

linear equations we will find that we get a unique

solution.

,d fo'ks"k fnu] nkfu'k] bZFku vkSj iQjgku esa ls çR;sd us viuh&viuh
nqdkuksa ls rhu çdkj ds isu cspsA nkfu'k vkSj bZFku us çdkj A ds
isu leku la[;k esa csps] tcfd iQjgku us nkfu'k vkSj bZFku çR;sd
}kjk csps x, çdkj A ds isu dh nksxquh la[;k esa çdkj A ds isu
cspsA nkfu'k] bZFku vkSj iQjgku }kjk csps x, çdkj B ds isuksa dh
la[;k dk vuqikr

Øe'k% 3 % 4 % 1 Fkk] vkSj bZFku vkSj iQjgku esa ls çR;sd us çdkj
C ds isu leku la[;k esa csps] tcfd nkfu'k us bZFku vkSj iQjgku
çR;sd }kjk csps x, çdkj C ds isu dh rhu xquh la[;k esa çdkj
C ds isu cspsA rhuksa foØsrkvksa us çR;sd çdkj ds isu dks çfr ;wfuV
vyx&vyx dherksa ij cspkA

vfHkdFku (A)% ;g laHko gS fd nkfu'k us çdkj A ds çR;sd isu
dks 2 #i;s dh gkfu ij] çdkj B ds çR;sd isu dks 4 #i;s ds
ykHk ij vkSj çdkj C ds çR;sd isu dks 5 #i;s dh gkfu ij cspk
vkSj dqy 144 #i;s dk ykHk vftZr fd;k_ bZFku us çdkj A ds
çR;sd isu dks 5 #i;s ds ykHk ij] çdkj B ds çR;sd isu dks 1
#i;s dh gkfu ij vkSj çdkj C ds çR;sd isu dks 7 #i;s ds ykHk
ij cspk vkSj dqy 13 #i;s dk ykHk vftZr fd;k_ vkSj iQjgku us
çdkj A ds çR;sd isu dks 3 #i;s ds ykHk ij] çdkj B ds çR;sd
isu dks 4 #i;s ds ykHk ij vkSj çdkj C ds çR;sd isu dks 6
#i;s dh gkfu ij cspk vkSj dqy 240 #i;s dk ykHk vftZr fd;kA

dkj.k (R)% rhu laHkkfor jSf•d lehdj.k cukus vkSj gy djus ij
ge ik,axs fd gesa ,d vf}rh; lek/ku feyrk gSA

IB ACIO GRADE II 17/01/2024 (Shift-03)

(a) Assertion (A) is true and Reason (R) is false./

vfHkdFku (A) lR; gS vkSj dkj.k (R) vlR; gSA

(b) Both Assertion (A) and Reason (R) are true but

Reason (R) is not a correct explanation of

Assertion (A)./vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSa
ysfdu dkj.k (R) vfHkdFku (A) dk lgh Li"Vhdj.k ugha gSA

(c) Both Assertion (A) and Reason (R) are true but

Reason (R) is a correct explanation of Assertion

(A)./vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSa vkSj dkj.k (R)

vfHkdFku (A) dk lgh Li"Vhdj.k gSA

(d) Assertion (A) is false and Reason (R) is true./

vfHkdFku (A) vlR; gS vkSj dkj.k (R) lR; gS
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17. Ravi and Rajiv decided to run a 960 m long race on a
track as long as the length of the race. Which of the
statement(s) below is (are) sufficient to conclude that
Rajiv ran at a speed of 10 m/s?

Statement 1: Ravi is allowed to start 5 seconds
before Rajiv started running.

Statement 2: Ravi ran at 8 m per second.

Statement 3: Rajiv caught up with Ravi with 
3

8
 of

the track length still to be covered.

jfo vkSj jktho us ml VªSd ij 960 m yach nkSM+ nkSM+us dk iQSlyk
fd;k ftldh yackbZ nkSM+ ds cjkcj FkhA uhps fn, x, dFkuksa esa ls
dkSu&lk@ls ;g fu"d"kZ fudkyus ds fy, i;kZIr gS (gSa) fd jktho
10 m/s dh pky ls nkSM+k Fkk\

dFku 1% jfo us] jktho ds nkSM+uk 'kq: djus ls 5 lsdaM igys
nkSM+uk 'kq: fd;kA

dFku 2% jfo 8 m çfr lsdaM dh pky ls nkSM+kA

dFku 3% VªSd dh yackbZ dk Hkkx 'ks"k jgus ds le; jktho] jfo ds

3

8
 cjkcj vk x;kA

IB ACIO GRADE II 17/01/2024 (Shift-03)

(a) Statements 1 and 3 taken together are sufficient./

dFku 1 vkSj 3 ,d lkFk ysus ij i;kZIr gSaA

(b) Even all the three statements taken together is

not sufficient./rhuksa dFku ,d lkFk ysus ij Hkh i;kZIr ugha gSaA

(c) All the three statements taken together is

sufficient./rhuksa dFku ,d lkFk ysus ij i;kZIr gSaA

(d) Statements 2 and 3 taken together are sufficient./

dFku 2 vkSj 3 ,d lkFk ysus ij i;kZIr gSaA

18. Find the positive square root of 92 24 6 4 2 

92 24 6 4 2   dk èkukRed oxZewy Kkr dhft,A

IB ACIO GRADE II 17/01/2024 (Shift-03)

(a) 6 2 2 (b) 6 2 2

(c) 8 4 2 (d) 8 2 2

19. The product of two co-prime numbers is 1073. Find

their L.C.M.

nks lg&vHkkT; la[;kvksa dk xq.kuiQy 1073 gSA mudk y?kqÙke
lekioR;Z Kkr djsaA

IB ACIO GRADE II 17/01/2024 (Shift-03)

(a) 29

(b) 1

(c) 1073

(d) 37

20. (x, y) is a pair of positive integers such that HCF (x,

y) + LCM (x, y) = 187 and x > y.

Which one of the following is correct in respect of

the Question and the Statements given below?

Statement 1: There are three possible values of HCF

(x, y).

Statement 2: The minimum value of (x + y) is 37.

Statement 3: There are 7 pairs of (x, y) that satisfy

the given conditions.

(x, y) /ukRed iw.kkZadksa dk ,d ;qXe bl çdkj gS fd HCF (x,

y) + LCM (x, y) = 187 gS] vkSj x > y gSA

mijksDr ç'u] rFkk uhps fn, x, dFkuksa ds laca/ esa fuEufyf•r esa
ls dkSu&lk fodYi lgh gS\

dFku 1% HCF (x, y) ds rhu laHkkfor eku gSaA

dFku 2% (x + y) dk U;wure eku 37 gSA

dFku 3% (x, y) ds 7 ;qXe gSa tks nh xbZ 'krks± dks iwjk djrs gSaA

IB ACIO GRADE II 17/01/2024 (Shift-03)

(a) Statement 1 is incorrect but Statements 2 and 3

are correct./dFku 1 vlR; gS ysfdu dFku 2 vkSj 3 lR; gSaA

(b) Only Statements 1 and 2 are correct./dsoy dFku 1
vkSj 2 lR; gSaA

(c) Statements 1 and 3 are correct but Statement 2

is incorrect./dFku 1 vkSj 3 lR; gSa ysfdu dFku 2 vlR; gSA

(d) All three statements are correct./rhuksa dFku lR; gSaA

1.(a) 2.(a) 3.(d) 4.(c) 5.(b) 6.(c) 7.(a) 8.(b) 9.(b) 10.(c)

11.(a) 12.(c) 13.(b) 14.(c) 15.(c) 16.(d) 17.(b) 18.(a) 19.(c) 20.(d)

ANSWER KEY
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SOLUTIONSSOLUTIONS
1. (a)

L.C.M of 5, 2, 8 is 40

BA C

711 15

25 8
4 months

8 months

88

143

140

140

75

75

(62.5% =
5

8
)

A's share = (88 × 4) + (143 × 8)

= 1496

B's share = 12 × 140 = 1680

C's share = 12 × 75 = 900

 A's share of profit 
138584

4076
 × 1496 = Rs. 50864

2. (a)

N wagons 


1
 = new speed 

Speed = 

Statement I: N = 0

Statement II: ( – 1)  
1

2(N)

 – 1 = 50 – 38 = 12 = 16x

12 = 4x

 x = 3

Now, from question:-

50 – 14 = 36 N= x

36
N

3
 =

= 12 N=

= N = 144, which is true.

3. (d)

A.T.Q,

157%   942

100%  
942

100
157



= 600

4. (c)

Let, he invested Rs. P

Then,

P 14 2 P 20 2

100 100

   
  = 9520

 68P = 952000

 P = Rs. 14000

5. (b)

Required time

Express speed Stoppage speed

Express speed
60




152 –144
 

152
 × 60 = 15 min.

6. (c)

Let, the numbers be A and B

A.T.Q,

A² + B² = 545

(A – B)² = 1

 A – B = 1

 (A – B)² = A² + B² – 2 AB

 1 = 545 – 2AB

AB 
544

2
  = 272

7. (a)

Let, x ltr. of water is added.

A.T.Q,

Milk 
60 40

60
100 100

   × (60 + x)

 x = 30 ltr.

8. (b)

A : B : C

Price 99 120 144

Quantity 9 2 1 12



 

C.P = 891 + 240 + 144

= 1275 for 12 kg. (say)

C.P per kg. 
1275

12
  = Rs. 106.25

S.P 
5

6
  × 178.50

= Rs. 148.75

 Profit% 
148.75 –106.25

106.25
 × 100

= 40%

 y = 40
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9. (b)

Given,

35M + 49W  84 days

48M + 84W  56 days

Then,

84(35M + 49W) = 56(48M + 84W)

 105M + 147W = 96M + 168W

 9M = 21W

M 7
 
W 3

 

Total work = (35 × 7 + 49 × 3) × 84

= 392 × 84 = 32928

work done by 30 men and 21 women

Efficiency = 30 × 7 + 21 × 3 = 273

Time 32928
= 

273

8
120

13
  days

10. (c)

P I

Investment 77000 84000

Profit 11 : 12

Profit ratio = Investment ratio

11. (a)

Given,
C 19

S 11


+8

Then,

8 units  160

19 units  380

 Price of cream = Rs. 380

12. (c)

We know,

Principle 1 1

2

A A

A




8640 8640

12441.6




= Rs. 6000

13. (b)

A D CP same

P% y%

–q% z % SP same



 

 

We know, effective % = 
ab

a b
100

 
   
 

%

Statment I:  p q y z

25 8 20 43.75

Eff. of A% = 25 – 8 – 
200

100
 = 15%

Eff.% of D = 43.75 – 20 – 
43.75 20

100



= 15% Hence, same

Statment II:  p q y z

35 20 10 20

Eff.% of A = 35 – 20 – 
35 20

100


 = 8%

Eff.% of D = – 10 + 20 – 
200

100
 = 8%

Hence, both statements are true

14. (c)

CP =
22

25
 (for 1 article)

SP = 
25

22
 (for 1 article)

25 22
–

22 25P% 100
22

25

 

141 25
100

25 22 22
  


= 29.13%

'OR'

Number Price

25×25

25×22

Rs. 22×22

  
= 484

Rs. 25×25

  
= 625

+141

 P% 
141

484
  × 100 = 29.1%

15. (c)

Salt Price

A – 12.5% Rs. 22

B – 27.5% Rs. 38.50

C – 30% Rs. 165







Mixture B can be formed by mixing A and C

12.5

2.5

1

30

15

6

:

:

27.5

Then, cost will also be in same ratio

Let, salt of 30% last mixture be Rs. x per ltr.

Then,

Cost 22

Ratio 1 : 6

x

Avg.  
22 6 77

7 2




x

 12x = 539 – 44 = 495

495 165
  = 

12 4
 x

Then, amount 
165
165

4

  = 4 g ltr.
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16. (d)

D E F

A 4

B 3y 4y y

C 6z z z

x x x

A B C

6 8y 8z

3 4 4z

x

x y

A.T.Q,

–2x + 12y – 30z = 144 ....(I)

5x – 4y + 7z = 13 ....(II)

12x + 4y – 6z = 240 ....(III)

(II) + (III)

 17x + z = 253 ....(IV)

(I) + (II) × 3

 13x – 9z = 183 ....(V)

From (IV) and (V)

166x = 2094

1047
  = 

83
 x

 Though, it has unique solution but is not the re-

quired answer

 Assertion is false but reason is true

17. (b)

Ravi

Rajiv

960

Statement I and II:

Relative distance = 8 × 5 = 40 mtr.

Statement III:

Rajiv meet Ravi at
5

8
× 960 = 600 mtr.

Then, speed of Rajiv = Rs.

Time after which Ravi is caught 
600 – 40

8
  = 70 sec.

 Speed of Rajiv 
600 60

70 7
   m/s

 no combination of given statements can conclude

that. speed of Rajiv is low/sec

18. (a)

A = 92 – 24 6 – 4 2

= 92 – 24 2² 2² – 2 2 2 

= 92 – 24 (2 – 2 )

= 92 – 48 + 24 2

= 44 + 24 2

= 6² + (2 2 )² + (2 × 6 × 2 2 )

= (6 + 2 2 )²

Hence, A  = 6 + 2 2

19. (c)

Given,

A × B = 1073

Also, HCF (A, B) = 1 (co-prime)

Then, LCM × HCF = A × B

 LCM = 1073

20. (d)

HCF (x, y) + LCM (x, y) = 187

Statement I: HCF (x, y) = 3 values

Statement II: min value of (x + y) = 37

Statement III: and (x
1
, y

1
)  7 pairs

Let, HCF (x, y) = d

x = dx
1

y = dy
1

and HCF (x
1
, y

1
) = 1

also, LCM = dx
1 
y

1

Now,

d + dx
1
 y

1
 = 187

d(1 + x
1
 y

1
) = 11 × 17

d = 1, 11, 17

So, statement I true

Now,

d

1+  y1x 1

x  y1 1 186

11

17

16

17

11

10

2 × 3 × 31

x1

x1 x1

y1

y1 y1

  31
93




62
186

6
2
3
1

1 16 10
5

1
2

1

187

cleary, min value of (x + y) = (31 + 6) = 37 and (x
1
 y

1
)  7

values hence, all statements. are correct
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Intelligence Bureau
[kqfiQ;k foHkkx
India Hkkjr

IB ACIO GRADE II
04

17/01/2024 (Shift-04)

1. The average of 11 numbers is 44.5. If the average of

the first six numbers is 42.5 and that of the last six

numbers is 45, then find the middle number.

11 la[;kvksa dk vkSlr 44-5 gSA ;fn igyh Ng la[;kvksa dk vkSlr
42-5 gS vkSj vafre Ng la[;kvksa dk vkSlr 45 gS] rks eè; la[;k
Kkr djsaA

IB ACIO GRADE II 17/01/2024 (Shift-04)

(a) 29.5 (b) 35.5

(c) 33.5 (d) 38.5

2. Ravi and Rajiv decided to run a 960 m long race on a

track as long as the length of the race.

Which of the statement(s) below is (are) sufficient

to conclude that Rajiv ran at a speed of 10 m/s?

Statement 1: Rajiv gave Ravi an 80 m head start

Statement 2: Ravi ran at 8 m per second.

Statement 3: Rajiv caught up with Ravi with 
3

8
of the

track length still to be covered.

jfo vkSj jktho us ,d VªSd ij 960 m yach nkSM+ nkSM+us dk iQSlyk
fd;k ftldh yackbZ nkSM+ ds cjkcj FkhA uhps fn;k x;k dkSu&lk@ls
dFku ;g fu"d"kZ fudkyus ds fy, i;kZIr gS fd jktho 10 m/s

dh pky ls nkSM+k Fkk\

dFku 1% jfo] jktho ls 80 m vkxs ls nkSM+kA

dFku 2% jfo 8 m çfr lsdaM dh pky ls nkSM+kA

dFku 3% VªSd dh yackbZ dk 
3

8
 Hkkx 'ks"k jgus ds le; jktho]

jfo ds cjkcj vk x;kA

IB ACIO GRADE II 17/01/2024 (Shift-04)

(a) Even all the three statements taken together is

not sufficient./rhuksa dFku ,d lkFk ysus ij Hkh i;kZIr ugha
gSaA

(b) Statements 1 and 3 taken together are sufficient./

dFku 1 vkSj 3 ,d lkFk ysus ij i;kZIr gSaA

(c) Statements 2 and 3 taken together are sufficient./

dFku 2 vkSj 3 ,d lkFk ysus ij i;kZIr gSaA

(d) All the three statements taken together is

sufficient./rhuksa dFku ,d lkFk ysus ij i;kZIr gSaA

3. A train 348 m long is running at a speed of 36 km/

hr. It crosses a bridge in 50 seconds. What is the

length of the bridge?

348 ehVj yach ,d jsyxkM+h 36 fdeh@?kaVk dh xfr ls py jgh gSA
;g ,d iqy dks 50 lsdaM esa ikj djrh gSA iqy dh yackbZ fdruh gS\

IB ACIO GRADE II 17/01/2024 (Shift-04)

(a) 152 m/ehVj

(b) 146 m/ehVj

(c) 176 m/ehVj

(d) 103 m/ehVj

4. A shopkeeper buys three varieties of pulses at Rs

132, Rs 160 and Rs y per kg respectively and mixes

them in the ratio 9 : 2 : 1. The marked price per kg

of the blended pulses is fixed at Rs 238, the

shopkeeper gives a discount equal to 
1

6
 of the

marked price and still earns a profit of 40%. What is

the value of y?

,d nqdkunkj us rhu çdkj dh nkysa Øe'k% 132 #i;s] 160 #i;s
vkSj y #i;s çfr fdxzk dh nj ls •jhnha vkSj mUgsa 9 % 2%  1 ds
vuqikr esa fefJr fd;kA fefJr nkyksa dk çfr fdxzk vafdr ewY;

238 #i;s fu/kZfjr fd;k x;k] nqdkunkj vafdr ewY; ds 
1

6
 ds

cjkcj NwV nsrk gS vkSj fiQj Hkh 40» dk ykHk vftZr djrk gSA y

dk eku fdruk gksxk\

IB ACIO GRADE II 17/01/2024 (Shift-04)

(a) 192 (b) 200

(c) 184 (d) 196

5. Akash and Dinesh started a business investing
Rs.17,500 and Rs.35,000 respectively. At the end of
the year, the total profit was Rs.9900. Find the share

of Dinesh.

vkdk'k vkSj fnus'k us Øe'k% 17]500 #i;s vkSj 35]000 #i;s dk
fuos'k djds ,d O;olk; 'kq: fd;kA o"kZ ds var esa dqy ykHk
9900 #i;s FkkA fnus'k dk fgLlk Kkr djsaA

IB ACIO GRADE II 17/01/2024 (Shift-04)

(a) Rs.6000

(b) Rs.6600

(c) Rs.5500

(d) Rs.5600
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6. A, B and C enter a partnership with initial

investments in the ratio
11

5
:

7

2
:
15

8
. After 4 months

A raises her share of investment by p%. If the total

profit after 12 months since the beginning of the

partnership is Rs. 138584, and A gets Rs. 50864 as

her share of profit, what is the value of p?

A, B vkSj C us 
11 7 15

: :
5 2 8

 ds vuqikr esa vkjafHkd fuos'k ds

lkFk lk>snkjh dhA 4 ekg ckn A us vius fuos'k ds Hkkx dks p%

c<+k fn;kA ;fn lk>snkjh dh 'kq#vkr ls 12 ekg ds ckn dqy ykHk
138584 #i;s gqvk gks] rks A dks ykHk ds :i esa 50864 #i;s feyk
gks] rks p dk eku fdruk gksxk\

IB ACIO GRADE II 17/01/2024 (Shift-04)

(a) 60 (b) 75

(c) 62.5 (d) 67.5

7. On a particular day each of Danish, Ethan and

Farhan sold three types of pens from their respective

shops. Danish and Ethan sold an identical number

of pens of Type A while Farhan sold
3

2
times as many

pens of Type A as Danish and Ethan together sold.

The ratio of the numbers of pens of Type B sold by

Danish, Ethan and Farhan was 4 : 3 : 1 respectively,

and Danish and Farhan sold an identical number of

pens of Type C each, while Ethan sold
5

2
 as many

pens of Type C as each of Danish and Farhan sold.

The three sellers sold each of the types of pens at

different prices per unit.

Assertion (A): It is possible that Danish sold each

pen of Type A at a loss of Rs 1, each pen of Type B

at a profit of Rs 5, and each pen of Type C at a loss

of Rs 3 and made an overall profit of Rs 114; Ethan

sold each pen of Type A at a profit of Rs 4, each pen

of Type B at a loss of Rs 3, and each pen of Type C

at a profit of Rs 5 and made an overall profit of Rs

267; and Farhan sold each pen of Type A at a profit

of Rs 8, each pen of Type B at a profit of Rs 5, and

each pen of Type C at a loss of Rs 7 and made an

overall profit of Rs 60.

Reason (R): Framing and solving the three possible linear

equations we will find that we get a unique solution.

,d fo'ks"k fnu nkfu'k] bZFku vkSj iQjgku esa ls çR;sd us viuh&viuh
nqdkuksa ls rhu çdkj ds isu cspsA nkfu'k vkSj bZFku us çdkj A ds
isu leku la[;k esa csps] tcfd nkfu'k vkSj bZFku us feydj çdkj
A okys ftrus isu csps Fks] iQjgku us mldh rqyuk esa 3@2 xquk çdkj
A ds isu cspsA nkfu'k] bZFku vkSj iQjgku }kjk csps x, çdkj B ds
isuksa dh la[;k dk vuqikr Øe'k% 4 % 3 % 1 Fkk] vkSj nkfu'k vkSj
iQjgku esa ls çR;sd us çdkj C ds isu leku la[;k esa csps] tcfd
nkfu'k vkSj iQjgku esa ls çR;sd }kjk csps x, çdkj C ds isuksa dh
rqyuk esa bZFku us 5@2 xquk çdkj C ds isu cspsA rhuksa foØsrkvksa us

çR;sd çdkj ds isu dks çfr ;wfuV vyx&vyx dherksa ij cspkA

vfHkdFku (A)% ;g laHko gS fd nkfu'k us çdkj A ds çR;sd isu
dks 1 #i;s dh gkfu ij] çdkj B ds çR;sd isu dks 5 #i;s ds
ykHk ij vkSj çdkj C ds çR;sd isu dks 3 #i;s dh gkfu ij cspk
vkSj dqy 114 #i;s dk ykHk vftZr fd;k_ bZFku us çdkj A ds
çR;sd isu dks 4 #i;s ds ykHk ij] çdkj B ds çR;sd isu dks 3
#i;s dh gkfu ij vkSj çdkj C ds çR;sd isu dks 5 #i;s ds ykHk
ij cspk vkSj dqy 267 #i;s dk ykHk vftZr fd;k_ vkSj iQjgku us
çdkj A ds çR;sd isu dks 8 #i;s ds ykHk ij] çdkj B ds çR;sd
isu dks 5 #i;s ds ykHk ij vkSj çdkj C ds çR;sd isu dks 7
#i;s dh gkfu ij cspk vkSj dqy 60 #i;s dk ykHk vftZr fd;kA

dkj.k (R)% rhu laHkkfor jSf•d lehdj.k cukus vkSj gy djus ij
ge ik,axs fd gesa ,d vf}rh; lek/ku feyrk gSA

IB ACIO GRADE II 17/01/2024 (Shift-04)

(a) Assertion (A) is true and Reason (R) is false./

vfHkdFku (A) lR; gS vkSj dkj.k (R) vlR; gSA
(b) Both Assertion (A) and Reason (R) are true but

Reason (R) is not a correct explanation of

Assertion (A)./vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSa
ysfdu dkj.k (R) vfHkdFku (A) dk lgh Li"Vhdj.k ugha gSA

(c) Assertion (A) is false and Reason (R) is true./

vfHkdFku (A) vlR; gS vkSj dkj.k (R) lR; gSA
(d) Both Assertion (A) and Reason (R) are true and

Reason (R) is a correct explanation of Assertion

(A)./vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSa vkSj dkj.k (R)

vfHkdFku (A) dk lgh Li"Vhdj.k gSA

8. Find the positive square root of 207 54 6 4 2 

207 54 6 4 2   dk èkukRed oxZewy Kkr dhft,A

IB ACIO GRADE II 17/01/2024 (Shift-04)

(a) 9 3 3 (b) 9 3 2

(c) 9 2 2 (d) 9 2 3

9. From a cask filled with 867 litres of wine, y litres are

first drawn and replaced with water. After the first

replacement the ratio of wine and water in the cask,

when expressed in the lowest form, is given as a : b.

From this mixture y litres are drawn and replaced with

water. The ratio of wine to water in the cask after the

second replacement, when expressed in the lowest

form, is given 169:120. Find the value of (y + a + b).

867 yhVj okbZu ls Hkjs ,d ihis ls] igys y yhVj okbZu fudkyh
xbZ vkSj mls ikuh ls çfrLFkkfir fd;k x;kA çFke çfrLFkkiu ds ckn
ihis esa okbZu vkSj ikuh dk fuEure :i esa O;ÙkQ vuqikr a : b gSA
bl feJ.k ls y yhVj fudkyk x;k vkSj mlds LFkku ij ikuh
feyk;k x;kA nwljs çfrLFkkiu ds ckn ihis esa okbZu vkSj ikuh dk
fuEure :i esa O;Dr vuqikr 169 % 120 gSA (y + a + b) dk eku
Kkr dhft,A

IB ACIO GRADE II 17/01/2024 (Shift-04)

(a) 224 (b) 220

(c) 222 (d) 221
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10. P and Q can do a job in 90 days, Q and R can do it

in 112.5 days, while P and R can do it in 150 days. X

is five times as efficient as P, Y is two-thirds as

efficient as Q, and Z is 2.5 times as efficient as R.

Determine the number of days required to complete

the same job if X, Y and Z work together.

P vkSj Q ,d dk;Z dks 90 fnuksa esa dj ldrs gSa] Q vkSj R bls
112-5 fnuksa esa dj ldrs gSa] tcfd P vkSj R bls 150 fnuksa esa
dj ldrs gSaA P dh rqyuk esa X] ikap xquk dq'ky gS] Q dh rqyuk
esa Y] nks&frgkbZ dq'ky gS] vkSj R dh rqyuk esa Z] 2-5 xquk dq'ky
gSA ;fn X, Y vkSj Z ,d lkFk dk;Z djrs gSa rks ml dk;Z dks iwjk
djus ds fy, vko';d fnuksa dh la[;k Kkr dhft,A

IB ACIO GRADE II 17/01/2024 (Shift-04)

(a)
3

31
29

(b)
1

31
29

(c)
28

30
29

(d)
2

31
29

11. In an election, Candidate A received 27% of the

votes, and Candidate B received 73% of the votes. If

the difference in their votes was 1380, find the total

number of votes.

,d pquko esa] mEehnokj A dks 27 çfr'kr er feys] vkSj mEehnokj
B dks 73 çfr'kr er feysA ;fn muds erksa dk varj 1380 Fkk] rks
dqy erksa dh la[;k Kkr djsaA

IB ACIO GRADE II 17/01/2024 (Shift-04)

(a) 2500 (b) 3000

(c) 2900 (d) 3700

12. On the sale of a certain item a shopkeeper offered

two successive discounts such that in percentage

terms the second discount was only 
1

n
th of the first.

If the overall discount was p% of the marked price

of the item, then the selling price of the item after

applying only the first discount was Rs y and the

marked price of the item was Rs x.

Which one of the following is correct in respect of

the Question and the Statements given below?

Statement 1: The values of n, p, y and x are

respectively given as 3, 15.52, 8900 and 10000.

Statement 2: The values of n, p, y and x are

respectively given as 4, 21.69, 12730 and 15500

,d fo'ks"k oLrq dh fcØh ij ,d nqdkunkj us nks Øfed NwV bl
çdkj çLrkfor dh fd çfr'kr ds lanHkZ esa nwljh NwV] igyh NwV dk

dsoy 
1

n
ok¡ Hkkx FkhA ;fn dqy NwV] oLrq ds vafdr ewY; dk p%

Fkh] rks dsoy igyh NwV ykxw djus ds ckn oLrq dk foØ; ewY; y

#i;s Fkk vkSj oLrq dk vafdr ewY; x #i;s FkkA

mijksDr ç'u] rFkk uhps fn, x, dFkuksa ds laca/ esa fuEufyf•r esa
ls dkSu&lk fodYi lR; gS\

dFku 1% n, p, y vkSj x ds eku Øe'k% 3] 15-52] 8900 vkSj
10000 gSaA

dFku 2% n, p, y vkSj x ds eku Øe'k% 4] 21-69] 12730 vkSj
15500 gSaA

IB ACIO GRADE II 17/01/2024 (Shift-04)

(a) Only Statement 2 is feasible./dsoy dFku 2 laHko gSA

(b) Only Statement 1 is feasible./dsoy dFku 1 laHko gSA

(c) Neither of the two statements is feasible./nksuksa esa
ls dksbZ Hkh dFku laHko ugha gSA

(d) Both Statements are feasible./nksuksa dFku laHko gSaA

13. The Product of two whole numbers is 1083 and their

HCF is 19. Find the LCM.

nks iw.kZ la[;kvksa dk xq.kuiQy 1083 gS vkSj mudk egÙke lekiorZd
19 gSA y?kqÙke lekioR;Z Kkr djsaA

IB ACIO GRADE II 17/01/2024 (Shift-04)

(a) 57 (b) 19

(c) 1083 (d) 38

14. If w
1
 is the weight with cargo of a ship of length l

1
,

and w
2
 and w

3
 are the corresponding weights of ships

having lengths l
2
 and l

3
 respectively, then

     21 3
2 3 3 1 1 22 2 2

1 2 3

ww w
0

    
          

    
l l l l l l

l l l

Which one of the following is correct in respect of

the Question and the Statements given below?

Statement 1: The weight of an empty ship varies as

the square of the length of the ship.

Statement 2: The weight of the ship's cargo varies

as the cube of the length of the ship.

Statement 3: The weight of the ship with cargo varies

as the sixth power of the length of the ship.

;fn l
1
 yackbZ okys ,d tgkt dk] dkxkZs ds lkFk Hkkj w

1
, w

2
 vkSj

w
3
 Øe'k% l

2
 vkSj l

3
 yackb;ksa okys tgktksa ds Hkkj ds cjkcj gS] rks

     21 3
2 3 3 1 1 22 2 2

1 2 3

ww w
0l l l l l l

l l l

    
          

    

mijksÙkQ ç'u] rFkk uhps fn, x, dFkuksa ds laca/ esa fuEufyf•r esa
esa ls dkSu&lk fodYi lR; gS\

dFku 1% ,d •kyh tgkt dk Hkkj tgkt dh yackbZ ds oxZ ds
vuqlkj ifjorZuh; gksrk gSA

dFku 2% tgkt ds dkxkZs dk Hkkj] tgkt dh yackbZ ds ?ku ds
vuqlkj ifjorZuh; gksrk gSA

dFku 3% dkxkZs lfgr tgkt dk Hkkj] tgkt dh yackbZ dh ?kkr Ng
ds vuqlkj ifjorZuh; gksrk gSA

IB ACIO GRADE II 17/01/2024 (Shift-04)
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(a) Statement 1 and Statement 3 taken together are

sufficient./dFku 1 vkSj dFku 3 ,d lkFk ysus ij i;kZIr gSaA

(b) All the three statements together need to be true

for sufficiency./rhuksa dFku ,d lkFk ysus ij i;kZIr gSaA

(c) Statement 1 and Statement 2 taken together are

sufficient./dFku 1 vkSj dFku 2 ,d lkFk ysus ij i;kZIr gSaA

(d) Statement 2 and Statement 3 taken together are

sufficient./dFku 2 vkSj dFku 3 ,d lkFk ysus ij i;kZIr gSaA

15. If the radius of a circle is decreased by 15%. By what

percent area of the circle decrease?

;fn fdlh oÙ̀k dh f=kT;k 15 çfr'kr ls de dh tkrh gSA oÙ̀k dk
{ks=kiQy fdrus çfr'kr ls de gks tkrk gS\

IB ACIO GRADE II 17/01/2024 (Shift-04)

(a) 35.5% (b) 27.75%

(c) 25.25% (d) 20.5%

16. Daya is 5 times as old as his son. Six years hence
the sum of their ages will be 72 years. What is the

present age of Daya's son?

n;k dh vk;q mlds iq=k ls 5 xquk gSA Ng o"kZ ckn mudh vk;q dk
;ksx 72 o"kZ gksxkA n;k ds iq=k dh orZeku vk;q D;k gS\

IB ACIO GRADE II 17/01/2024 (Shift-04)

(a) 8 years/o"kZ (b) 10 years/o"kZ

(c) 5 years/o"kZ (d) 13 years/o"kZ

17. Find the difference between CI and SI on Rs.28,000,

at 20% per annum, compounded half-yearly for 1 year.

28]000 #i;s ij 20 çfr'kr çfr o"kZ dh nj ls] 1 o"kZ ds fy,
v/Z&okf"kZd :i ls pØo`f¼  C;kt vkSj lk/kj.k C;kt ds chp
varj Kkr djsaA

IB ACIO GRADE II 17/01/2024 (Shift-04)

(a) Rs.250 (b) Rs.270

(c) Rs.280 (d) Rs.300

18. A certain sum of money amounts to 13/5 of itself in
10 years on simple interest. What is the rate of

interest per annum?

,d fuf'pr /ujkf'k 10 o"kks± esa vius vki dk 13@5 gks tkrh gSA
çfr o"kZ C;kt nj D;k gS\

IB ACIO GRADE II 17/01/2024 (Shift-04)

(a) 16% (b) 17%

(c) 15% (d) 18%

19. (x, y) is a pair of positive integers such that LCM (x,

y) – HCF (x, y) = 143 and x > y.

Which one of the following is correct in respect of

the Question and the Statements given below?

Statement 1: There are three possible values of HCF

(x, y).

Statement 2: The minimum value of (x – y) is 7.

Statement 3: There are 6 pairs of (x, y) that satisfy

the given conditions.

(x, y) /ukRed iw.kkZadksa dk ,d ;qXe bl çdkj gS fd LCM (x,

y) – HCF (x, y) = 143 gS] vkSj x > y gSA

mijksÙkQ ç'u] rFkk uhps fn, x, dFkuksa ds laca/ esa fuEufyf•r esa
ls dkSu&lk lR; gS\

dFku 1% HCF (x, y) ds rhu laHkkfor eku gSaA

dFku 2% (x – y) dk U;wure eku 7 gSA

dFku 3% (x, y) ds 6 ;qXe gSa tks nh xbZ 'krks± dks iwjk djrs gSaA

IB ACIO GRADE II 17/01/2024 (Shift-04)

(a) Only Statements 1 and 2 are correct./dsoy dFku 1
vkSj 2 lR; gSaA

(b) All three statements are correct./rhuksa dFku lR; gSaA

(c) Statements 1 and 3 are correct but Statement 2

is incorrect./dFku 1 vkSj 3 lR; gSa ysfdu dFku 2 vlR; gSA

(d) Statement 1 is incorrect but Statements 2 and 3

are correct./dFku 1 vlR; gS ysfdu dFku 2 vkSj 3 lR; gSaA

20. An item costing 1640 is being sold at a 15% loss. If

the price is further reduced by 40%, then find the

selling price.

1640 #i;s dh ykxr okyh ,d oLrq 15 çfr'kr gkfu ij csph tk
jgh gSA ;fn dher dks vkSj 40 çfr'kr ls de fd;k tkrk gS] rks
foØ; ewY; Kkr djsaA

IB ACIO GRADE II 17/01/2024 (Shift-04)

(a) Rs.1073.2

(b) Rs.836.4

(c) Rs.756.2

(d) Rs.665.8

1.(b) 2.(a) 3.(a) 4.(a) 5.(b) 6.(c) 7.(b) 8.(b) 9.(d) 10.(b)

11.(b) 12.(c) 13.(a) 14.(c) 15.(b) 16.(b) 17.(c) 18.(a) 19.(d) 20.(b)

ANSWER KEY
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SOLUTIONSSOLUTIONS
1. (b)

Middle numbers = (6 × 42.5) + 6(45) – (11 × 44.5)

= 525 – 489.5 = 35.5

Alternate Method:

11 44.5

6 42.5

6 45

–2×6

+0.5×6

Avg.

Net deviation = – 12 + 3 = –9

Middle number = 44.5 – 9 = 35.5

2. (a)

Ravi

Rajiv

960 m

Statement I:

RaviRajiv

88080

Statement II:

R
s
 = Ravi speed = 8m/s

Statement III:

520 36080

Relative distance = 80 mtr. time by ravi = 
520

8
 = 65

sec.

ATQ,

Speed of Rajiv = 
600

65
  10 m/s

 No statement support the fact that speed Rajiv is

10 m/s

3. (a)

We know,

Length of bridge + Length of train = Speed × time

L
b
 + 348 = 36 × 

5

18
× 50

L
B
 = 500 – 348 = 152m

4. (a)

 A   B       C

Price     132        160     y

Quantity    9   :    2   :   1   = 12

Cost = 
1188 320 y

12

 
= 

1508 y

12



Now, MP = 238

SP = 
5

238
6


Also, Profit = 40% =
7

5

 
5

6
× 238 =

7

5
×

(1508 y)

12



1700 = 1508 + y

y = 192

5. (b)

 A  D

Investment  17500  35000

Ratio  1  :  2

Dinesh share = 
2

3
 × 9900

= Rs.6600

6. (c)

 A    B  C

Investment 
11

5

7

2

15

8

  88   :   140   :  75

A's share = (88 × 4) + 88 × 8 × 
100 P

100

 
 
 

= 352 +7.04

(100 + P)

B's share = 140 × 12

C's share = 75 × 12

Now,

(B + C)'s share = 138584 – 50864 = 87720

 
A

B C
= 

352 7.04(100 P)

215 12

 



= 
50864

87720

352 + 704 + 7.04P = 1496

P = 
440

7.04
= 62.5%
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7. (c)

D E F

A 3

B 4y 3y y

C z 5z z

x x x

A B C

5 8y 7zx

 
 
 

  Total

ATQ,

–x + 20y – 3z = 114...(I)

4x – 9y + 25z = 267 ...(II)

24x + 5y – 7z = 60 ...(III)

Equation (I) × 4 + (II)

71y + 13z = 723 ...(IV)

Equation (II) × 6 – (III)

59y + 157z = 1542 ...(V)

Now, from (IV) and (V)

4189y + 767z = 42657

– 4189y + 11147z = 109482

11914z = 152139

z =
152139

11914

Hence, though above equation have unique solution

but is not giving the required solution.

 Assertion is false but reason is true.

8. (b)

A = 207 – 54 6 4 2

= 207 – 2 254 2 ( 2) 2 2 2  

= 207 – 54  2 2

= 207 – 108 – 54 2

= 99 –54 2

= 9² + (3 2 )2 – 2 × 9 × 3 2

A = (9 – 3 2 )2

 A = 9 – 3 2

9. (d)

Wine a : b 169 : 120

867

–y

–y

Finally, 
Wine 169

Total 289


We know, that same activity has been repeated twice

then, for same multiplicating factor (MF)

[(Wine quantity left) in ratio wrt. total quantity] = MF

× MF = 
169

289

(MF)2 =

2
13

17

 
 
 

MF = 
13 Wine

17 Total



Wine 13

Water 4
  [after I step]


a 13

b 4
 ...(1)

Also,

y = 867 × 
4

17
 = 204

 y + a + b = 204 + 13 + 4

= 221

10. (b)

P + Q  90

Q + R  
225

2

P + R  150

5

4

3

9 × 25 × 2 

 = 450 units

Efficiency of R = 
(4 3 – 5)

2


=1

Efficiency of Q = 
(5 4 – 3)

2


= 3

Efficiency of P = 
(5 3 – 4)

2


= 2

Now,

P     Q    R  X  Y  Z

2     3     1      10     2 
5

2

4  :  6  :  2   :  20  :  4   :   5

Required time = 
450 2

20 4 5



 

=
450 2

29


= 

900

29
=

1
31

29

11. (b)

A B

27% 73%

46%
ATQ,

46 units  1380

100 units  
1380

46
× 100 = 3000

         BACK TO INDEX
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12. (c)

Given

D
2
 = 

1

n
D

1

Effective D = p%

also, MP × D
1
 = y    (MP = x)

Statement -I:

n        p          y           x

3  15.52  8900  10,000

Discount (MP – SP) = 1100

then, D
1
= 

1100

10000
 × 100 = 11%

D
2
 = 

11

3

p = D
1
 + D

2
 – 

1 2D D

100



= 
44

3
–

121

300
  15.52

Statement-II

D
1
 = 15500 – 12730 = 2770

 D
1
% = 

2770

15500
 × 100 = 17.87  18%

then, D
2
 = 

18

4
 = 4.5

p = 22.5 – 
81

100
  21.69

Hence, both statement are incorrect.

13. (a)

A × B = 1083

HCF (A, B) = 19

then,

A × B = HCF × LCM

1083 = 19 × LCM

 LCM = 57

14. (c)

1

2
1

w

l  (l
2
 – l

3
) +

2

2
2

w

l  (l
3
 – l

1
) +

3

2
3

w

l  (l
1
 – l

2
) = 0  ...(A)

w
1
  Ship

1
 + cargo = a

1
 + b

1

w
2
  Ship

2
 + cargo = a

2
 + b

2

w
3
  Ship

3
 + cargo = a

3
 + b

3

also,

a  l ²  statement I ...(1)

b  l 3  statement II ...(2)

w  l 6  statement III ...(3)

From (1) and (2)

3

6

a ²

b

w




 

 

l

l

l

 Putting these values in equation (A)

3
1

2
1

( ² ) 


l l

l
(l

2
 – l

3
) + 

2 3
2 2

2
2

( ) l l

l

(l
3
 – l

1
) + 

2 3
3 2

2
3

( ) l l

l
(l

1
 – l

2
) = 0

(l
2
 – l

3
) + (l

1
l
2
 – l

1
l
3
) + (l

3
 – l

1
) + (l

2
l
3
 – l

2
l
1
) +

(l
1
 – l

2
) + (l

3
l
1
 – l

3
l
2
)

= l
2
 – l

3
 + l

1
l
3
 – l

1
l
3
 + l

3
 – l

1
 + l

2
l
3
 – l

2
l
1
 + l

1
 –

l
2
 + l

3
l
1
 – l

3
l
2
 = 0

Which is true

So, only statement I and II taken  together are

sufficient to answer.

15. (b) 15% 
3

20


Old New

Radius 20 17

A  (Radius)² 400 289

 Required% 
400 – 289

100
400

 

111

4
  = 27.75%

16. (b)

Let present age  of daya's son = S

Given,

D = 5S

A.T.Q,

D + 6 + S + 6 = 72

 D + S = 60

 S = 10 years

17. (c)

SI = 28000 × 
20

100

= 5600

CI  Eff. rate = 10 + 10 + 
100

100

= 21%

CI = 
21

100
 × 28000 = 5880

 Difference = Rs. 280
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Alternate Method:

Eff. SI rate = 20%

Eff. CI rate = 21%

Then,

Difference = 1% of Principal

28000

100
 × 1 = Rs. 280

18. (a)

Amount
13

P
5



13
SI = P–1

5

 
   

 
 

8
P

5


A.T.Q,

8 P 10 R
P

5 100

 
 

 R = 16%

19. (d)

Let,

hcf (x
1
, y

1
) = d

x = dx
1

y = dy
1

 x
1
 and y

1 
are co-prime

 hcf (x
1
, y

1
) = 1

and LCM (x, y) = dx
1
y

1

LCM (x, y) – HCF (x, y) = 143

Then,

dx
1
y

1
 – d = 143

d(x
1
 y

1
 – 1) = 143 = 11 × 13

d 1 13 11 143

x y   14411× 12 14 2

x1

144

16

x1

12

4

x1

14

7

2y1

1

9

y1

1

3

y1

1

2

1

d has 4 possible values

 (x
1
, y

1
) 7 possible values

min. value of (x – y) = 16 – 9 = 7

Hence,

Options (d) is correct

20. (b)

1

1640
SP 85

100
 

2

3 1640
SP 85

5 100
  

= Rs. 836.4
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Intelligence Bureau
[kqfiQ;k foHkkx
India Hkkjr

IB ACIO GRADE II
05

18/01/2024 (Shift-01)

1. A and B together can complete a certain work in 54

days. They work together for 12 days. The remaining

work was completed by A, B and C together in 28 days.

If the work done by B in 6 days is equal to the work

done by C in 9 days, then A alone can complete two-

thirds of the work in ___days.

A vkSj B feydj fdlh fuf'pr dk;Z dks 54 fnuksa esa iwjk dj ldrs
gSaA os 12 fnuksa rd ,d lkFk dk;Z djrs gSaA 'ks"k dk;Z A] B vkSj C

}kjk feydj 28 fnuksa esa iwjk fd;k x;kA ;fn B }kjk 6 fnuksa esa fd;k
x;k dk;Z C }kjk 9 fnuksa esa fd, x, dk;Z ds cjkcj gS] rks A

vdsys nks&frgkbZ dk;Z dks ___ fnuksa esa iwjk dj ldrk gSA

IB ACIO GRADE II 18/01/2024 (Shift-01)

(a) 108 (b) 216

(c) 144 (d) 180

2. A vessel contains a solution of acid and water in the

ratio 5: 7. When 9 litres of the solution are taken

out and the vessel is filled with equal quantity of acid,

the ratio of acid and water in the vessel become 9 :

7. How many litres of solution was there in the

vessel, initially?

,d crZu esa vEy vkSj ikuh dk vuqikr 5 % 7 gSA tc 9 yhVj
foy;u fudkyk tkrk gS vkSj crZu dks cjkcj ek=kk esa vEy ls Hkjk
tkrk gS] rks crZu esa vEy vkSj ikuh dk vuqikr 9 % 7 gks tkrk gSA
çkjaHk esa crZu esa fdruk yhVj foy;u Fkk\

IB ACIO GRADE II 18/01/2024 (Shift-01)

(a) 36 (b) 30

(c) 24 (d) 42

3. 27 percent of a number exceeds 13 percent of the

same number by 56. What is the value of the number?

fdlh la[;k dk 27 çfr'kr] ml la[;k ds 13 çfr'kr ls 56
vfèkd gSA ml la[;k dk eku fdruk gksxk\

IB ACIO GRADE II 18/01/2024 (Shift-01)

(a) 400 (b) 380

(c) 360 (d) 420

4. The product of two consecutive even numbers is 1088.

What is the difference of the larger number and the

square of the smaller number?

nks Øekxr le la[;kvksa dk xq.kuiQy 1088 gSA cM+h la[;k] rFkk
NksVh la[;k ds oxZ ds chp fdruk varj gksxk\

IB ACIO GRADE II 18/01/2024 (Shift-01)

(a) 768 (b) 990

(c) 1024 (d) 842

5. The ratio of two numbers is 3 : 8. If the sum of both

the numbers is 220, then what is the smaller number

among both the numbers?

nks la[;kvksa dk vuqikr 3 % 8 gSA ;fn nksuksa la[;kvksa dk ;ksxiQy
220 gks] rks nksuksa la[;kvksa esa NksVh la[;k dkSu&lh gS\

IB ACIO GRADE II 18/01/2024 (Shift-01)

(a) 120 (b) 220

(c) 60 (d) 20

6. The smallest prime number that is a divisor of 17408 is 2

(17408 = 17 × 210). What is the sum of digits of the greatest

prime number, which is a divisor of 17391?

17408 dh Hkktd] lcls NksVh vHkkT; la[;k 2 gS (17408 = 17

× 210) 17391 dh Hkktd] lcls cM+h vHkkT; la[;k ds vadksa dk
;ksxiQy fdruk gksxk\

IB ACIO GRADE II 18/01/2024 (Shift-01)

(a) 5 (b) 6

(c) 8 (d) 4

7. 20 percent of P's income is equal to 10 percent of

Q's income and 10 percent of Q's income is equal to

20 percent of R's income. If R's income is Rs.13000,

then what is the total income of P, Q and R?

P dh vk; dk 20 çfr'kr] Q dh vk; ds 10 çfr'kr ds cjkcj
gS] vkSj Q dh vk; dk 10 çfr'kr] R dh vk; ds 20 çfr'kr ds
cjkcj gSA ;fn R dh vk; 13000 #i;s gks] rks P, Q vkSj R dh
dqy vk; fdruh gksxh\

IB ACIO GRADE II 18/01/2024 (Shift-01)

(a) 78000

(b) 65000

(c) 52000

(d) 39000

8. The average weight of a class of 13 students is 60

kg. If 2 new students of weight 42 kg and 48 kg are

added to the class, then what will be the new average

weight of 15 students?

13 fo|kfFkZ;ksa dh ,d d{kk dk vkSlr otu 60 kg gSA ;fn d{kk
esa 42 kg vkSj 48 kg otu okys 2 u, fo|kFkhZ 'kkfey gks tkrs gSa]
rks 15 fo|kfFkZ;ksa dk u;k vkSlr otu fdruk gksxk\

IB ACIO GRADE II 18/01/2024 (Shift-01)

(a) 58.5 kg (b) 59 kg

(c) 61 kg (d) 58 kg
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9. A sum becomes 2.89 times of itself in 2 years when
invested at  compound interest (compounded

annually).  What is the annual rate of interest?

pØo`f¼ C;kt (okf"kZd :i ls pØo`f¼ fd;k tkus okyk) ij fuos'k
djus ij ,d jkf'k 2 o"kZ esa Lo;a dh 2-89 xquk gks tkrh gSA
okf"kZd C;kt nj fdruh gS\

IB ACIO GRADE II 18/01/2024 (Shift-01)

(a) 80% (b) 50%

(c) 40% (d) 70%

10. An article is marked x%(0 < x < 40) above its cost

price. It is sold by giving %
2

x
discount on its marked

price. If there is a profit of 
1

10 %
2

, then what is the

value of x?

,d oLr q  i j  mld s Ø; e wY; l s  x%

(0 < x < 40) vf/d ewY; vafdr fd;k x;k gSA bls blds vafdr

ewY; ij %
2

x
 dh NwV nsdj cspk tkrk gSA ;fn 

1
10 %

2
 dk ykHk

çkIr gksrk gS] rks x dk eku fdruk gS\

IB ACIO GRADE II 18/01/2024 (Shift-01)

(a) 35 (b) 25

(c) 30 (d) 20

11. A circular path is 800 m long. Beena and Arun run
in opposite directions from the same point A on the
path at the same time. They continue to run after

they meet for the first time. Beena runs another 
1

53
3

seconds to arrive at A, while Arun runs another 2
minutes to get to point A.

Which of the following statements is/are correct?

Statement I: The speed of Beena is 6 m/sec.

Statement II: The ratio of the speeds of Arun and

Beena is 2 : 3.

,d oÙ̀kkdkj iFk dh yackbZ 800 m gSA chuk vkSj v#.k ,d gh
le; ij iFk ij ,d gh fcanq A ls foijhr fn'kkvksa esa nkSM+rs gSaA
igyh ckj feyus ds ckn Hkh os nkSM+uk tkjh j•rs gSaA A ij igq¡pus

ds fy, chuk 
1

53
3
 lsdaM vkSj nkSM+rh gS] tcfd A ij igq¡pus ds

fy, v#.k 2 feuV vkSj nkSM+rk gSA

fuEufyf•r esa ls dkSu&lk@ls dFku lgh gSa\

dFku I: chuk dh pky 6 m/sec gSA

dFku II: v#.k vkSj chuk dh pky dk vuqikr 2 % 3 gSA

IB ACIO GRADE II 18/01/2024 (Shift-01)

(a) Neither I nor II/u rks I vkSj u gh II

(b) I and II/I vkSj II

(c) II only/dsoy II

(d) I only/dsoy I

12. A bus starts running with the initial speed of 6 km/

hr and its speed increases every hour by certain

amount. If it takes 14 hours to cover a distance of

630 km, then what will be hourly increment in the

speed of bus?

,d cl 6 km/hr dh çkjafHkd pky ls pyuk çkjaHk djrh gS
vkSj çR;sd ?kaVs bldh pky esa ,d fuf'pr o`f¼ gksrh gSA ;fn
630 fdeh dh nwjh r; djus esa mls 14 ?kaVs yxrs gSa] rks cl dh
pky esa çfr ?kaVk of̀¼ fdruh gksxh\

IB ACIO GRADE II 18/01/2024 (Shift-01)

(a) 5 km/hr (b) 10 km/hr

(c) 6 km/hr (d) 5.2 km/hr

13. Select the option that is true regarding the following

labelled Assertion (A) and Reason (R).

Assertion (A): The value of

   

 

3 2
3.9 9 1.3 4.29 11.7 1.1 1.331

1.23 1.23 0.77 0.77 0.6 4.1

       

     

is 31.25.

Reason (R): Using (a + b)3 = a3 + b3 + 3ab (a + b) and

(x + y)2 = x2 + y2 + 2xy

ml fodYi dk p;u dhft, tks fuEufyf•r vfHkdFku (A) vkSj
dkj.k (R) ds laca/ esa lR; gSA

vfHkdFku (A):

   

 

3 2
3.9 9 1.3 4.29 11.7 1.1 1.331

1.23 1.23 0.77 0.77 0.6 4.1

       

     

dk eku 31-25 gSA

dkj.k (R): (a + b)3 = a3 + b3 + 3ab (a + b) vkSj (x + y)2 =

x2 + y2 + 2xy dk mi;ksx djdsA

IB ACIO GRADE II 18/01/2024 (Shift-01)

(a) A is true and R is false./A lR; gS vkSj R vlR; gSA

(b) Both A and R are true but R is not a correct

explanation of A./A vkSj R nksuksa lR; gSa ysfdu R, A dk
lgh Li"Vhdj.k ugha gSA

(c) Both A and R are true and R is a correct

explanation of A./A vkSj R nksuksa lR; gSa vkSj R, A dk lgh
Li"Vhdj.k gSA

(d) A is false and R is true./A vlR; gS vkSj R lR; gSA

14. The initial value of a car is Rs.4,50,000. The value of

car depreciates by 40 percent of its initial value each

year. What will be its value after 2 years?

,d dkj dk vkjafHkd ewY; 4,50,000 #i;s FkkA dkj ds ewY; esa
çR;sd o"kZ mlds vkjafHkd ewY; dk 40 çfr'kr ewY;ßkl gksrk gSA
2 o"kZ ckn bldk ewY; fdruk gksxk\

IB ACIO GRADE II 18/01/2024 (Shift-01)

(a) Rs.154000 (b) Rs.162000

(c) Rs.192000 (d) Rs.184000
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15. A question is given, followed by three statements
labelled I, II and III. Identify which of the statements
is/are sufficient to answer the question.
Question:
What is the value of (a – c)?
Statements:
I. (a + b) : c = 8 : 3 and a + b + c = 2772
II. a : (a + c) = 2 : 5

III. a : (b + c) = 34 : 43

,d ç'u fn;k x;k gS] ftlds ckn rhu dFku I, II vkSj III fn,
x, gSaA igpku dhft, fd dkSu&lk@ls dFku ç'u dk mÙkj nsus ds
fy, i;kZIr gS@gSaA
ç'u%
(a – c) dk eku fdruk gS\
dFku%
I. (a + b) : c = 8 : 3 vkSj a + b + c = 2772

II. a : (a + c) = 2 : 5
III. a : (b + c) = 34 : 43

IB ACIO GRADE II 18/01/2024 (Shift-01)

(a) II and III/II vkSj III

(b) I and III only/dsoy I vkSj III

(c) I only/dsoy I

(d) I and II or I and III/I vkSj II ;k I vkSj III

16. The cost of item A is 40% more than that of item B
and the cost of item B is 25% less than that of item
C. The cost of A is decreased by 20%, while that of B
and C are increased by 24% and 33%, respectively.
Statement I: The total new cost of items A, B and C
is 24% less than the total initial cost of 2B and C.
Statement II: The total new cost of A and 2B is

1
33 %

3
 more than the total initial cost of A and B.

Which of the above statements is/are correct?

oLrq A dh dher oLrq B dh dher ls 40» vf/d gS vkSj oLrq
B dh dher oLrq C dh dher ls 25» de gSA A dh dher
20» de dh tkrh gS] tcfd B vkSj C dh dhersa Øe'k% 24»
vkSj 33» c<+kbZ tkrh gSaA
dFku I: oLrqvksa A] B vkSj C dh dqy ubZ dhersa] 2B vkSj C

dh dqy çkjafHkd dherksa ls 24» de gSA
dFku II: A vkSj 2B dh dqy ubZ dhersa] A vkSj B dh dqy

çkjafHkd dherksa ls 
1

33 %
3

 vf/d gSA

mijksÙkQ esa ls dkSu&lk@ls dFku lgh gS@gSa\
IB ACIO GRADE II 18/01/2024 (Shift-01)

(a) Neither I nor II/u rks I vkSj u gh II

(b) Both I and II/ I vkSj II nksuksa
(c) II only/dsoy II

(d) I only/dsoy I

17. Consider all prime numbers between 1 and 100.

Which of the following statements is (are) correct?

a. A number that is one greater than a multiple of 5
has a unit digit 3 or 6.

b. The sum of all numbers which are prime and one
greater than a multiple of 5 is 215.

c. The sum of all numbers which are one greater than
a multiple of 5 and also one greater than a multiple

of 6 is 92.

1 ls 100 ds chp dh lHkh vHkkT; la[;kvksa ij fopkj dhft,A

fuEufyf•r esa ls dkSu&lk@ls dFku lgh gS@gSa\

a. 5 ds fdlh xq.kt ls ,d vf/d fdlh la[;k dk bdkbZ vad
3 ;k 6 gSA

b. 5 ds xq.kt ls ,d vf/d lHkh vHkkT;  la[;kvksa dk ;ksxiQy
215 gSA

c. 5 ds xq.kt ls ,d vf/d vkSj 6 ds xq.kt ls Hkh ,d vf/d
lHkh la[;kvksa dk ;ksxiQy 92 gSA

IB ACIO GRADE II 18/01/2024 (Shift-01)

(a) a and b/a vkSj b (b) b only/dsoy b

(c) a and c/a vkSj c (d) b and c/b vkSj c

18. What is the value of 153 – 123 – 27?

153 – 123 – 27 dk eku fdruk gksxk\
IB ACIO GRADE II 18/01/2024 (Shift-01)

(a) 1540 (b) 1340

(c) 1620 (d) 1480

19. If 75 percent of total articles are sold at a profit of
20 percent and remaining articles are sold at a loss
of 20 percent, then what will be the overall profit

percentage?

;fn lHkh oLrqvksa dk 75 çfr'kr Hkkx] 20 çfr'kr ds ykHk ij cspk
x;k gks] vkSj 'ks"k oLrqvksa dks 20 çfr'kr dh gkfu ij cspk x;k gks]
rks dqy ykHk dk çfr'kr fdruk gksxk\

IB ACIO GRADE II 18/01/2024 (Shift-01)

(a) 10% (b) 12%

(c) 8% (d) 5%

20. Total monthly income of A, B and C is Rs.1,02,720.
A, B and C save 20%, 10% and 25%, respectively of
their incomes. If the ratio of their monthly
expenditures is 3 : 4 : 5, then what is the sum (in

Rs.) of monthly incomes of A and C?

A, B vkSj C dh oqQy ekfld vk; 1]02]720 #i;s gSA A, B vkSj
C viuh vk; dk Øe'k% 20»] 10» vkSj 25» cpr djrs gSaA ;fn
muds ekfld [kpZ dk vuqikr 3 % 4 % 5 gS] rks A vkSj C dh
ekfld vk; dk ;ksxiQy (#i;s esa) fdruk gS\

IB ACIO GRADE II 18/01/2024 (Shift-01)

(a) 56,250 (b) 60,000

(c) 61,875 (d) 72,000

1.(c) 2.(a) 3.(a) 4.(b) 5.(c) 6.(d) 7.(c) 8.(d) 9.(d) 10.(c)

11.(b) 12.(c) 13.(c) 14.(b) 15.(d) 16.(a) 17.(d) 18.(c) 19.(a) 20.(d)

ANSWER KEY
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SOLUTIONSSOLUTIONS
1. (c)

Given, A + B  54 days

also, 6B = 9C

B 9 3

C 6 2
 

ATQ,

12(A + B) + 28(A + B + C) = 54(A + B)

 28C = 54(A + B) – 40(A + B)

 2C = A + B

 Efficiency of (A + B) = 4

Efficiency of B = 3

 Efficiency of A = 1

 Total work = 54 × 4

Now,

A can do 
2

3
 of the work in:-

54 4 2

1 3


 = 144 days

2. (a)

Initial

–9L
5  :  7 5  :  7 9  :  7

+9L

Acid

+4 unit

Solution

A W WA WA

(9 – 5) unit = 4 units  9 ltr.

 12 units  27 ltr.

 initial amount = (27 + 9) = 36 ltr.

3. (a)

Let the number be A

ATQ,

27 13
A

100 100
  × A + 56

 
14

A
100

= 56

 A = 400

4. (b)

Let the numbers be

x, x + 2

ATQ,

x(x + 2) = 1088

 x2 + 2x – 1088 = 0

 x2  34x – 32x – 1088 = 0

 x(x + 34) – 32(x + 34) = 0

 (x – 32)(x + 34) = 0

 x = 32

 x + 2 = 34

Hence,

(322 – 34) = (1024 – 34) = 990

5. (c)

A :      B

3    :  8

ATQ,

(3 + 8) unit = 11 units  220

Smaller number = 3 units  60

6. (d)

17408 = 17 × 210

Consider 17391 = 17408 – 17

= 17 × 210 – 17

= 17(210 – 1)

= 17 × (1024 – 1)

= 17 × 1023 = 17 × 3 × 11 × 31

 Required sum of no. = (3 + 1) = 4

7. (c)

Given,

P Q R

5 10 5
 

P : Q : R

1 : 2 : 1

ATQ,

1 unit = 13,000

then, P + Q + R = 4 unit  52000

8. (d)

ATQ,

New average =
60 13 42 48

15

  

= 58 kg

9. (d)

ATQ,

I
st 
year

1

(100 :

10 :

II
nd 

year

2.89

289)

17

1

2

R 
7

10
 × 100 = 70%

10. (c)

Let CP = 100

 P = 10.5

SP = 110.5

Now by options:-

(c) x = 30%, MP = 130, D = 15%

 SP = 130 ×
17

20
= 110.5

Hence, true
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11. (b)

We know,

B A

A B

S T 2 60 3 3

S T 160 2

 
   ......(i)

then, distance covered by B =
160

3
= 3x

= 160x mtr.

Distance covered by A = 120 × 2x = 240x mtr.

 160x + 240x = 400x  800

 x = 2

Statement I. 3 units  6, which is the speed of Beena
hence true.

Statement II. This statement is true by (i)

12. (c)

Let, speed increase by x km/hr every hours.

ATQ,

6 + (6 + x) + (6 + 2x) + ...+ (6 + 13x) = 630

We know,

Sum =
n

2
(a + l)

630 =
14

2
(6 + 6 + 13x)

 13x = 78

x = 6 km/hr

13. (c)

   

 

3 2
3.9 9 1.3 4.29 11.7 1.1 1.331

1.23 1.23 0.77 0.77 0.6 4.1

       

     

Consider numerator:-

[3.9 + (1.1)]3 = (3.9)3 + (1.1)3 + 3 ×(1.1)2 (3.9) + 3 × (3.9)2

× (1.1)

= (3.9)3 + 1.331 + 11.7 × (1.1)2 + 9 × 1.3 × 4.29

Hence, numerator = (3.9 + 1.1)3

= 125

Now, denominator:-

(1.23)² + (0.77)² + 0.77 × 0.6 × 4.1

= (1.23)2 + (0.77)2 + 2 × (1.23)(0.77)

 (1.23 + 0.77)2

= (2)2 = 4

 
125

4
= 31.25

Hence, assertion is true and reason is also true and
it explain it correctly

14. (b)

Old New

I 5 3

II 5 3

25 09

ATQ,
25 units  450000

09 units 
450000

25
× 09

= 162000

15. (d)

Given,

a + b + c = 2772

Ist- Statement

(a + b) : c = 8 : 3

a + b + c = 11 unit

11 unit = 2772

1 unit = 252

c = 3 unit = 252 × 3 = 756

a + b = 8 unit = 252 × 8 = 2016

IInd- Statement

a : (a + c) = 2 : 5

a + b + c = 7

7 unit = 2772

1 unit  = 396

a = 2 unit = 396 × 2 = 792

(a–c) = 792 – 756 = 36

IIIrd- Statement

a : (a+c) = 34 : 43

a + b + c = 77

77 unit  2772

1 unit 
2772 252

77 7
  = 36

a  3 unit = 34 × 36

= 1244

(a – c) = (1244 – 756) = 488

16. (a)

A B C

7 5

3 4

Old 21 : 15 : 20

4 31 133
New 21 15 20

5 25 100
  

84 93 133
: :

5 5 5


  16.8  18.6  26.6 = 62

ATQ,

2B + C = 50

which is not more than sum of new (A + B + C)

 Statement I incorrect

Now,

A + 2B = 54

A + B = 36

ATQ,

54 – 36 1

36 2
  = 50%

 Statement II is incorrect
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17. (d)

I. any number which is multiple of 5 has unit digit

'5' or '0'. So, a number which is one more than

multiple of 5  has unit digit '1' or  '6'. hence statement

I is false.

II. Said numbers are (5m + 1) and prime

 11, 31, 41, 61, 71

 sum = 215

Hence, statement II is true.

III. Required numbers are 31, 61

Hence sum = 31 + 61 = 92

hence statement III is true.

18. (c)

153 – 123 – 27

= 153 – 123 – 33

we know, if a + b + c = 0

Than, a3 + b3 + c3 = 3abc

15 + (–12) + (–3) = 0

Hence,

153 + (-12)3 + (-3)³ = 3 × 15 × (-12) × (-3)

= 1620

19. (a)

Let here be 10 items in number

ATQ,

6 3 1 4 9 2 11

5 4 4 5 10 10 10
     

 % = 
1

10
× 100

  = 10%

SMART APPROACH:- 

x

3 1

+20 –20

x

x

20 – 1

20 3
 



40

4

60 – 20 = 4x

x = = 10%

20. (d)

Given,

A + B + C = 102720

A B C

Saving 20% 10% 25%

Exp. 80% 90% 75%

Exp. 3 : 4 : 5






5 10 4
Income 3 4 5

4 9 3
   

Income    27     :     32    :     48

ATQ,

107 units  102720

then,

A + C = 75 units 
102720

107
× 75

= Rs.72000
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Intelligence Bureau
[kqfiQ;k foHkkx
India Hkkjr

IB ACIO GRADE II
06

18/01/2024 (Shift-02)

1. A shopkeeper sells an item by giving 25% discount

on its marked price and still gains 35%. If the cost

price of the item decreases by 10%, and he sells it

by allowing 37.5% discount on the same marked price,

then his gain percentage will be _____.

,d nqdkunkj fdlh oLrq dks mlds vafdr ewY; ij 25» NwV nsdj
csprk gS vkSj fiQj Hkh 35» dk ykHk çkIr djrk gSA ;fn oLrq dk
Ø; ewY; 10» de gks tkrk gS] vkSj og mls mlh vafdr ewY; ij
37-5» NwV nsdj csprk gS] rks mldk ykHk çfr'kr _____ gksxkA

IB ACIO GRADE II 18/01/2024 (Shift-02)

(a) 25% (b) 20.5%

(c) 25.5% (d) 30%

2. The average weight of some students in a section is

35.5 kg. Twelve of them whose average weight is 37

kg leave the section and another 5 students with

weights 40 kg, 39.5 kg, 38.5 kg, 42 kg and 47.5 kg join

the section, and thereby the average weight of the

students in the section increases by 300 g. The

number of students, initially, in the section, was:

fdlh lsD'ku esa dqN fo|kfFkZ;ksa dk vkSlr otu 35.5 kg gSA muesa
ls ckjg fo|kFkhZ ftudk vkSlr otu 37 kg gS] lsD'ku NksM+ nsrs gSa
vkSj vU; 5 fo|kFkhZ ftudk otu 40 kg, 39.5 kg, 38.5 kg, 42

kg vkSj 47.5 kg gS] lsD'ku esa 'kkfey gks tkrs gSa] vkSj bl çdkj
lsD'ku esa fo|kfFkZ;ksa dk vkSlr otu 300 g c<+ tkrk gSA çkjaHk esa]
lsD'ku esa fo|kfFkZ;ksa dh la[;k fdruh Fkh\

IB ACIO GRADE II 18/01/2024 (Shift-02)

(a) 47 (b) 53

(c) 45 (d) 49

3. In an election between two candidates A and B, 15%

of the voters did not cast their votes, 20% of the

casted votes were declared invalid. The winning

candidate got 8262 votes, which were 54% of the total

valid votes.

Statement I: The candidate who was defeated got

votes from 31.28% of the total voters in the list.

Statement II: The number of valid votes was 15500.

Which of the above statements is/are correct?

nks mEehnokjksa A vkSj B ds chp ,d pquko esa] 15» ernkrkvksa us
viuk oksV ugha Mkyk] Mkys x, 20» oksV voS/ ?kksf"kr dj fn,
x,A fot;h mEehnokj dks 8262 oksV feys] tks dqy oS/ cksVksa ds
54» FksA

dFku I: gkjus okys mEehnokj dks] lwph esa 'kkfey dqy ernkrkvksa
esa ls 31-28» ds oksV feysA

dFku II: oS/ oksVksa dh la[;k 15500 FkhA

mijksÙkQ esa ls dkSu&lk@ls dFku lgh gSa\

IB ACIO GRADE II 18/01/2024 (Shift-02)

(a) Neither I nor II/ u rks I vkSj u gh II

(b) II only/ dsoy II

(c) I only/ dsoy I

(d) Both I and II/ I vkSj II nksuksa

4. A sum of 1200 becomes Rs.1560 at the rate of simple

interest in 3 years. In how many years will the sum

of Rs.800 amounts to Rs.1120 at the same rate of

simple interest?

1200 #i;s dh jkf'k] 3 o"kZ esa lk/kj.k C;kt dh nj ls 1560
#i;s gks tkrh gSA lk/kj.k C;kt dh leku nj ij fdrus o"kZ esa
800 #i;s dh jkf'k 1120 #i;s gks tk,xh\

IB ACIO GRADE II 18/01/2024 (Shift-02)

(a) 5 years/o"kZ (b) 3 years/o"kZ

(c) 6 years/o"kZ (d) 4 years/o"kZ

5. The ratio of M, N and S is 2: 7: 9 respectively. If their

sum is 360, then what is the difference between M

and S?

M, N vkSj S dk vuqikr Øe'k% 2 % 7 % 9 gSA ;fn mudk ;ksxiQy
360 gks] rks M vkSj S ds chp dk varj fdruk gksxk

IB ACIO GRADE II 18/01/2024 (Shift-02)

(a) 120 (b) 140

(c) 160 (d) 180

6. P and R are at a distance of 296 km from each other

at 7:45 a.m. After 15 minutes, P starts moving

towards R at the speed of 32 km/h. At 8:30 a.m. R

starts moving towards P at the speed of 8 km/h. At

what time will they meet?

7:45 a.m. ij P vkSj R ,d nwljs ls 296 km dh nwjh ij gSaA
15 feuV ds ckn] P, 32 km/h dh pky ls R dh vksj pyuk
çkjaHk djrk gSA 8:30 a.m. ij R, 8 km/h dh pky ls P dh
vksj pyuk çkjaHk djrk gSA os fdrus cts feysaxs\

IB ACIO GRADE II 18/01/2024 (Shift-02)

(a) 4:20 pm (b) 2:45 pm

(c) 3:30 pm (d) 4:50 pm
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7. In a company there are 44 employees. The average

salary of 30 employees is Rs.4200 per month and the

average salary of 10 employees among remaining 14

employees is Rs.6200 per month. If the average salary

of all employees is Rs.7400 per month, then what is

the per month average salary of the remaining 4

employees?

,d daiuh esa 44 deZpkjh gSaA 30 deZpkfj;ksa dk vkSlr osru 4200
#i;s çfr ekg vkSj 'ks"k 14 deZpkfj;ksa esa ls 10 deZpkfj;ksa dk
vkSlr osru 6200 #i;s çfr ekg gSA ;fn lHkh deZpkfj;ksa dk vkSlr
osru 7400 #i;s çfr ekg gks] rks 'ks"k 4 deZpkfj;ksa dk çfr ekg
vkSlr osru fdruk gksxk\

IB ACIO GRADE II 18/01/2024 (Shift-02)

(a) Rs.42200

(b) Rs.34400

(c) Rs.37800

(d) Rs.35600

8. Let x be the least number of 5 digits, which when

divided by 28, 40, 42 and 48, leaves remainder 6 in

each case and x is divisible by 246. What is the sum

of the digits of x?

eku yhft, fd x, 5 vadksa dh og lcls NksVh la[;k gS] ftls 28]
40] 42 vkSj 48 ls Hkkx nsus ij çR;sd fLFkfr esa 6 'ks"kiQy vkrk gS
vkSj x, 246 ls foHkkT; gSA x ds vadksa dk ;ksxiQy fdruk gS\

IB ACIO GRADE II 18/01/2024 (Shift-02)

(a) 13 (b) 12

(c) 15 (d) 14

9. A certain sum (in Rs.) is divided between A, B and C

such that the ratio of shares of A and B is 3 : 1, that

of B and C is 5 : 3 and that of C and D is also 5 : 3.

If the difference between the shares of B and D is

Rs.1,280, then what is the difference (in Rs.) of

shares of A and C?

,d fuf'pr /ujkf'k (#i;s esa) dks A, B vkSj C ds chp bl
çdkj foHkkftr fd;k tkrk gS fd A vkSj B ds fgLlksa dk vuqikr
3 % 1 gS] B vkSj C ds fgLlksa dk vuqikr 5 % 3 gS vkSj C vkSj
D ds fgLlksa dk vuqikr Hkh 5 % 3 gSA ;fn B vkSj D ds fgLlksa
ds chp dk varj 1]280 #i;s gS] rks A vkSj C ds fgLlksa dk varj
(#i;s esa) fdruk gS\

IB ACIO GRADE II 18/01/2024 (Shift-02)

(a) 5,600 (b) 6,400

(c) 4,000 (d) 4,800

10. Selling price of a bat is Rs. 1144 and profit is 30

percent. If selling price is Rs. 704, then what will be

the loss percentage?

,d cYys dk foØ; ewY; 1144 #i;s vkSj ykHk 30 çfr'kr gSA ;fn
foØ; ewY; 704 #i;s gks] rks gkfu dk çfr'kr fdruk gksxk\

IB ACIO GRADE II 18/01/2024 (Shift-02)

(a) 18% (b) 20%

(c) 15% (d) 10%

11. Select the option that is true regarding the following

labelled Assertion (A) and Reason (R).

Assertion (A): The cost of 3 vadas and 4 samosas is

Rs.195. If the cost of a samosa increases by 10% and

that of a vada decreases by 
1

5
, the cost of 2 vadas

and 3 samosas is 139. The original cost of 2 vadas

and 1 samosa is Rs.80.

Reason (R): Let cost of 1 vada and 1 samosa is Rs.x

and Rs.y, respectively.

3x + 4y = 195 and

2 × (1.1)x + 3 × 
1

5
y = 139.

ml fodYi dk p;u dhft, tks fuEufyf[kr vfHkdFku (A) vkSj
dkj.k (R) ds lacaèk esa lR; gSA

vfHkdFku (A): 3 oMs+ vkSj 4 leksls dh dher 195 #i;s gSA ;fn
,d leksls dh dher 10» c<+ tkrh gS vkSj ,d oM+s dh dher

1

5
 de gks tkrh gS] rks 2 oM+s vkSj 3 leksls dh dher 139 #i;s

tkrh gSA 2 oM+s vkSj 1 leksls dh ewy dher 80 #i;s gSA

dkj.k (R): ekuk dh 1 oM+s vkSj 1 leksls dh dher Øe'k% x

#i;s vkSj y #i;s gSA

3x + 4y = 195  vkSj 2 × (1.1)x + 3 × 
1

5
y = 139

IB ACIO GRADE II 18/01/2024 (Shift-02)

(a) A is true and R is false./A lR; gS vkSj R vlR; gSA

(b) Both A and R are true but R is not a correct

explanation of A./ A vkSj R nksuksa lR; gSa] ysfdu R, A dk
lgh Li"Vhdj.k ugha gSA

(c) Both A and R are true and R is a correct

explanation of A./ A vkSj R nksuksa lR; gSa vkSj R, A dk lgh
Li"Vhdj.k gSA

(d) A is false and R is true./A vlR; gS vkSj R lR; gSA

12. Which of the following statements is/are correct?

fuEufyf[kr esa ls dkSu&lk@ls dFku lgh gS@gSa\

(i)  (n2 – n) = 330; Where n = 1, 2 ,...,10

(ii)  (n2 + n) = 728; Where n = 1, 2 ,...,12

(iii)  (n2 + 3n + 1) = 352; Where n = 1, 2, ..., 8

IB ACIO GRADE II 18/01/2024 (Shift-02)

(a) (ii) only/dsoy (ii)

(b) (i) only/dsoy (i)

(c) (ii) and (iii)/(ii) vkSj (iii)

(d) (i) and (ii)/(i) vkSj (ii)
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13. The simple interest on a sum for 6 years is Rs.29250.

The rate of interest for the first 2 years is 7 percent

per annum and for the next 4 years is 16 percent per

annum. What is the sum?

,d /ujkf'k ij 6 o"kZ dk lk/kj.k C;kt 29250 #i;s gSA çFke 2
o"kZ ds fy, C;kt nj 7 çfr'kr okf"kZd vkSj vxys 4 o"kZ ds fy,
C;kt nj 16 çfr'kr okf"kZd gSA og èkujkf'k fdruh gS\

IB ACIO GRADE II 18/01/2024 (Shift-02)

(a) Rs.37500

(b) Rs.36600

(c) Rs.35400

(d) Rs.38300

14. The present population of a town is 98000. It

increases every year at the rate of 40 percent. What

was the population of the town 2 years ago?

,d 'kgj dh orZeku tula[;k 98000 gSA ;g gj o"kZ 40 çfr'kr
dh nj ls c<+rh gSA 2 o"kZ igys 'kgj dh tula[;k fdruh Fkh\

IB ACIO GRADE II 18/01/2024 (Shift-02)

(a) 55000

(b) 50000

(c) 45000

(d) 60000

15. The product of the three consecutive odd numbers

is 2145. What is the Square of the middle number?

rhu Øekxr fo"ke la[;kvksa dk xq.kuiQy 2145 gSA eè; la[;k dk
oxZ fdruk gksxk\

IB ACIO GRADE II 18/01/2024 (Shift-02)

(a) 289

(b) 169

(c) 121

(d) 225

16. A can complete a certain work in 36 days. B is 
1

33 %
3

less efficient than A and C is 50% less efficient than

B. All the three started the  work together, but A left

9 days after the start of the work and B left 3 days

before the completion of the work. In how many days

was the whole work completed?

A fdlh fuf'pr dk;Z dks 36 fnuksa esa iwjk dj ldrk gSA B, A ls

1
33 %

3
 de dq'ky gS vkSj C, B ls 50» de dq'ky gSA rhuksa us

,d lkFk dk;Z 'kq: fd;k] ysfdu A us dk;Z 'kq: gksus ds 9 fnu
ckn dk;Z NksM+ fn;k vkSj B us dk;Z iwjk gksus ls 3 fnu igys dk;Z
NksM+ fn;kA iwjk dk;Z fdrus fnuksa esa gqvk\

IB ACIO GRADE II 18/01/2024 (Shift-02)

(a) 28 (b) 29

(c) 32 (d) 30

17. A question is given, followed by three statements

labelled I, II and III. Identify which of the statements

is/are sufficient to answer the question.

Question:

What is the value of A when D = 7?

Statements:

I. A varies directly with the sum of B and C, B varies

directly with D and C varies directly with D2.

II. When D = 3, A = 33.

III. When D = 4, A = 52.

,d ç'u fn;k x;k gS] ftlds ckn rhu dFku  I, II vkSj III fn,
x, gSaA igpku dhft, fd dkSu&lk@ls dFku ç'u dk mÙkj nsus ds
fy, i;kZIr gSaA

ç'u%

D = 7 gksus ij A dk eku fdruk gS\

dFku%

I. A dk eku B vkSj C ds ;ksxiQy ds vuqØekuqikrh gS] B dk
eku D ds vuqØekuqikrh gS vkSj C dk eku D2 ds vuqØekuqikrh
gSA

II. D = 3 gksus ij A = 33 gSA

III. D = 4 gksus ij A = 52 gSA

IB ACIO GRADE II 18/01/2024 (Shift-02)

(a) I and II/ I vkSj II

(b) I only/dsoy I

(c) I, II and III/ I, II vkSj III

(d) I and III/ I vkSj III

18. In a village, 90 percent people of the total population

are literate and the remaining are illiterate. If the

number of illiterate people is 1320, then what is the

total population of village?

,d xk¡o esa dqy tula[;k esa 90 çfr'kr O;fÙkQ lk{kj gSa vkSj 'ks"k
O;fDr fuj{kj gSaA ;fn fuj{kj O;fDr;ksa dh la[;k 1320 gks] rks xk¡o
dh dqy tula[;k fdruh gS\

IB ACIO GRADE II 18/01/2024 (Shift-02)

(a) 13200

(b) 12200

(c) 12000

(d) 13000

19. A question is given, followed by three statements

labelled I, II and III. Identify which of the statements

is/are sufficient to answer the question.

Question:

What is the time (in second) taken by A to run the

race?
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Statements:

I. A beats B by 30 seconds and B beats C by 60

seconds.

II. A beats C by 90 seconds.

III. B's speed is the average of A's speed and C's

speed.

,d ç'u fn;k x;k gS] ftlds ckn rhu dFku  I, II vkSj III fn,
x, gSaA igpku dhft, fd dkSu&lk@ls dFku ç'u dk mÙkj nsus ds
fy, i;kZIr gS@gSaA

ç'u%

A }kjk nkSM+ iwjk djus esa fy;k x;k le; (lsdaM esa) fdruk gS\

dFku%

I. A, B dks 30 lsdaM ls gjkrk gS vkSj B, C dks 60 lsdaM ls
gjkrk gSA

II. A, C dks 90 lsdaM ls gjk nsrk gSA

1.(a) 2.(a) 3.(c) 4.(d) 5.(b) 6.(c) 7.(b) 8.(c) 9.(d) 10.(b)

11.(a) 12.(d) 13.(a) 14.(b) 15.(b) 16.(b) 17.(c) 18.(a) 19.(a) 20.(a)

ANSWER KEY

III. A dh pky vkSj C dh pky dk vkSlr B dh pky gSA

IB ACIO GRADE II 18/01/2024 (Shift-02)

(a) I and III/I vkSj III

(b) II and III/II vkSj III

(c) I, II and III/I, II vkSj III

(d) I and II/I vkSj II

20. If
2

2

1
10x

x
  , then what is the value of 

4

4

1
x

x
 ?

;fn 2

2

1
10x

x
   gks] rks 4

4

1
x

x
  dk eku fdruk gksxk\

IB ACIO GRADE II 18/01/2024 (Shift-02)

(a) 98

(b) 100

(c) 96

(d) 102
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SOLUTIONSSOLUTIONS
1. (a)

Let, CP = 100

ATQ,

MP CP

(100 35) : (100 – 25)

9 : 5



Now,

SP CP

5
9

8
 :

9
5

10


5 4

diff.

:

Profit = 1



 P% = 
1

4
× 100

  = 25%

2. (a)

Given,

Increased average = 35.5 +
300

1000
= 35.8 kg

Let no. of students initially was x

ATQ,

 

   



35.5 –12 37 (40

39.5 38.5 42 47.5)

( –12 5)

x

x
= 35.8

 
35.5 – 444 207.5

– 7

x

x
= 35.8

 35.5x – 236.5

    = 35.8x – 250.6

 0.3x = 14.1

 x = 47

3. (c)

Vote cast
85%

not cast
 15%

Valid
68%

Invalid
 17%

W L

54% of 
 valid

46% 
of 68%

= 31.28%

Total Vote = 100%

Now, 54% of valid votes = 8262

 Total Vote = 15300

Hence statement (1) is correct and statement (II) is

incorrect.

4. (d)

Ist Case

A = 1560

P = 1200

T = 3 years

SI = 1560 – 1200 = 360

360 = 
1200 ×R ×3

100

R = 10%

IInd Case

A = 1120

P = 800

R = 10%

SI = 1120 – 800 = 320

320 = 
800×10× T

100

T = 4 years
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5. (b)

Given,

M N S

2 7 9: : = 18

diff.

×20

140

7

×20

360

6. (c)

296 km

P
32 KM/H

R
8 KM/H

Distance between

P and R at 8 : 30 AM = 296 – 32 × 
1

2
 = 280 km

 Time taken of P and R  in metting

= 
280

(32 8) =7h

 P and R will meet at 8 : 30 AM + 7h = 3 : 30 pm

7. (c)

Given,

No. Avg.

30 Rs. 4200

10 Rs. 6200

4 ?

Overall Avg. Salary = Rs. 7400

 Total deviation = – 30 × 3200 – 10 × 1200

 = Rs. 108000

 Avg. salary of 4 employees = Rs. 7400 + 
108000

4

   = Rs. 34,400

8. (c)

LCM of 28.40, 42, 48 = 1680

 x = 
1680m 6

246


R = 0

x = 
240m 6

246


for the least 5 digits no.

m = 6

 x = 1680 × 6 + 6 = 10,086

 Sum of digits = 1 + 8 + 6 = 15

9. (d)

A B C D

3 1 1 1: : :

5 3 3: : :

5 5 3: : :

5

5

25 15 9: : :75

diff. diff.

×80 ×80

60 16

Rs. 4800 Rs. 1280

10. (b)

CP = 
1144

100
130

  = Rs. 880

Now,

SP (New) CP

704 880:

5:4

diff.

Loss = 
1

5
×100 = 20%

11. (a)

Let price of one Vada and Samosa are x and y resp.

Now.

3x + 4y = 195 ..........(I)

2 × x × 
4

5
 + 3 × y ×

11

10
 = 139

 16x + 33y = 1390 ...........(II)

2x + by = 80 ...........(III)

On solving eqn. (I) and (III), we get

x = Rs. 25

y = Rs. 30

Hence A is true

Reason : 3x + 4y = 195

2 × 1.1x + 3 × 
1

5
× y = 139 is wrong

because price of vada is decreased by 
1

5
means new

price will be 4/5 of initial price.

Hence Reason is wrong.
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12. (d)

(i)

(n2 – n) = n2 – n

= 
n(n 1)(2n 1)

6

 
– 

n(n 1)

2


=

10 11 21

b

 
– 

10 11

2


= 385 – 55

= 330 (Correct)

(ii)

(n2 + n) = 
n(n+1)(2n+1)

6
+

n(n+1)

2

= 
12 13 25 12 13

6 2

  


= 650 + 78 = 728 (Correct)

(iii)

(n2 +3n +1) = 
n(n 1)(2n 1)

6

 
+

3n(n +1)
8

2


= 
8 9 17

6

 
+

3×8× 9
+1

2

= 204 + 108 + 1

= 313 (Incorrect)

Thus statement (i) and (ii) is correct.

13. (a)

Net SI = (2 × 7% + 4 × 16%) = 78%

Now,

     78%   Rs. 29250

 100% Rs. 37,500

14. (b)

Let population of town 2 yrs ago is x.

 x × 
7 7

5 5
 = 98000

x = 50,000

15. (b)

Let three consecutive numbers are (x – 2), x and (x +

2).

ATQ, (x – 2) x (x + 2) = 2145

 (x – 2) x (x + 2) = 11 × 13 × 15

 x = 13

 x2 = 132 = 169

16. (b)

Given,

A B C

eff 3 : 2 : 1

 Total work = 36 × 3 = 108

Let total work is completed in x days.

ATQ,

3 × 9 + 2(x – 3) + 1.x = 108

 27 + 2x – 6 + x = 108

  3x = 87

 x = 29 days

17. (c)

Given,

A  (B + C), B  D, & C  D2

no need to find value of A,

According to given statement A is clearly dependent

of all the three given statements.

Hence, Option (c) is correct.

18. (a)

Let total population = 100

Literate Illiterate
90 10

ATQ, 10      1320

  100    13200

19. (a)

Statement-I

A B C
t +90+30

Beats Beats

30 sec 60 sec

Time 

Means A beats C by 90 sec

Statement-II

This information has already been obtained from

statement (I)

Statement-III

Let distance is d.

 Speed of B = 
d

t 30

Avg. speed of A and C = 

d d

t t 90
2




ATQ, 
d

t 30
= 

d

2

2t 90

t(t 90)

 
 

 

 
1

t 30
= 

t 45

t(t 90)





 t2 + 90t = t2 + 30t + 45t + 30 × 45

 15t = 30 × 45

t = 90 sec

Hence, statement (I) and (III) are required to find time

taken by A.

20. (a)

Given,

x2 + 2

1

x
= 10

 
4

4

1
x

x
 = 102 – 2 = 98
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Intelligence Bureau
[kqfiQ;k foHkkx
India Hkkjr

IB ACIO GRADE II
07

18/01/2024 (Shift-03)

1. Pawan purchased two tables, first for 10000 and the

second for Rs.12000. He sold both the tables, first

one at the profit of 10 percent and the second at a

loss of 20 percent. What is the overall profit or loss?

iou us nks estsa •jhnha] ftuesa ls igyh 10000 #i;s esa vkSj nwljh
12000 #i;s esa •jhnh xbZA mlus nksuksa estsa cspha] ftuesa ls igyh dks
10 çfr'kr ds ykHk ij vkSj nwljh dks 20 çfr'kr dh gkfu ij
cspkA dqy ykHk ;k gkfu fdruh gksxh\

IB ACIO GRADE II 18/01/2024 (Shift-03)

(a) Profit/ykHk = Rs.1400 (b) Loss/gkfu = Rs.1400

(c) Profit/ykHk = Rs.1200 (d) Loss/gkfu = Rs.1200

2. What is the value of 
58.32

0.27 0.09
?

58.32

0.27 0.09
 dk eku fdruk gksxk\

IB ACIO GRADE II 18/01/2024 (Shift-03)

(a) 24 (b) 240

(c) 2400 (d) 24000

3. A person leaves city J at 7 am and reaches city K at

5 pm. Another person leaves from city K at 4 pm and

reaches city J at 10 pm. At what time (approximately)

they both will meet?

,d O;fÙkQ 7 am ij 'kgj J ls çLFkku djrk gS vkSj 5 pm ij
'kgj K rd igqaprk gSA ,d vU; O;fÙkQ 'kgj K ls 4 pm ij
çLFkku djrk gS vkSj 10 pm ij 'kgj J rd igqaprk gSA os nksuksa
fdrus cts (yxHkx) feysaxs\

IB ACIO GRADE II 18/01/2024 (Shift-03)

(a) 4:37 pm (b) 4:13 pm

(c) 4:23 pm (d) 4:52 pm

4. 15% of A = 20% of B = 25% of C and A + B + C =

5640. A is decreased by 58
1

%
3

, B is increased by 20%

and C is decreased by 30%.

Statement I: The new value of C is 8% more than

the new value of A.

Statement II: The new value of B is 10% less than

the initial value of A.

Which of the above statements is/are correct?

A dk 15% = B dk 20% = C dk 25» gS vkSj A + B + C =

5640 gSA A esa 58
1

%
3

 dh deh dh tkrh gS] B esa 20» dh

of̀¼ dh tkrh gS vkSj  C esa 30» dh deh dh tkrh gSA

dFku I:  C dk u;k eku A ds u, eku ls 8» vf/d gSA

dFku II: B dk u;k eku A ds çkjafHkd eku ls 10» de gSA

mijksÙkQ esa ls dkSu&lk@ls dFku lgh gSa\

IB ACIO GRADE II 18/01/2024 (Shift-03)

(a) I only/dsoy I

(b) II only/dsoy II

(c) Both I and II/I vkSj II nksuksa

(d) Neither I nor II/u rks I  vkSj u gh II

5. Neeraj sells sarees for 3,944 each, after giving two

successive discounts of 15% and 20% on its marked

price. If he sells a saree giving no discount on its

marked price, then he earns a profit of 45%. If he

sells a saree for Rs.4,496, then his profit percentage

will be ____.

uhjt çR;sd lkM+h ds vafdr ewY; ij 15» vkSj 20» dh nks
Øfed NwV nsus ds ckn] çR;sd lkM+h dks 3]944 #i;s esa csprk gSA
;fn og lkM+h dks fcuk fdlh NwV ds mlds vafdr ewY; ij csprk
gS] rks mls 45» dk ykHk çkIr gksrk gSA ;fn og lkM+h dks 4]496
#i;s esa csprk gS] rks mldk ykHk çfr'kr ____ gksxkA

IB ACIO GRADE II 18/01/2024 (Shift-03)

(a) 12% (b) 15%

(c) 12.4% (d) 15.6%

6. Two sums of money are divided between A, B, C and

D. The first sum is divided between them in the ratio

4:6:3:2 and the second sum is divided in the ratio

3:4:7:6. The second sum is two times the first sum.

Who will get the second largest overall share?

A, B, C vkSj D ds chp nks /ujkf'k;k¡ foHkkftr dh tkrh gSaA
igyh /ujkf'k muds chp 4 % 6 % 3 % 2 ds vuqikr esa foHkkftr
dh tkrh gS vkSj nwljh /ujkf'k 3% 4% 7% 6 ds vuqikr esa foHkkftr
dh tkrh gSA nwljh èkujkf'k igyh /ujkf'k dh nks xquh gSA dqy
feykdj nwljk lcls cM+k fgLlk fdls feysxk\

IB ACIO GRADE II 18/01/2024 (Shift-03)

(a) B (b) A

(c) D (d) C
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7. Income of Pawan is 5 percent more than the income

of Pankaj and income of Pankaj is 15 percent more

than the income of Manjeet. The income of Manjeet

is (approximately) how much percentage less than the

income of Pawan?

iou dh vk;] iadt dh vk; ls 5 çfr'kr vf/d gS] vkSj iadt
dh vk;] eathr dh vk; ls 15 çfr'kr vf/d gSA eathr dh vk;]
iou dh vk; ls (yxHkx) fdrus çfr'kr de gS\

IB ACIO GRADE II 18/01/2024 (Shift-03)

(a) 3%

(b) 17%

(c) 7%

(d) 10%

8. Which of the following statements is/are correct?

(i) The sum 13 + 23 + 33 + ..... to ten terms, lies

between 3020 and 3030.

(ii) If x is subtracted from the sum 13 + 33 + 53 + ......

to 10 terms, then it becomes a square. The least

value of x is 17.

(iii) 113 + 123 + 133 + ...... +203 = 41075

fuEufyf[kr esa ls dkSu&lk@ls dFku lgh gSa\

(i) 13 + 23 + 33 + .....ds nl inksa rd ;ksxiQy 3020 vkSj 3030
ds chp gSA

(ii) ;fn 13 + 33 + 53 + ...... ds nl inksa rd ds ;ksxiQy ls x

dks ?kVk fn;k tk,] rks ;g ,d oxZ cu tkrk gSA x dk U;wure eku
17 gSA

(iii) 113 + 123 + 133 + ...... +203 = 41075 gSA

IB ACIO GRADE II 18/01/2024 (Shift-03)

(a) (i) only/dsoy (i)

(b) (ii) only/dsoy (ii)

(c) (i) and (ii)/ (i) vkSj (ii)

(d) (i) and (iii)/(i) vkSj (iii)

9. The average weight of some children in a group is 45

kg. When 10 children of average weight 40 kg leave

the group or 15 children of average weight 50 kg join

the group, the average weight of children in both the

cases is the same. The number of children, initially,

in the group lies between:

,d lewg esa dqN cPpksa dk vkSlr otu 45 kg gSA tc 40 kg

vkSlr otu okys 10 cPps lewg NksM+ nsrs gSa ;k 50 kg vkSlr otu
okys 15 cPps lewg esa 'kkfey gks tkrs gSa] rks nksuksa ekeyksa esa cPpksa
dk vkSlr otu leku gksrk gSA çkjaHk esa] lewg esa cPpksa dh la[;k
fuEufyf•r esa ls fdlds chp Fkh\

IB ACIO GRADE II 18/01/2024 (Shift-03)

(a) 45 and 55

(b) 55 and 65

(c) 65 and 75

(d) 35 and 45

10.
1

6
 of a certain sum is lent at 36 percent rate of

interest. 
1

5
 of the remaining sum is lent at 42

percent rate of interest. The remaining sum 5 is lent
at 18 percent rate of interest. If the simple interest
received on the total sum for 3 years is Rs.1725, then

what is the sum?

,d fuf'pr /ujkf'k dk 
1

6
 Hkkx 36 çfr'kr C;kt nj ij ½.k

ij fn;k x;k gSA 'ks"k jkf'k dk 
1

5
 Hkkx 42 çfr'kr C;kt nj ij

½.k ij fn;k x;k gSA rRi'pkr 'ks"k jkf'k 18 çfr'kr C;kt nj ij
½.k ij nh xbZ gSA ;fn 3 o"kZ ds fy, dqy jkf'k ij çkIr lk/kj.k
C;kt 1725 #i;s gks rks og /ujkf'k fdruh gS\

IB ACIO GRADE II 18/01/2024 (Shift-03)

(a) Rs.2100 (b) Rs.2400

(c) Rs.2300 (d) Rs.2200

11. When 85 percent of a number is added to 18, then
the result is that number only. What is the value of

the number?

,d la[;k ds 85 çfr'kr dks 18 esa tksM+us ij ogh la[;k çkIr
gksrh gSA ml la[;k dk eku fdruk gksxk\

IB ACIO GRADE II 18/01/2024 (Shift-03)

(a) 135 (b) 150

(c) 120 (d) 105

12. Select the option that is true regarding the following
labelled Assertion (A) and Reason (R).

Assertion (A): The cost of 5 pens, 6 erasers and 7
notebooks is Rs.340 and the cost of 6 pens, 4 erasers
and 2 notebooks is Rs.200. The cost of one pen, one
eraser and 1 notebook is Rs.55.

Reason (R): Let x, y and z denote the
cost of 1 pen, 1 eraser and 1 notebook, respectively.

5x + 6y + 7z = 340 and 6x + 4y + 2z = 200.

ml fodYi dk p;u dhft, tks fuEufyf•r vfHkdFku (A) vkSj
dkj.k (R) ds laca/ esa lR; gSA

vfHkdFku (A): 5 isu] 6 bjstj vkSj 7 uksVcqd dh
dher 340 #i;s gS vkSj 6 isu] 4 bjstj vkSj 2 uksVcqd dh dher
200 #i;s gSA ,d isu] ,d bjstj vkSj 1 uksVcqd dh dher 55
#i;s gSA

dkj.k (R): eku yhft, x, y vkSj z Øe'k% 1 isu] 1 bjstj vkSj 1
uksVcqd dh dher gSA 5x + 6y + 7z = 340 vkSj 6x + 4y + 2z

= 200

IB ACIO GRADE II 18/01/2024 (Shift-03)

(a) A is true and R is false./A lR; gS vkSj R vlR; gSA

(b) A is false and R is true./A vlR; gS vkSj R lR; gSA
(c) Both A and R are true and R is a correct

explanation of A./A vkSj R nksuksa lR; gSa vkSj R, A dk lgh
Li"Vhdj.k gSA

(d) Both A and R are true but R is not a correct

explanation of A./A vkSj R nksuksa lR; gSa ysfdu R, A dk
lgh Li"Vhdj.k ugha gSA
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13. Two numbers are in the ratio of

8 : 3. If their sum is 11, then what is the sum of the

squares of the two numbers?

nks la[;k,¡ 8 % 3 ds vuqikr esa gSaA ;fn mudk ;ksxiQy 11 gS] rks
nksuksa la[;kvksa ds oxks± dk ;ksxiQy fdruk gksxk\

IB ACIO GRADE II 18/01/2024 (Shift-03)

(a) 73 (b) 63

(c) 93 (d) 83

14. If a 9-digit number 9834x97y4 is divisible by 88, then

what is the maximum possible value of (3x + 2y)

;fn 9 vadksa dh la[;k 9834x97y4, 88 ls foHkkT; gS] rks (3x +

2y) dk vf/dre laHko eku fdruk gS\

IB ACIO GRADE II 18/01/2024 (Shift-03)

(a) 31 (b) 27

(c) 34 (d) 37

15. The average of 11 consecutive odd numbers is 37.

What is the difference between the largest number

and the smallest number?

11 Øekxr fo"ke la[;kvksa dk vkSlr 37 gSA lcls cM+h la[;k vkSj
lcls NksVh la[;k ds chp varj fdruk gS\

IB ACIO GRADE II 18/01/2024 (Shift-03)

(a) 21

(b) 23

(c) 25

(d) 20

16. Simple interest on a sum for eight months at the rate

of 8 percent per annum is Rs.480. What is the value

of sum?

,d /ujkf'k ij] 8 çfr'kr dh okf"kZd nj ls vkB ekg dk lk/
kj.k C;kt 480 #i;s gSA og /ujkf'k fdruh gS\

IB ACIO GRADE II 18/01/2024 (Shift-03)

(a) Rs.9000 (b) Rs.7500

(c) Rs.12000 (d) Rs.10500

17. If 
2

2

1
14x

x
  , then what is the value of 

3

3

1
x

x
 ? (x > 0)

;fn 2

2

1
14x

x
   gks] rks 3

3

1
x

x
  dk eku fdruk gksxk\ (x > 0)

IB ACIO GRADE II 18/01/2024 (Shift-03)

(a) 48 (b) 42

(c) 50 (d) 52

18. A can complete a certain work in 30 days. B is 20%

more efficient than A. C can complete 
2

5
part of the

same work in 8 days. A and B together complete 
11

15

part of the work. The remaining work is completed

by A and C together. In how many days was the

entire work completed?

A fdlh fuf'pr dk;Z dks 30 fnuksa esa iwjk dj ldrk gSA B, A ls

20» vf/d dq'ky gSA C mlh dk;Z dk 
2

5
 Hkkx 8 fnuksa esa iwjk

dj ldrk gSA A vkSj B feydj dk;Z dk 
11

15
 Hkkx iwjk djrs gSaA

'ks"k dk;Z A vkSj C }kjk feydj iwjk fd;k tkrk gSA iwjk dk;Z
fdrus fnuksa esa gqvk\

IB ACIO GRADE II 18/01/2024 (Shift-03)

(a) 14
2

5

(b) 14

(c)
1

13
5

(d) 13

19. A question is given, followed by three statements

labelled I, II and III. Identify which of the statements

is/are sufficient to answer the question.

Question:

What is the daily wages (in Rs.) of one worker of type

A?

Statements:

I. In a factory, the ratio of the number of workers of

type A, B and C is 9:4:1 and the ratio of daily wages

of one worker of type A, B and C is 8:5:3. Total daily

wages of all workers of type A, B and C is Rs.57,000.

II. The number of workers of type B is 20.

III. The number of workers of type C is 5.

,d ç'u fn;k x;k gS] ftlds ckn rhu dFku  I, II vkSj III fn,
x, gSaA igpku dhft, fd dkSu&lk@ls dFku ç'u dk mÙkj nsus ds
fy, i;kZIr gS@gSaA

ç'u%

A çdkj ds ,d deZpkjh dh nSfud etnwjh (#i;s esa) fdruh gS\

dFku%

I. ,d dkj•kus esa] A, B vkSj C çdkj ds Jfedksa dh la[;k dk
vuqikr 9% 4 % 1 gS vkSj A, B vkSj C çdkj ds ,d Jfed dh
nSfud etnwjh dk vuqikr 8% 5 % 3 gSA A, B vkSj C çdkj ds
lHkh Jfedksa dh nSfud etnwjh 57]000 #i;s gSA

II. B çdkj ds Jfedksa dh la[;k 20 gSA

III. çdkj C ds Jfedksa dh la[;k 5 gSA

IB ACIO GRADE II 18/01/2024 (Shift-03)

(a) I and II or I and III/I vkSj II ;k II vkSj III

(b) I and II only/dsoy I vkSj II

(c) I only/dsoy I

(d) I, II and III/I, II vkSj III
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20. A question is given, followed by three statements
labelled I, II and III. Identify which of the statements
is/are sufficient to answer the question.

Question:

How much time (in hours) will a boat take to go 25
km downstream?

Statements:

I. The time taken by the boat to go a certain distance

downstream is
7

10
 of the time taken by it to go the

same distance in still water.

II. The boat takes 6 hours to go 49 km downstream
and 14 km upstream.

III. The ratio of the speed of the boat in still water

and the speed of the current is 7: 3.

,d ç'u fn;k x;k gS] ftlds ckn rhu dFku  I, II vkSj III fn,
x, gSaA igpku dhft, fd dkSu&lk@ls dFku ç'u dk mÙkj nsus ds
fy, i;kZIr gS@gSaA

1.(b) 2.(c) 3.(c) 4.(b) 5.(c) 6.(a) 7.(b) 8.(d) 9.(b) 10.(c)

11.(c) 12.(c) 13.(a) 14.(c) 15.(c) 16.(a) 17.(d) 18.(c) 19.(a) 20.(c)

ANSWER KEY

ç'u%

,d uko dks /kjk dh fn'kk esa 25 km tkus esa fdruk le; (?kaVksa
esa) yxsxk\

dFku%

I. uko }kjk /kjk dh fn'kk esa ,d fuf'pr nwjh rd tkus esa yxk

le; 'kkar ty esa leku nwjh rd tkus esa yxs le; dk 
7

10
 gSA

II. uko dks /kjk dh fn'kk esa 49 km vkSj èkkjk dh foijhr fn'kk
esa 14 km tkus esa 6 ?kaVs yxrs gSaA

III. 'kkar ty esa uko dh pky vkSj /kjk dh pky dk vuqikr 7%
3 gSA

IB ACIO GRADE II 18/01/2024 (Shift-03)

(a) I and II only/ dsoy I vkSj II

(b) II and III only/dsoy II vkSj III

(c) I and II or II and III/I vkSj II ;k II vkSj III

(d) I and III only/dsoy I vkSj III
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SOLUTIONSSOLUTIONS
1. (b)

CP
1
 = Rs. 10,000 CP

2
 = Rs. 12,000

Profit on first table = 10% of 10,000 = Rs. 1000

Loss on second table = 20% of 12,000 = Rs. 2400

 Overall loss = 2400 – 1000

= Rs. 1400

2. (c)

58.32

0.27 0.09
 = 2400

3. (c)

30km (let)

5 km/h.3 km/h.

10 h. 6 h.

J JK K

7AM 10PM5PM 4PM

J

3 km/h. 5 km/h.

K

30 km.

Distance travelled by first person till 4PM

= 3 × 9 = 27 km.

 Now distance Remaining b/w first and 2nd person =
30 – 27 = 3 km.

 first and 2nd person will meet = 4PM + 
3

8
 × 60

= 4 : 23 PM

4. (b)

Given, 
3 1 1

A B C
20 5 4

  

 A

20

60

:

:

B

15

45

:

C

12

36
3× 3× 3×

1 7
58 % ,

3 12


1
20% ,

5


3
30%

10


A

25

B

54

C

25.2New values 

Statement-I

108% of 25 = 27

Hence Statement (I) is incorrect

Statement-II

90% of 60 = 54 i.e New value of B

Thus only statement (II) is Correct

5. (c)

Successive of  20% and 15% = 20 + 15 – 
20×15

100
 = 32%

69%  3944

100%  
3944

68
 × 100 = Rs. 5800

SP
1
 = 5800, Profit = 45%

CP = 
5800

145
 × 100 = 4000

SP
2
 = 4496

CP = 4000

Profit = 496

P% = 
496

4000
 × 100 = 12.4%

6. (a)

2 2 2 2 2

3 3 3 3 3

CA B D
4 6 3 2 15I : : :

128 : : 6 : 4
3 4 7 6 20II : : :

12 219 : : : 18

    

    





Total  (8+9) : (12+12) : (6+21) : (4+18)

Hence C < B > D > A

7. (b)

Pankaj ManjeetPawan

20
100

21 20Income : : 115

23 21 20 23 20 20: :

483 : 460 : 400




  



Diff.

83

483
% decrease × 100  17%
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8. (d)

Statement-I

1³ + 2³ + ..... + 10³ 

2
10 11

2

 
  
 

 = 3025

Statement-II

1³ + 3³ +.......... x³ = x² (2x² – 1)

 1³ + 3³ + ..... upto 10 terms

= 100 × 199 = 19900

New 19900 – 17 = 19883 is not perfect sq.

Statement-III

11³ + 12³ + .... 20³ = ?

 (1³+2³ + .... 20³) – (1³+2³+ .... +10³)

2 2
20 21 10 11

–
2 2

    
       
   

= 44100 – 3025 = 41075

Hence, stat (I) and (III) are Correct

9. (b)

Given,

Case-(I) 
No. Avg.

45 kg.

–10 40 kg.





x

 Deviation in first Case  5 × 10

Case-(II)   No. Avg.

45 kg.

15 50 kg.





x

 Deviation in 2nd Case  5 × 15

A.T.Q,

5 10 5 15
45 45

–10 15

 
  

x x

2 3
 

–10 15
 

x x

 2x + 30 = 3x – 30

 x = 60

10. (c)

Total Rate%

1 5 1 2
36 42 18

6 6 5 3

 
        
 

 × 3%

= (6 + 7 + 12) × 3%

= 75%

New, 75% of P = 1725

 P = 1725 × 
4

3
 = Rs. 2300

11. (c)

Let the number is N

A.T.Q,

85% of N + 18 = 100% If N

 15% of N = 18

18
 N = 

15
 × 100 = 120

12. (c)

Given,

5x + 6y + 7z = 340 ......(I)

6x + 4y + 2z = 200            .....(II)

x + y + z = 55            ....(III)

No need to find value of x, y, z, snice these are 3 equa-

tions and 3 Variables, we will get their values. Hence

Assertion is Correct

Reason is also true, since representation of Sum of

price of Pens, Erasers and notebooks is Correctly men-

tioned in equation.

Hence Both A and R are true and R, is a Correct ex-

planation of A.

13. (a)

Given,

Number- I

8

8

:

Number- II

3

3

= 11

×1

11

Now,  8² + 3² = 64 + 9 = 73

14. (c)

Given, 
9834 97y4

11 8

x

Now,

7y4 704 10y 2y
,

8 8 8


   y = 0, 8

Similarly, 
9834 97y4 (23 )– (21 y)

11 11

 


x x

2 – y

11




x

y = 8, x = b for max possible value of (3x + 2y)

 3x + 2y = 3 × 6 + 2 × 8 = 34

15. (d)

Given,

37

Smallest no. = 37 – 2 × 5 = 27

Largest no. = 37 + 2 × 5 = 47

 Their diff. = 47 – 27 = 20
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16. (a)

Equivalent rate % = 8% × 
8 16

%
12 3



 
16

%
3

 of Sum = 480

 Sum 
480

16
 × 300 = Rs. 9000

17. (d)

Given, 
1

²
²

x
x

 = 14

 
1

14 2 4   x
x

 
1

x³
x³

 = 4³ – 3 × 4 = 52

18. (c)

A  30 days

× 5 = 25 days

= 20 days

5

7.5

6
150

30
B

6


5
C 8

2
 

 Time taken to Complete the whole work

110 40

11 12.5
 

16 1
10 13

5 5
    days

19. (a)

A B C

Noof workers 9 : 4 : 1

Daily wages of one worker 8 : 5 : 3





Since daily wages of all workers is given Rs. 57,000.

To find daily wages of one Worker, we will require no

of workers in number not in ratios . so statement (I)

alone is not Sufficient. To Ans the question Statement

(I) as well as either Statement (II) or statement (III)

is required.

20. (c)

Let speed of Boat and water are B km/h and W km/h.

respectively & distance travelled is d km.

Statement-I

d 7 d
 

B W 10 B




B 7
 
B W 10

 


,

 B = 7x  W = 3x

Statement-II

49 14

10 4


x x
 = 6 hrs.

Statement-III

B W

Speed 7 3 x x

To find 
25

B W
, we will require statement (I) and

statement (II) or statement (II) and statement (III).
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Intelligence Bureau
[kqfiQ;k foHkkx
India Hkkjr

IB ACIO GRADE II
08

18/01/2024 (Shift-04)

1. If A
1
 is 19 times more than A

2
, then A

2
 is what

percentage less than A
1
?

;fn A
1
 jkf'k] A

2
 jkf'k ls 19 xquk vf/d gS] rks A

2
 jkf'k] A

1

jkf'k ls fdrus çfr'kr de gS\

IB ACIO GRADE II 18/01/2024 (Shift-04)

(a) 85% (b) 105%

(c) 95% (d) 100%

2. What is the value of 
 72 25 5 2

6 5 1

  

 
?

 72 25 5 2

6 5 1

  

 
 dk eku D;k gS\

IB ACIO GRADE II 18/01/2024 (Shift-04)

(a) 4 (b) 3

(c) 2 (d) 1

3. Bala has thrice as much amount as that of Lalit and

Lalit has 10 percent more amount than Vimal. If the

average amount of all three of them is 1350, then

how much amount Bala has?

ckyk ds ikl yfyr dh jkf'k dh rhu xquh jkf'k gS vkSj yfyr ds
ikl foey dh jkf'k ls 10 çfr'kr vf/d jkf'k gSA ;fn mu rhuksa
dh jkf'k dk vkSlr 1350 #i;s gks] rks ckyk ds ikl fdruh jkf'k gS\

IB ACIO GRADE II 18/01/2024 (Shift-04)

(a) Rs.2455 (b) Rs.2465

(c) Rs.2355 (d) Rs.2475

4. The ratio of alcohol and water in solutions A and B is

3 : 5 and 5 : 7, respectively. Two litres of A is mixed

with 5 litres of B and 3 litres of alcohol is also added

to it to get a new solution C. In 1.5 litres of solution

C, how much alcohol (in ml) should be mixed so that

the ratio of alcohol and water in the final solution

becomes 2 : 1?

foy;u A vkSj B esa ,sYdksgkWy vkSj ikuh dk vuqikr Øe'k% 3 % 5
vkSj 5 % 7 gSA foy;u A ds nks yhVj dks foy;u B ds 5 yhVj
ds lkFk feyk;k tkrk gS vkSj blesa 3 yhVj ,sYdksgkWy feykdj ,d
u;k foy;u C çkIr fd;k tkrk gSA foy;u C ds 1-5 yhVj esa]
fdruk ,sYdksgkWy (ml esa) feyk;k tkuk pkfg, rkfd vafre foy;u
esa ,sYdksgkWy vkSj ikuh dk vuqikr 2 % 1 gks tk,\

IB ACIO GRADE II 18/01/2024 (Shift-04)

(a) 405 (b) 385

(c) 395 (d) 375

5. Which of the following statements is/are correct?

(i) A number is divisible by 125, if the last three digits

of the number form a number that is divisible by 53.

(ii) If a number is divisible by two numbers, then it

is divisible by the product of the two numbers.

(iii) A number is divisible by 36, if the number is

divisible by 4, 6 and 12.

fuEufyf•r esa ls dkSu&lk@ls dFku lgh gS@gSa\

(i) dksbZ la[;k 125 ls rc foHkkT; gksxh] ;fn la[;k ds vafre
rhu vadksa ls cuh la[;k 53 ls foHkkT; gSA

(ii) ;fn dksbZ la[;k nks la[;kvksa ls foHkkT; gS] rks og la[;k nks
la[;kvksa ds xq.kuiQy ls Hkh foHkkT; gksxhA

(iii) dksbZ la[;k 36 ls rc foHkkT; gksxh] ;fn la[;k 4] 6 vkSj 12
ls foHkkT; gSA

IB ACIO GRADE II 18/01/2024 (Shift-04)

(a) (ii) and (iii)/(ii) vkSj (iii)

(b) (i) and (ii)/(i) vkSj (ii)

(c) (i) only/ dsoy (i)

(d) (ii) only/dsoy (ii)

6. The cost of a motorbike is 75% less than the cost of
a car. The cost of a car decreases by 25% and that of
a motorbike increases by 40%.

Statement I: The new cost of a motorbike is 
1

53 %
3

less than the new cost of a car.

Statement II: The total new cost of one car and two

motorbikes is 
1

3 %
3

 less than their total initial cost.

Which of the above statements is/are correct?

,d eksVjlkbfdy dh dher ,d dkj dh dher ls 75» de gSA
dkj dh dher 25» de gks tkrh gS vkSj ,d eksVjlkbfdy dh
dher 40» c<+ tkrh gSA

dFku I: eksVjlkbfdy dh ubZ dher] dkj dh ubZ dher ls 
1

53 %
3

de gSA

dFku II: ,d dkj vkSj nks eksVjckbdksa dh dqy ubZ dher] mudh

dqy çkjafHkd dher ls 
1

3 %
3

 de gSA mijksDr esa ls dkSu&lk@ls

dFku lgh gSa\

IB ACIO GRADE II 18/01/2024 (Shift-04)
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(a) Neither I nor II/u rks I vkSj u gh II

(b) I only/dsoy I

(c) Both I and II/ I vkSj II nksuksa

(d) II only/dsoy II

7. The average age of a group of 13 men is 55 years. 2

men leave the group and the average age of group

increases by I year. What is the average age of 2 men

who left the group?

13 iq#"kksa ds ,d lewg dh vkSlr vk;q 55 o"kZ gSA 2 iq#"k lewg
NksM+ nsrs gSa vkSj lewg dh vkSlr vk;q 1 o"kZ c<+ tkrh gSA lewg
NksM+us okys 2 iq#"kksa dh vkSlr vk;q fdruh gksxh\

IB ACIO GRADE II 18/01/2024 (Shift-04)

(a) 48.5 years/o"kZ (b) 50 years/o"kZ

(c) 49.5 years/o"k (d) 50.5 years/o"kZ

8. If x + y + z = 10 and x2 + y2 + z2 = 80, then what is

the value of 4xy + 4yz + 4zx?

;fn x + y + z = 10 vkSj x2 + y2 + z2 = 80 gks] rks 4xy + 4yz

+ 4zx dk eku fdruk gksxk\

IB ACIO GRADE II 18/01/2024 (Shift-04)

(a) 10 (b) 40

(c) 30 (d) 20

9. Select the option that is true regarding the following

labelled Assertion (A) and Reason (R).

Assertion (A): The system of equations:

9x + 6y = 11 and 7x + ky = 9 has no solution, if k =

14

3

Reason (R): System of equations

ax + by = c

dx + ey = f

has no solution, if 
a b c

d e f
 

ml fodYi dk p;u dhft, tks fuEufyf[kr vfHkdFku (A) vkSj
dkj.k (R) ds lacaèk esa lR; gSA

vfHkdFku (A): lehdj.kksa ds fudk;%

9x + 6y = 11 vkSj 7x + ky = 9 dk dksbZ gy ugha gksxk] ;fn k

= 
14

3
 gSA

dkj.k (R): lehdj.kksa ds fudk;%

ax + by = c

dx + ey = f

dk dksbZ lekèkku ugha gksxk] ;fn

a b c

d e f
 

IB ACIO GRADE II 18/01/2024 (Shift-04)

(a) A is true and R is false./A lR; gS vkSj R vlR; gSA

(b) A is false and R is true./A vlR; gS vkSj R lR; gSA

(c) Both A and R are true but R is not a correct

explanation of A./A vkSj R nksuksa lR; gSa ysfdu R, A dk
lgh Li"Vhdj.k ugha gSA

(d) Both A and R are true and R is a correct

explanation of A./A vkSj R nksuksa lR; gSa vkSj R, A dk lgh
Li"Vhdj.k gSA

10. Two trains C and D starts moving from stations R

and S respectively towards each other. Trains take 4

hours 16 minutes and 3 hours 45 minutes to reach

S and R respectively after they meet each other. If

the speed of train C is 60 km/hr, then what is the

speed of the train D?

nks jsyxkfM+;k¡ C vkSj D, Øe'k% LVs'ku R vkSj S ls ,d&nwljs dh
vksj pyuk çkjaHk djrh gSaA jsyxkfM+;k¡ ijLij feyus ds ckn S vkSj
R rd igqapus esa Øe'k% 4 ?kaVs 16 feuV vkSj 3 ?kaVs 45 feuV dk
le; ysrh gSaA ;fn Vªsu C dh pky 60 km/hr gS] rks Vªsu D dh
pky fdruh gS\

IB ACIO GRADE II 18/01/2024 (Shift-04)

(a) 72 km/hr

(b) 64 km/hr

(c) 48 km/hr

(d) 56 km/hr

11. Naman sells an item at x, after giving two successive

discounts each of 10% on its marked price. If he does

not give any discount on the marked price, he earns

a profit of 25%. The cost price of the item is Rs.800.

What is the value of x?

ueu fdlh oLrq dks mlds vafdr ewY; ij 10» dh nks Øfed NwV
nsdj x #i;s esa csprk gSA ;fn og vafdr ewY; ij dksbZ NwV ugha
nsrk gS] rks mls 25» dk ykHk çkIr gksrk gSA oLrq dk Ø; ewY; 800
#i;s gSA x dk eku fdruk gS\

IB ACIO GRADE II 18/01/2024 (Shift-04)

(a) 840 (b) 830

(c) 810 (d) 820

12. Anil sells two pens at the rate of Rs.1500 per pen.

He earns a profit of 25 percent on one pen and loses

25 percent on the other pen. What will be the total

profit or loss in whole transaction?

vfuy nks isu 1500 #i;s çfr isu dh nj ij csprk gSA og ,d isu
ij 25 çfr'kr dk ykHk vftZr djrk gS] vkSj nwljs isu ij mls 25
çfr'kr dh gkfu gksrh gSA iwjs ysu&nsu esa dqy ykHk ;k gkfu fdruh
gksxh\

IB ACIO GRADE II 18/01/2024 (Shift-04)

(a) Rs.200 loss/gkfu

(b) Rs.150 loss/gkfu

(c) Rs.250 profit/ykHk

(d) Rs.280 profit/ykHk
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13. A question is given, followed by three statements

labelled I, II and III. Identify which of the statements

is/are sufficient to answer the question.

Question:

What is the total expense when the hostel has 189

occupants?

Statements: Total expenses of the hostel consist of

two parts: one varies directly with the number of

occupants and the other is fixed.

I. When it had 150 occupants, its total expense was

Rs.79,500.

II. When it had 240 occupants, its total expense was

Rs.1,15,500.

III. When it had 200 occupants, its total expense was

Rs.99,000.

,d ç'u fn;k x;k gS] ftlds ckn rhu dFku I, II vkSj III fn,
x, gSaA igpku dhft, fd dkSu&lk@ls dFku ç'u dk mÙkj nsus ds
fy, i;kZIr gSaA

ç'u%

Nk=kkokl esa 189 yksx jgus ij dqy •pZ fdruk vk,xk\

dFku% Nk=kkokl ds dqy •pZ esa nks Hkkx gSa% ,d Hkkx jgus okys
yksxksa dh la[;k ds gksrk gSA  vkSj nwljk Hkkx fuf'pr gSA

I. tc blesa 150 yksx jgrs Fks] rks bldk dqy •pZ 79]500 #i;s FkkA

II. tc blesa 240 yksx jgrs Fks] rks bldk dqy •pZ 1]15]500
#i;s FkkA

III. tc blesa 200 yksx jgrs Fks] rks bldk dqy •pZ 99]000 #i;s FkkA

IB ACIO GRADE II 18/01/2024 (Shift-04)

(a) I and II or I and III/I vkSj II ;k I vkSj III

(b) I and II only/dsoy I vkSj II

(c) I, II and III/I, II dsoy III

(d) I only/dsoy I

14. When 860, 1712 and 3203 are divided by a two-digit

number x, then the remainder in each case is y. If

(2x + y) is written as p × q × r2, where p, q and r are

prime numbers, then what is the value of  (p + q + r)?

tc 860] 1712 vkSj 3203 dks nks vadksa dh la[;k x ls Hkkx
fn;k tkrk gS] rks çR;sd fLFkfr esa 'ks"kiQy y vkrk gSA ;fn (2x

+ y) dks p × q × r2 ds :i esa fy•k tkrk gS] tgk¡ p, q vkSj r

vHkkT; la[;k,a gSa] rks (p + q + r) dk eku fdruk gksxk\

IB ACIO GRADE II 18/01/2024 (Shift-04)

(a) 12

(b) 10

(c) 16

(d) 15

15. A sum of 2600 is lent out at simple interest in two

parts. One part at at the annual rate of 18 percent

and another part at the annual rate of 25 percent. If

the total annual interest is Rs.520, then what is the

sum lent out at the rate of 25 percent per annum?

2600 #i;s dh jkf'k dks nks Hkkxksa esa lk/kj.k C;kt ij ½.k ij
fn;k x;k gSA ,d Hkkx 18 çfr'kr dh okf"kZd nj ij vkSj nwljk
Hkkx 25 çfr'kr dh okf"kZd nj ij gSA ;fn dqy okf"kZd C;kt 520
#i;s gks] rks 25 çfr'kr dh okf"kZd nj ij nh xbZ jkf'k fdruh gS\

IB ACIO GRADE II 18/01/2024 (Shift-04)

(a) Rs.742.85

(b) Rs.642.68

(c) Rs.657.66

(d) Rs.798.89

16. The sum of two numbers is 176 and their difference

is 16. What is the ratio of the two numbers?

nks la[;kvksa dk ;ksxiQy 176 gS vkSj muds chp dk varj 16 gSA
nksuksa la[;kvksa dk vuqikr fdruk gksxk\

IB ACIO GRADE II 18/01/2024 (Shift-04)

(a) 6 : 5 (b) 6 : 1

(c) 5 : 2 (d) 3 : 2

17. A person borrows some money for 2 years at a certain

rate of simple interest. If the ratio of principal and

total interest is 5:4, then what is the annual rate of

interest?

,d O;fDr ,d fuf'pr lk/kj.k C;kt nj ij 2 o"kZ ds fy, dqN
/ujkf'k ½.k ysrk gSA ;fn ewy/u vkSj dqy C;kt dk vuqikr 5 %
4 gS] rks okf"kZd C;kt nj fdruh gS\

IB ACIO GRADE II 18/01/2024 (Shift-04)

(a) 40%

(b) 48%

(c) 35%

(d) 50%

18. Pipes A and B can fill a tank in 6 hours and 15 hours,

respectively. Pipe C is a drain pipe. When all the

three pipes are opened together for 6 hours, then

65% of the tank is filled. Initially, pipes A and C are

opened together for 8 hours and then C is closed and

B is opened. Pipes A and B together will fill the

remaining part of tank in ____ hours.

ikbi A vkSj B fdlh VSad dks Øe'k% 6 ?kaVs vkSj 15 ?kaVs esa Hkj
ldrs gSaA ikbi C •kyh djus okyk ikbi gSA tc rhuksa ikbiksa dks
,d lkFk 6 ?kaVs ds fy, •ksyk tkrk gS] rks VSad dk 65» fgLlk
Hkj tkrk gSA çkjaHk esa] ikbi A vkSj C dks 8 ?kaVs ds fy, ,d lkFk
•ksyk tkrk gS vkSj fiQj C dks can dj fn;k tkrk gS vkSj B dks
•ksy fn;k tkrk gSA ikbi A vkSj B feydj VSad ds 'ks"k Hkkx dks
____ ?kaVs esa Hkj nsaxsA

IB ACIO GRADE II 18/01/2024 (Shift-04)

(a)
3

2
7

(b)
1

3
3

(c)
2

3
3

(d)
6

2
7
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19. A and B run a 5
1

2
 km race on a 500 m long circular

track starting from the same point, simultaneously,
in the same direction. The speed of A is 50% faster
than B.
Which of the following statements is/are correct?
Statement I: A and B meet for the first time after
starting the race when A covers 1200 m.

Statement II: A meets B three times during the race.

A vkSj B ,d gh fcanq ls 500 m yackbZ ds oÙ̀kkdkj VªSd ij ,d

lkFk] ,d gh fn'kk esa 5
1

2
 km dh nkSM+ ds fy, nkSM+uk 'kq: djrs

gSaA A dh pky B ls 50» rst gSA
fuEufyf•r esa ls dkSu&lk@ls dFku lgh gS@gSa\
dFku I: nkSM+ 'kq: djus ds ckn A }kjk 1200 m dh nwjh r;
djus ij A vkSj B igyh ckj feyrs gSaA
dFku II: nkSM+ ds nkSjku A, B ls rhu ckj feyrk gSA

IB ACIO GRADE II 18/01/2024 (Shift-04)

(a) II only/ dsoy II

(b) Neither I nor II/u rks I vkSj u gh II

(c) I only/ dsoy I

(d) I and II/I vkSj II

1.(c) 2.(c) 3.(d) 4.(d) 5.(c) 6.(c) 7.(c) 8.(b) 9.(d) 10.(b)

11.(c) 12.(a) 13.(a) 14.(b) 15.(a) 16.(a) 17.(a) 18.(d) 19.(a) 20.(c)

ANSWER KEY

20. In a class, the ratio of the number of boys to that of

girls is 3 : 5. The number of students who passed to

that of who failed is 7 : 3. Among boys, the number

of those who passed to those who failed is in the

ratio 2 : 1. Among girls, what is the ratio of the

number of girls who passed to those who failed?

,d d{kk esa] yM+dksa dh la[;k dk yM+fd;ksa dh la[;k ls vuqikr
3 % 5 gSA mÙkh.kZ gksus okys fo|kfFkZ;ksa dh la[;k dk vuqÙkh.kZ gksus
okys fo|kfFkZ;ksa dh la[;k ls vuqikr 7 % 3 gSA yM+dksa esa] mÙkh.kZ
gksus okys fo|kfFkZ;ksa dh la[;k dk vuqÙkh.kZ gksus okys fo|kfFkZ;ksa dh
la[;k ls vuqikr 2 % 1 gSA yM+fd;ksa esa] mÙkh.kZ gksus okys fo|kfFkZ;ksa
dh la[;k dk vuqÙkh.kZ gksus okys fo|kfFkZ;ksa dh la[;k ls vuqikr
fdruk gS\

IB ACIO GRADE II 18/01/2024 (Shift-04)

(a) 15 : 8

(b) 9 : 4

(c) 18 : 7

(d) 12 : 5
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SOLUTIONSSOLUTIONS
1. (c)

ATQ,

A1 A2

20 1
Diff

% decrease = 
19

20
 × 100 = 95%

2. (c)

Given,

72 – (25 5) 2

6 5 1

 

 

72 – (5) 2 72 –10

30 1 31







= 
62

31
 = 2

3. (d)

Given,

Bala Lalit Vimal

1
103 : 1 :

 11

33 : 11 : 10



\ Avg amount = 
33 11 10

3

 

= 
54

3
 = 18 unit

ATQ,

   18 unit  Rs. 1350

\ 33 unit  
1350

33
18



    = Rs. 2475

According to ratio amount 
of Bala must be multiple of
11. only option (d) is multiple 
of 11.

4. (d)

Given,

Alcohol Water

A 3 : 5

B 5 : 7





\ Obtained solution 

Alcohol Water

3 5 5 7
2 5 3 2 5

8 12 8 12

18 50 30 70
:3

24 24 24 24

140 : 100

7 : 5







   
            

   
        

Let x ml Alcohol is mixed in new solution

7
1.5

212
5 11.5

12

x 




10.5 12
2

7.5




x

\ x = 
4.5 4.5

1000m
12 12

 l l

= 375 ml

5. (c)

Statement (I) If a number is divisible by 53.

Then the number will be divisible. by 5 × 5 × 5 = 125

Statement (II) If a number is divisible by two different

numbers Then it is not necessary that number will

be divisible by Its product. So statement (II) is not

Completely True.

Statement (III) If a number is divisible by 4, 6, 12, The

no. will be divisible by Its LCM which is 24.

So Statement (III) is not correct.

Thus only Statement (I) is Correct

6. (c)

Motor Bike Car

25 100

35 75

Old Price

New Price



 :

:

40% 25%

Statement (I) % decrease in cost

= 
40

75
 × 100 = 

1
53 %

3
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So the given statement is correct

Statement (II) Total old cost

= 2 × 25 + 100 = 150

Total new cost = 2 × 35 + 75 = 145

\ % Increase in cost = 
5

150
 × 100 = 

1
3 %

3

Hence, the given Statement is incorrect

7. (c)

Given,

No. of person Average

13 55 yrs.

\ Total deviation = 11 × 1 = 11yrs.

\ Change in Avg. age of 2 persons = 
11

2
 = 5.5 yrs.

Thus avg. age of 2 persons

= (55 – 5.5) yrs = 49.5 yrs.

8. (b)

Given,

x + y + z = 10 & x² + y² + z² = 80

 (x + y + z)² = x² + y² + z² + 2(xy + yz + zx)

 10² = 80 + 2(xy + yz + zx)

 2(xy + yz + zx) = 100 – 80 = 20

\4(xy + yz + zx) = 2 × 20 = 40

SMART APPROACH:- 
Let, z = 0
Given that,
 + y = 10,  + y  = 80

then,
(  + y)  =  + y  + 2 y
100 – 80 = 2 y
2 y = 20
4 y = 40 

x x

x x
x

x

2 2

2 2 2
x

x

9. (d)

Given,

9x + 6y = 11 & 7x + ky = 9

for no solution,

9 6 11

7 K 9
 

\ K = 
14

3

Hence, assertion is correct

Reason: ax + by = c ....... (I)

        dx + ey = f ........ (II)

There equations have no solution,  if 
a b c

d e f
 

Thus, Both A and R are true and R is a correct

explanation of A

10. (b)

We know,

D

C

Speed of C t

Speed of D t


 
60km/h 3h45min

Speedof D 4h16min


 

3
360km/h 4

16Speedof D 4
60






 
60km/h 15 60 15

Speedof D 4 256 16
  

\Speed of D = 
60 16

15


 = 64 km/h

11. (c)

Given,

SP CP

125 100

Rs. 1000 Rs.800:

:

×8

ATQ,

1000 × 
9 9

10 10
  = x

 x = Rs. 810

12. (a)

SP CP

4×3 5×3

Rs. 200 

Rs.3000×100

:

Loss = 2

4×5 3×5:

(12+20) (15+15):Total 

32 30:
diff.



\

[SP in same]

×100
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13. (a)

Let fixed expense is a, variable expence for hostel is

b and number of occupants is x

E = a + bx

Statement (I) a + 150x = 79500

Statement (II) a + 240x = 115500

Statement (III) a + 200x = 99000

For the value of a and c we can two of the three

Statement.

Hence for the Ans I and II or I and III are Suffi correct.

14. (b)

860 1712 3203
diff. diff.

1491852

diff.

639

9 71×

71 860 12

71

150

142

8

\ x = 71

\ y = 8

\ 2x + y = 2 × 71 + 8 = 150

\ p + q + r² = 2 × 3 × 5²

\ p + q + r = 2 + 3 + 5 = 10

15. (a)

Equivalent rate% = 
520

2600
 × 100 = 20%

18% 25%

5 2

20%

\ 7 unit = Rs. 2600

2 unit  = 
2600

7
 × 2 = Rs.742.85

16. (a)

Let the no are x and y

ATQ,

x + y = 176

x – y = 16

\ x = 
176 16

2


 = 96

 y = 
176 –16

2
 = 80

\ x : y = 96 : 80 = 6 : 5

17. (a)

Given,

P SI

5 : 4

\ SI for 1 yrs = 
4

2
 = 2

\ Rate of interest = 
2

5
× 100 = 40%

18. (d)

A     6 10

B    15 4

60

Time Effi.





Eff of (A + B – C) = 
60 .65

6


= 6.5

\ Effi. of C = 14 – 6.5 = 7.5

ATQ,

Work done by A and C = (10 – 7.5) × 8 = 20

Remaining work = 60 – 20 = 40

(A + B) will complete the remaining work = 
40

hrs
10 4

= 
40

14
 = 

20

7
 = 

6
2

7
hrs

19. (a)

Given,

\ Time taken in meeting first time = 
500m

3 – 2x x

Stat I-

Distance travelled by A to meet first time = 
500

x
 × 3x

= 1500m

Hence, statement I is incorrect

Stat II-

Since A and B will meet after travelling 1500 m. So

after each 1500 m they will meet.

A will meet B = 
5500

1500
 = 3 times

Statement II is incorrect
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20. (c)

Given,

Boys girls

30x 50x

\ Total pass = 80x × 
7

10
 = 56x

Total Fail = 80x × 
3

10
 = 24x

Boys = 30x

Pass Fail

Girls = 50x

Pass Fail

36x 14

Ratio

24 –10x x

x

(56x–20  )20x 10x x

= 36  : 14x x

18 : 7

SMART APPROACH:-
50  should be divisible
by Sum of Ratio option
(c)18 + 7 = 25 
25 Completely divides
50 . be option c is
Correct Ans.

x

x
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